1.1

Employability Skills Unit -1

UNIT -1

[QUANTITATIVE APTITUDE - I

H.C.F. and L.C.M. of Numbers - Average - Percentage - Profit and
Loss - Ratio and Proportion - Time and Work - Time and Distance -
Train Speed.

LCM & HCF of Numbers

Important Facts

1. Factors and Multiples:

o If number a divides another number b exactly, we say that
ais a factor of b.

e In this case, bis called a multiple of a.

e If the only factors of a number m>2 are 1 and the
number m itself, then m is called a prime number
otherwise m is a composite number. Prime numbers
between 1 and 100 are 2, 3, 5, 7, 11, 13, 17, 19, 23, 29,
31, 37,41, 43, 47, 53, 59, 61, 67,71, 73, 79, 83, 89, 97.

2. Highest Common Factor (H.C.F.) or Greatest Common

Measure (G.C.M.) or Greatest Common Divisor (G.C.D.):

The H.C.F. of two or more than two numbers is the greatest

number that divides each of them exactly. There are two

methods of finding the H.C.F. of a given set of numbers:

I. Factorization Method: Express the each one of the given

numbers as the product of prime factors. The product of least

powers of common prime factors gives H.C.F.
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II. Division Method: Suppose we have to find the H.C.F. of
two given numbers, divide the larger by the smaller one. Now,
divide the divisor by the remainder. Repeat the process of
dividing the preceding number by the remainder last obtained
till zero is obtained as remainder. The last divisor is required
H.C.F.

Finding the H.C.F. of more than two numbers:

Suppose we have to find the H.C.F. of three numbers, then,
H.C.F. of [(H.C.F. of any two) and (the third number)] gives
the H.C.F. of three given number. Similarly, the H.C.F. of
more than three numbers may be obtained.

For example, HCF of 126, 162 and 180= H.C.F of (H.C.F of
126, 162) and 180

H.C.F of 126, 162 =18 H.C.F of
18, 180 =18

Long Division method

126 162 1
126 /
36 126 | 3 H.C.F
108
36 2
H.CF 36
0
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Therefore, H.C.F. of 126, 162 and 180 = H.C.F. of 18 and 180
=18

Remark:

Find the greatest number that will divide a, b and c so as to
leave the same remainder in each case.

Formula : H.C.Fof (a—Db) (b —c) (c—a) (here greater value -
Smaller value)

3. Least Common Multiple (L.C.M.):

The least number which is exactly divisible by each one of the
given numbers is called their L.C.M.

There are two methods of finding the L.C.M. of a given set of
numbers:

I. Factorization Method: Resolve each one of the given
numbers into a product of prime factors. Then, L.C.M. is the
product of highest powers of all the factors.

II. Division Method (short-cut): Arrange the given numbers
in a row in any order.

Divide by a number which divided exactly at least two of the
given numbers and carry forward the numbers which are not
divisible. Repeat the above process till no two of the numbers
are divisible by the same number except 1. The product of the
divisors and the undivided numbers is the required L.C.M. of
the given numbers.

4. Product of two numbers = Product of their H.C.F. and
L.C.M.

5. Co-primes: Two numbers are said to be co-primes if their

H.C.F.is 1.
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6. H.C.F. and L.C.M. of Decimal Fractions:
In a given numbers, make the same number of decimal places
by annexing =zeros in some numbers, if necessary.
Considering these numbers without decimal point, find
H.C.F. or L.C.M. as the case may be. Now, in the result, mark
off as many decimal places as are there in each of the given
numbers.
7. Comparison of Fractions:
Find the L.C.M. of the denominators of the given fractions.
Convert each of the fractions into an equivalent fraction with
L.C.M as the denominator, by multiplying both the numerator
and denominator by the same number. The resultant fraction
with the greatest numerator is the greatest.

Solved Problems
Example 1
Find the H.C.F. of 108, 288 and 360.
Solution:
108 = 22 x 33,288 = 2° x 3% and 360 = 23 x 5 x 32
~ H.C.F. = 22 x 32 = 36.

Example 2
Find the L.C.M. of 16, 24, 36 and 54.
Solution:

2116 - 24 - 36 - 54

2|18 - 12 - 18 - 27

24 -6 -9 - 27

3(]2 -3 -9 - 27

3;j]2 -1 -3 -9
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2 -1 -1 -3
~LCM. =2X2X2X3X3X2xX3=432.
Example 3
Find the greatest number that will divide 43, 91 and 183 so
as to leave the same remainder in each case.
Solution:
Required number = H.C.F. of (91 — 43),(183 — 91)&(183 — 43) =
H.C.F. of 48,92 and 140

=4,

Example 4
Six bells commence tolling together and toll at intervals of 2,
4, 6, 8 10 and 12 seconds respectively. In 30 minutes, how
many times do they toll together?
Solution:
L.C.M. of 2, 4, 6, 8, 10, 12 is 120
So, the bells will toll together after every 120 seconds (2

minutes). In 30 minutes, they will toll together = 32—0+ 1=16

times (as all the bells commence tolling together at the
beginning, we have to include +1 to the count).

Example 5

Let N be the greatest number that will divide 1305, 4665 and
6905, leaving the same remainder in each case. Then find the
sum of the digits in N.

Solution:

N = H.C.F. of (4665 - 1305), (6905 - 4665) and (6905 - 1305)

= H.C.F. of 3360, 2240 and 5600 = 1120.

Sum of digitsinN=(1+1+2+0)=4
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Example 6

Find the greatest number of four digits which is divisible by
15, 25, 40 and 75.

Solution:

Greatest number of 4-digits is 9999. L.C.M. of 15, 25, 40 and
75 is 600.

On dividing 9999 by 600, the remainder is 399. Required
number (9999 - 399) = 9600.

Example 7

The product of two numbers is 4107. If the H.C.F. of these
numbers is 37, then the greater number is:

Solution:

Let the numbers be 37a and 37b.

Then, 37ax37b=4107 =ab=3.

Now, co-primes with product 3 are (1,3).

So, the required numbers are (37x1,37x3) i.e., (37,111).

~ Greater number =111.

Example 8

The product of two numbers is 2028 and their H.C.F. is 13.
The number of such pairs is:

Solution:

Let the numbers 13a and 13b.

Then, 13ax13b=2028

=>ab=12.

Now, the co-primes with product 12 are (1,12) and (3,4).

[Note: Two integers a and b are said to be co-prime or relatively

prime of they have no common positive factor other than 1 or,
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equivalently, if their greatest common divisor is 1]

So, the required numbers are (13%1,13%x12) and (13%x3,13x4).
Clearly, there are 2 such pairs.

Example 9

The least multiple of 7, which leaves a remainder of 4, when
divided by 6, 9, 15 and 18 is:

Solution:

L.C.M. of 6, 9, 15 and 18 is 90.

Let required number be 90k + 4, which is multiple of 7.
Least value of k for which (90k + 4) is divisible by 7 is k = 4.
Required number = (90 x 4) + 4 = 364.

Example 10

Find the lowest common multiple of 24, 36 and 40.
Solution:

24 =2 x2x2x3,

36 =2x2x3x3,

40=2x2x2x5

LCM (24, 36,40) =2 x2x2x3x 3 x5=360

Example 11

The least number which should be added to 2497 so that the
sum is exactly divisible by 5, 6, 4 and 3 is:

Solution:

L.C.M. of 5, 6, 4 and 3 = 60.

On dividing 2497 by 60, the remainder is 37. Number to be
added = (60 - 37) = 23.
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Example 12

What will be the least number which when doubled will be

exactly divisible by 12, 18, 21 and 30?

Solution:

The least number which is exactly divisible by 12, 18,21, 90

will be LCM of 12,18,21, 90.

So our required answer will be half of LCM

LCM (12,18,21,90)

So our required answer will be half of LCM 1260 = 630
Exercise

1. If the HCF of two numbers is 27, and their sum is 216,

find these numbers.

a) 27,189 b) 154, 162 ¢) 108, 108 d) 81, 189

2. Two numbers are in the ratio of 15:11. If the HCF of

numbers is 13, find the numbers.

a) 75,55 b) 105, 77 ¢) 15, 11 d) 195, 143

3. Find the greatest integer that divides 358, 376, and 334

and leaves the same remainder in each case.

a) 6 b) 7 c) 8 d)9

4. Three bells toll at intervals of 36 sec, 40 sec, and 48 sec

respectively. They start singing together at a particular time.

When will they toll next together?

a) 6 mins b) 12 mins c) 18 mins d) 24 mins

5. The LCM of two numbers is 8000, and their HCF is 10. If

one of these numbers is 320, what is the other number?

a) 279 b) 283 c) 250 d) 318
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6. Find the HCF of 210, 385, and 735.

a)7 b) 14 c) 21 d) 35

7. The LCM of two numbers is 8919, and their sum is 1000.
The two numbers are:

a) 993, 7 b) 989, 11 c) 991, 9 d) 987, 13

8. If the LCM of two numbers is 70 and their HCF is 2, find
the numbers.

a) 2, 35 b) 6, 70 c) 4,70 d) 14, 10

9. The least number which when divided by 2, 3, 4, 5 and 6
leaves the same remainder 1 in each case. If the same
number is divided by 7, it leaves no remainder. Find the
number

a) 231 b) 301 c) 371 d) 441

10. Which is the greatest three-digit number which when
divided by 6, 9 and 12 leaves a remainder of 3 in each case?
a) 975 b) 996 c) 939 d) 903

11. There are two numbers. HCF of both the numbers is 11,
and their LCM is 693. If the first number is 77, find the
second number?

a) 89 b) 56 c) 78 d) 99

12. What is the number nearest to 10000 which is exactly
divisible by 3, 4, 5, 6, 7, and 8?

a) 9956 b) 10080 c) 10096 d) 9924

13. Find the largest four-digit number exactly divisible by
15,21 and 28.

a) 9927 b) 9080 c) 9660 d) 9924
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14. Two numbers are in the ratio 2:3. If the product of their
LCM and HCF is 294, find the numbers.

a) 14, 21 b) 5, 6 c) 32, 24 d) 23, 25

15. The greatest possible length which can be used to
measure exactly the lengths 7 m, 3 m 85 cm, 12 m 95 cm is:
a) 15 cm b) 25 cm c) 35 cm d) 42 cm

16. Three numbers which are co-prime to each other are such
that the product of the first two is 551 and that of the last

two is 1073. The sum of the three numbers is:

a) 75 b) 81 c) 85 d) 89
17. Which of the following has the most number of divisors?
a) 99 b) 101 c) 176 d) 189

Answer Key
)a 2)d 3)a 4b 5c 6d T7)c 8d 9b 10)a

11)d 12)b 13)c 14)a 15 c 16)c 17)c

1.2 Profit and Loss
Important Facts

Cost price (C.P) is that price at which a particular article is
bought. Selling price (S.P) is that price at which a particular

article is sold.

Profit = S.P - C.P Loss=C.P-S.P
Profit Loss
Profit % = —— x 100 Loss % = ———— x
Cost price Cost price
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Solved Problems
Example 1
A man buys an article for Rs. 27.50 and sells it for Rs. 28.60.
find his gain percent.
Solution: C.P = Rs. 27.50, S.P. = Rs. 28.60
So, Gain = Rs. (28.60 - 27.50) = Rs. 1.10

1.10

+ Gain % = (3= x 100) % = 4%.
Example 2

Find C.P., when

(i) S.P = Rs. 40.60, Gain = 16%
(ii) S.P =Rs. 51.70, Loss = 12%

100

Solution: (i) C.P. = Rs. (17¢ X 40.60) = Rs. 35

100

(ii) C.P. = Rs. (5 x 51.70) = Rs.58.75.

Example 3
When a producer allows 36% commission on the retail price
of his product, he earns a profit of 8.8%. what would be his
profit percent if the commission is reduced by 24% ?
Solution: Let retail price = Rs. 100. Then, commission = Rs.
36.
~ S.P. = Rs. (100 - 36) = Rs. 64.

But, profit = 8.8%.

~ C.P. = Rs. (ﬂ x 64) = Rs. 2290
108.8 17

New commission = Rs. 12. New S.P. = Rs.(100 -12) = Rs. 88.

Gain = Rs. (88 _M) — Rs, 296

17 17"

- Gain % = (4% x 7 x 100) % = 49.6%.

17 1000
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Exercise

1. A gold bracelet is sold for Rs.14,500 at a loss of 20%. What
is the cost price of the gold bracelet?

a) 18525 b) 18000 c) 18125 d) 10500

2. A gold bracelet is sold for Rs.27,000 at a loss of 10%. What
is the cost price of the gold bracelet?

a) 24000 b) 30000 c) 28125 d) 20500

3. Meena bought a watch with 25% discount on the selling
price. If the watch cost her Rs.1,545, What is the original
selling price of the watch?

a) 260 b) 2060 c) 2600 d) 1500

4. Veena bought a watch with 15% discount on the selling
price. If the watch cost her Rs.34000, What is the original
selling price of the watch?

a) 40000 b) 46000 c) 36000 d) 45000

5. Selling price of 12 fruits is equal to the cost price of 16
fruits. What is the profit percentage?

a) 30 b) 33.33 c) 25 d) 20

6. Selling price of 10 fruits is equal to the cost price of 14
fruits. What is the profit percentage?

a) 42 b) 33.33 c) 44 d) 40

7. Selling price of 15 fruits is equal to the cost price of 18
fruits. What is the profit percentage?

a) 32 b) 33.33 c) 20 d) 35
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8. A shopkeeper sells two radios, each for Rs.2 000. If he
gains 12% on one and suffers a loss of 12% on the other,
what is his overall gain or loss?

a) No gain No loss b) 1.44% Gain

c) 1.44% Loss d) 1% Gain

9. A shopkeeper sells two radios, each for Rs.5,000. If he
gains 10% on one and suffers a loss of 10% on the other,
what is his overall gain or loss?

a) No gain No loss b) 1.44% Gain

c) 1% Loss d) 1% Gain

10. A shopkeeper sells two radios, each for Rs.10,000. If he
gains 20% on one and suffers a loss of 20% on the other,
what is his overall gain or loss?

a) No gain No loss b) 2% Gain  c) 4% Gain d)4% Loss
11. A wholesaler sells a chair for 15% profit. If he sells the
same for Rs.6 less, his profit will be 10%. Find the cost price
of the chair.

a) 120 b) 150 c) 600 d) 160

12. A wholesaler sells a chair for 14% profit. If he sells the
same for Rs.8 less, his profit will be 9%. Find the cost price of
the chair.

a) 140 b) 150 c) 130 d) 160

13. A retailer sells a box and suffers 15% loss. If he had sold
it for Rs.36 more, he would have earned a profit of 10%. What
was the cost price?

a) 145 b) 148 c) 138 d) 144
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14. A retailer sells a box and suffers 12% loss. If he had sold
it for Rs.34 more, he would have earned a profit of 13%. What
was the cost price?

a) 136 b) 138 c) 135 d) 134

15. A retailer sells a box and suffers 10% loss. If he had sold
it for Rs.30 more, he would have earned a profit of 15%. What
was the cost price?

a) 130 b) 120 c) 150 d) 140

16. A retailer sells goods for Rs.900 and gains 12.5 %. If he
wants a profit of 15%, for what price should he sell the
goods?

a) 450 b) 480 c) 920 d) 980

17. A retailer sells goods for Rs.9900 and gains 10%. If he
wants a profit of 20%, for what price should he sell the
goods?

a) 10800 b) 14800 c) 9000 d) 9800

18. If by selling for Rs.72, there is a loss of 10%. For how
much should the article be sold to have a profit of 15%?

a) 46 b) 92 c) 192 d) 167

19. If by selling for Rs.4000, there is a loss of 20%. For how
much should the article be sold to have a profit of 20%?

a) 4000 b) 7000 c) 5000 d) 6000
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Solutions and Answers
1 Cost = Rs.100 Loss = Rs. 20 SP = Rs. 80
Cost = (100/80) x 14500 = Rs. 18,125

Answer: c) 18125

2 Answer: b) 30000
3 Selling price = Rs. 100 Discount = Rs. 25 Cost = Rs.
75

(100 / 75) x 1545 = Rs. 2,060
Answer: b) 2060

4 Answer: a) 40000

S C-S 16 — 12
x 100 = 17 x100 = 33.33 %

Answer: b) 33.33 %

6 Answer: d) 40
7 Answer: c) 20
8 __ (Gain % or Loss %)?

Percentage of loss = 00

2
Percentage of loss = %= 1.44% loss (ALWAYS LOSS)
Answer: c) 1.44% loss
9 Answer: c) 1% Loss

10 Answer: d) 4% Loss

11 Difference in profit = 15 - 10
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12

13

14

15

16

17

18

19

= 5% (when both are profits)
5% =6

6
Therefore cost = T X 100 = Rs.120

Answer: a) 120

Answer: d) 160

Difference in profit = 15 + 10
= 25% (when one is profit & another is loss)
25% = 36

Therefore cost = % x 100 = Rs. 144

Answer: d) 144

Answer: a) 136

Answer: b) 120

100 + 15 115
———— =900 x —— =920
100 +12.5 112.5

900 x
Answer: c) 920

Answer: a) 10800

100 + 15 115
=72 x —=92
100- 10 90

Answer: b) 92

72 x

Answer: d) 6000
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1.3 Ratio and Proportion

Important Facts and Formulae

1. RATIO: The ratio of two quantities a and b (# 0) in the
same units, is the fraction a/b and we write itas a: b. In
the ratio a: b, we call a as the first term or antecedent and b,

the second term or consequent.
Ex. The ratio 5: 9 represents g with antecedent = 5,

consequent = 9.

Rule: The multiplication or division of each term of a ratio by
the same non-zero number does not affect the ratio.
Ex,4:5=28:10 = 12: 15 etc. Also, 4: 6 = 2: 3.

2. PROPORTION: The equality of two ratios is called
proportion. If a: b = c: d, we write, a: b::e: d and we say that a,
b, c, d are in proportion Here a and d are called extremes,
while b c are called mean terms. Product of means = Product
of extremes.

Thus, a:b::c:d © (bX ¢) = (a X d).

3. (i) Fourth Proportional: If a: b = c:d, then d is called the
fourth proportional to a, b, c.

(ii) Third Proportional: If a: b = b: ¢, then c is called the third
proportional to a and b.

(iii) Mean Proportional: Mean proportional between a and b
is Vab.

4. (i) COMPARISON OF RATIOS:

We say that (a:b) > (c:d) & 2> ie, (a:b) > (c:d) & ad >

bc
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(ii) COMPOUNDED RATIO:

The compounded ratio of the ratios (a: b), (e:d), (e: f) is
(ace: bdf).

5. (i) Duplicate ratio of (a: b) is (a?: b?).

(ii) Sub-duplicate ratio of (a: b) is (va : Vb)

(iii) Triplicate ratio of (a: b) is (a3: b3).

(iv) Sub-triplicate ratio of (a: b) is (a% : bi)

(v) If,% = 2, then % = % (componendo and dividendo)
6. VARIATION:

(i) We say that x is directly proportional to y, if x = ky for
some constant k and we write, x < y.

(ii) We say that x is inversely proportional to y, if xy = k for

. 1
some constant k and we write, x « S

Solved Problems

ExlIfaab=59andb:c=4:7,finda:b:c.

Solution: a: b=5:9 and b : c = 4.7 =(4 X %) : (7 X %) = 9:64—3

> a:bic = 5:9:2 = 20:36: 63
Ex. 2. Find (i) the fourth proportional to 4, 9, 12,
(ii) the third proportional to 16 and 36,

(iii) the mean proportional between 0.08 and 0.18.

Solution: Let the fourth proportional to 4, 9, 12 be x

_9x12

Then, 4:9:12:x ©4Xx=9X 12 x = ’ =27

Fourth proportional to 4, 9, 12 is 27.
(ii) Let the third proportional to 16 and 36 be x
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Then, 16:36 ::36 : x © 16 X x = 36x36(:>x=36:636 =81

Third proportional to 16 and 36 is 81.
(iii) Mean proportional between 0.08 and 0.18

=+0.08x0.18 = ixﬁ—\/i—izo.m.

100 7 100~ /100x100 100

Ex. 3 If x: y = 3: 4, find (4x+5y): (5x-2y).

S X 3 4x+5y _ 4(§)+5 _ (4X%+5) _(3+5) _ 32
Solution: 31 ey 5@_2 = (s><§—2) = (7) =

4
Ex. 4. Divide Rs. 672 in the ratio 5: 3.

Solution: Sum of ratio terms (5 + 3) = 8.

First part = Rs. (672 X %) = Rs. 420;

Second part Rs. (672 X %) = Rs. 252.

Ex. 5. Divide Rs. 1162 among A, B, C in the ratio 35:28:20.
Solution: Sum of ratio terms = (35+28+ 20) = 83.

A's share Rs. (1162 X E) = Rs. 490 ;
83
B's share= Rs. (1162 X E) = Rs. 392;
83

C's share= Rs. (1162 X 2) = Rs. 280.

83
Ex. 6. A bag contains 50 p, 25 p and 10 p coins in the ratio
5:9: 4, amounting to 206. Find the number of coins of each

type.
Solution: Let the number of 50 p, 25 p and 10 p coins be 3x,

9x and 4x respectively

Then,
L =206
2 4 10

< 50x + 45x + 8x = 4120
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© 103x = 4120 © x = 40.
~Number of 50 p coins = (5 x 40) = 200;
Number of 25 p coins= (9 X 40) = 360;
Number of 10 p coins = (4 X 40) = 160.
Ex. 7. A mixture contains alcohol and water in the ratio 4: 3.
If 5 litres of water is added to the mixture, the ratio becomes
4: 5. Find the quantity of alcohol in the given mixture.
Solution: Let the quantity of alcohol and water be 4x litres
and 3x litres respectively.

4x i

Then =-©20x =4(3x+5) © 8x =20 x = 25.
3x+5 5

~Quantity of alcohol = (4 x 2.5) litres = 10 litres.

Exercise :

1. Find x in the proportion 2: x = 3: 9.

a) 6 b) 2 c) 10 d)9

2. In a college, the ratio of the number of boys to girls is 8 : 5.
If there are 160 girls, find the total number of students in the
college.

a) 300 b) 250 c) 180 d) 416

3. A dog takes 3 leaps for every 5 leaps of a hare. If one leap
of the dog is equal to 3 leaps of the hare, what is the ratio of
the speed of the dog to that of the hare?

a) 9:5 b) 2:5 c) 5:9 d) 2:8

4. A and B joined a partnership business by investing
Rs.30000 and Rs.50000 respectively. If they earn a profit of
Rs. 4000, find A’s share in the profit.

a) 300 b) 2500 c) 1500 d) 2800
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S. In a partnership, A kept his capital of Rs.50000 for one
year and B contributed Rs.40000 for a period of 8 months.
Find their profit sharing ratio.
a) 3:4 b) 15:8 c) 4:5 d) 1:2
6. A profit of Rs. 30000 is to be distributed among A, B, C in
the proportion 3:5: 7. What will be the difference between B’s
and C’s shares?.
a) 3000 b) 2500 c) 1000 d) 4000
7. Two numbers are respectively 20% and 50% more than a
third number. Find the ratio of the first two numbers.
a) 3:5 b) 5:4 c) 4:5 d) 2:3
8. A sum of money is to be distributed among A, B, C, D in
the proportion of 5: 2 : 4 : 3. If C gets Rs. 1000 more than D,
what is B's share?
a) 3000 b) 2800 c) 1700 d) 2000
9. In a mixture of 60 litres, the ratio of milk and water 2:1. If
this ratio is to be 1:2, how much quantity of water is to be
further added?
a) 60 b) 25 c) 80 d) 28

Solutions and Answers
1. 2/x=3/9 3x=18;x=6
2. (160 /5)x13= 416
3. Dog : Hare = (3*3) leaps of hare : 5 leaps of hare = 9 : 5.

4. A:B =30000:50000 =3:5
A’s share = 4000 x (3 / 8) = Rs.1500
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5. A=50000x 12 =6 00 000
B =40000x 8 =320 000
Ratio = 6 00 000:320 000 = 15:8

6. (30000 / 15)x 2 = Rs. 4000

7. Let the third No = x
First No = (120 /100) x = (6/5)x
Second No = (150 /100) x = (3/2)x
Ratio = (6/5) : (3/2) = 12:15 =4:5

8. C gets 1 share more than D. This 1 share = 1000
B’s share = 2 share = Rs.2000

9. Quantity of milk =(60x2/3) litres = 40 litres.
Quantity of water in it =(60-40) litres = 20 litres.
New ratio =1:2
Let quantity of water to be added further be x litres.
Then, milk: water = (40 / 20+x)
Now, (40 /20+x) =1/ 2
= 20+x=80
= x= 60
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1.4 Time and Work

Important Formula

e Work Done = Time Taken x Rate of Work.
e Rate of Work = 1 / Time Taken.
e Time Taken = 1 / Rate of Work.

o If a piece of work is done in x number of days, then the

work done in one day = 1/x.
e Total Wok Done = Number of Days x Efficiency.

o Efficiency and Time are inversely proportional to each

other.
Solved Problems
Example 1

A can do a bit of work in 8 days, which B alone can do in 10

days. In how long both cooperating can do it?

Solution: A's 1 day work= %, B’s 1 day work = %

~ (A+B) 1 day work = (é + %) = %
Both cooperating can complete it in 40/9 days.

Example 2

A can do a bit of work in 25 days which B can complete in 20
days. Both together labor for 5 days and afterward A leaves

off. How long will B take to complete the remaining work?

Solution: (A+B)'s 5 days work = 5 (% + 1) = (5 X i) =2

20 100 20

Remaining work = (1 - %) = %

23 V.H.N.Senthikumara Nadar College (Autonomous), Virudhunagar



Employability Skills Unit -1

% work is finished by B in 1 day

;—(1) work is finished by B in (1 X 20 X %) =11 days

Example 3

A can do a bit of work in 10 days while B alone can do it in 15
days. They cooperate for 5 days and whatever remains of the
work is finished by C in 2 days. On the off chance that they
get Rs. 4500 for the entire work, by what means if they

partition the cash?

Solution: (A+B)'s 5 days work =5 (% + %) = (5 X é) = Z

. _(1_5)_1
Remaining work = (1 6) =
C's 2 days work = %

(A's 5 day work): (B's 5 day work): (C's 2 days work)

5 .

0
=15:10:5 = 3:2:1

-
Gl
ok

A's offer = (4500 x %) = Rs. 2250
B's offer = (4500 x %) = Rs. 1500
C's share= (4500 X %) =Rs. 750
Exercise:

1. A can do a piece of work in 20 days. B can do the same
work in 30 days. In how many days, both working together
will finish the job?

a) 12 b) 25 c) 15 d) 18
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2. A can do a piece of work in 18 days. B can do the same
work in 36 days. In how many days, both working together
will finish the job?

a) 11.50 b)12 c) 15.50 d) 18.50

3. A can do a piece of work in 15 days. B can do the same
work in 30 days. In how many days, both working together
will finish the job?

a) 10 b) 12 c) 15 d) 18

4. A and B working together can do a piece of work in 12 days
whereas B alone can do it in 18 days. How many days will A
alone take to do the work?

a) 30 b) 36 c) 17 d) 20

5. A and B working together can do a piece of work in 8 days
whereas B alone can do it in 12 days. How many days will A
alone take to do the work?

a) 30 b) 36 c) 24 d) 20

6. A and B working together can do a piece of work in 16 days
whereas B alone can do it in 24 days. How many days will A
alone take to do the work?

a) 30 b) 38 c) 48 d) 20

7. A tap can fill a tank in 15 minutes while another tap can
empty it in 20 minutes. If both the taps are opened
simultaneously, when will the tank be full?

a) 30 b) 60 c) 45 d) 20

8. A tap can fill a tank in 10 minutes while another tap can
empty it in 20 minutes. If both the taps are opened
simultaneously, when will the tank be full?

a) 30 b) 20 c) 25 d) 15
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9. A tap can fill a tank in 20 minutes while another tap can
empty it in 30 minutes. If both the taps are opened
simultaneously, when will the tank be full?

a) 30 b) 40 c) 50 d) 60

10. 12 men can do a piece of work in 15 days. How many men
are required to complete the work in 10 days?

a) 18 b) 36 c) 26 d) 20

11. 15 men can do a piece of work in 14 days. How many men
are required to complete the work in 6 days?

a) 30 b) 35 c) 25 d) 20

12. 26 men can do a piece of work in 18 days. How many men
are required to complete the work in 12 days?

a) 39 b) 35 c) 25 d) 29

Solutions and Answers

1.
Days = ﬁ =M =12 days
A+B  20+30

2. Answer: b) 12 days

3. Answer: a) 10 days

4. _ (individual x combined) 18 x 12 _
Days = ~——— : = = 36 days
(individual - combined) 18-12
S. Answer: c) 24
6. Answer: c) 48
- . : .
Time= time to empty x time to fill _ 20 x 15 _ 60 minutes

time to empty - time to fill ©20-15
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8. Answer: b) 20

9. Answer: d) 60

10. Days decrease. So more men required. Inverse.
12x (15 / 10) =18

11. Answer: b) 35

12. Answer: a) 39

1.5Time and Distance

Important Formula

Understanding the relationship between speed, time, and

distance is essential to solve problems.

Speed, Time, and Distance

e Speed = Distance/Time

The speed of an object describes how fast or slow it moves

and is calculated as distance divided by time. Speed

is directly proportional to distance and inversely

proportional to time.

o Distance = Speed X Time

The distance an object travels is directly proportional to its

speed — the faster it moves, the greater the distance covered.

e Time = Distance / Speed

Time is inversely proportional to speed — the faster an object

moves, the less time it takes to cover a certain distance.

As speed increases, time taken decreases, and Vice Versa

e Average Speed= Total Distance Travelled /Total Time
Taken
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¢ Relative Speed = X+Y

Li+L,
x+y

Time Taken=

Here L; And L, Are Lengths Of Trains
e Relative Speed=X-Y

. L{+L
Time Taken= —+—2

Here L; And L, Are Lengths Of Trains
Solved Problems

Example 1

The distance between two stations is 540 km. A train takes 3

hours to cover this distance. Calculate the speed of the train

in km/hr and m/s.

Sol: Speed = Distance/Time = 540/3x180 km/hr.

To convert speed into m/s we need to multiply 180 by %.

So required speed = 180 X % = 50>

s .

Example 2

A cyclist travels at 10 km/hr for 2 hours and then at 13

km/hr for 1 hour. Find his average speed.

Sol: Distance travelled in first 2 hours =10 x 2 = 20 km.

Distance travelled in next 1 hour =13 x 1 = 13 km.

Total Distance travelled = 20 + 13 = 33 km.
Total time taken =2 + 1 = 3 hrs.

Total Distance Travelled 33 km
Average Speed = : =—=11—.
Total Time Taken 3 hr
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Example 3
A motorist travels one hour at an average speed of 45 kmph
and the next hour at an average speed of 65 kmph. Then
what is his average speed?

Sol: (45 + 65) + 2 = 55 kmph.

The total distance traveled by the motorist in these two hours
=65+ 45 =110 km and he has taken two hours.

Therefore, his average speed = 55 kmph.

Example 4

On my way from the office to the Pimpri class, I drive at 30
kmph and on the return journey I drive at 45 kmph. What is
my average speed of travel?

Sol: 37.5 kmph is incorrect as the time traveled is different in
both the cases and only the distances are same.

Let the distance between the office and Pimpri class be x km.
~Time taken on my onward journey = x/30 hours and time
taken on my return journey = x/45 .
~The total time taken for my onward and return journey =
x/30 + x/45 = 5x/90 hours.

The total distance traveled both ways = 2x km
~ Average speed = 2x/(5x/90) = 36 kmph.
Exercise :

1. A boy goes to school at a speed of 3 km/hr and returns to
the village at a speed of 2 km/hr. If he takes 5 hrs in all, what
is the distance between the village and the school?

a) 3 b) 8 c) 6 d) 9
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2. A train travels from A to B at the rate of 20 kmph. and
from B to A at the rate of 30 km/hr. What is the average rate
for the whole journey?

a) 30 b) 25 c) 24 d) 28

3. How many seconds will a train 100 meters long running at
the rate of 36 km an hour take to pass a certain telegraph
post?

a) 30 b) 25 c) 10 d) 28

4. How long does a train 110 meters long running at the rate
of 36 km/hr take to cross a bridge 132 meters in length?

a) 30 b) 25 c) 10 d) 24.2

S. Two trains 121 metres and 99 metres in length respectively
are running in opposite directions, one at the rate of 40 km
and the other at the rate of 32 km an hour. In what time will
they be completely clear of each other from the moment they
meet?

a) 21 b) 9 c) 11 d) 28

6. Two trains 121 metres and 99 metres in length respectively
are running in same directions, one at the rate of 40 km and
the other at the rate of 32 km an hour. In what time will they
be completely clear of each other from the moment they meet?
a) 99 b) 80 c) 72 d) 16

Solutions and Answers

., . Product of the two speeds
L. Reqd. Distance = Total time taken x — D
Addition of the two speeds
3x2
5x =6km
3+2

Answer: c) 6 km
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Average speed = 2 xxxy km/hr
X+y

Average speed = 2x20x30 _ 24 km/hr
20+ 30

In passing the post the train must travel its own length.

Now, 36 km/hr = 36 x % = 10m/sec

Therefore reqd. time = % =10 seconds

In crossing the bridge, the train must travel its own
length plus the length of the bridge.

Now, 36 km/hr = 36 x % = 10m/sec

Therefore reqd. time = % = 24.2 seconds

As the two trains are moving in opposite directions their

relative speed = 40 + 32 = 72 km/hr.
5
=72x — =20m/sec

Total length
Relative speed
121 +99
20

Therefore reqd. time

=11 sec

31
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6.  Relative Speed =40 - 32 = 8hr

= SXE = @
18 9
Total length = 121 + 99 = 220m.
There, Reqd. time = TOta.l length
Relative speed
=20, 9-99sec
20

1.6 Train Speed

Important Facts

e Problems on trains are most frequently asked questions in
any competitive exam.

e Problems on trains and ‘Time and Distance’ are almost same.
The only difference is we have to consider the length of the

train while solving problems on trains.
Points to remember

1. Time taken by a train of length [ metres to pass a pole or
standing man or a signal post is equal to the time taken by
the train to cover ! metres.

2. Time taken by a train of length [ metres to pass a
stationery object of length b metres is the time taken by the
train to cover (I + b) metres.

3. Suppose two trains or two objects bodies are moving in the
same direction at um/s and v m/s, where u > v, then their

relative speed is = (u-v)m/s.
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4. Suppose two trains or two objects bodies are moving in
opposite directions at um/s and v m/s, then their relative
speed is = (u + v)m/s.

S. If two trains of length a metres and b metres are moving in

opposite directions at u m/s and v m/s, then:

The time taken by the trains to cross each (a + b)
__ sec.
other= (u+v)

6. If two trains of length a metres and b metres are moving in

the same direction at u m/s and v m/s, then:

The time taken by the faster train to cross the (a +b)
= sec.
slower train = (u - v)

7. If two trains (or bodies) start at the same time from points
A and B towards each other and after crossing they take a

and b sec in reaching B and A respectively, then:
(A's speed) : (B's speed) = (b : a)

Unit Conversion

x km/hr = (x X %) m/sec

x m/sec = (x X %) km/hr

Some Shortcut Methods
Rule 1:

If two trains of p meters and q meters are moving in

same direction at the speed of x m/s and y m/s (x > y)
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respectively then time taken by the faster train to overtake

slower train is given by

_ptq
= sec
X—y

Solved Problems
Example 1

Two trains of length 130 meter and 70 meter are
running in the same direction with the speed of 50 km/h and
70 km/h. How much time will faster train take to overtake

the slower train from the moment they meet?
Sol:

Let’s say p = 130 meter = 0. 13 km
q = 70 meter = 0.07 km
x=70km/h and y = 50 km/h,

So from the equation given above,

_p+q_ 0134007 _ 0.20

= = 0.01 hours
X—y 70 — 50 20

0.01 hours = 36 second
So it will take 36 seconds to overtake.
Rule 2:
If two trains of p meters and q meters are moving in
opposite direction at the speed of x m/s and y m/s

respectively then time taken by trains to cross each other is

given by
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:p+q
X+y

sec

Example 2

Two trains of length 130 meter and 70 meter are
running in the opposite direction with the speed of 50 km/h
and 70 km/h. How much time will trains take to cross each
other from the moment they meet?
Sol:
Let’s say p = 130 meter = 0. 13 km
q = 70 meter = 0.07 km
x=70km/h and y = 50 km/h,
So from the equation given above,

_p+q_ 0134007 02

= = = 0.0017 hours
x+y 70 + 50 120

0.0017 hours = 6 seconds
So it will take 6 seconds to cross each other.
Exercise:

1. A train is running at a speed of 40 km/hr and it crosses a

post in 18 seconds. What is the length of the train?
(@) 190 metres (b) 160 metres
(c) 200 metres (d)120 metres

2. A train, 130 meters long travels at a speed of 45 km/hr
crosses a bridge in 30 seconds. The length of the bridge is

(@) 270 m (b) 245 m (c) 235 m (d) 220 m
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3. A train has a length of 150 meters. It is passing a man who
is moving at 2 km/hr in the same direction of the train, in 3
seconds. Find out the speed of the train.

(@) 182 km/hr (b) 180 km/hr

(c) 152 km/hr (d) 169 km/hr

4. A train having a length of 240 m passes a post in 24
seconds. How long will it take to pass a platform having a
length of 650 m?

(@) 120 sec (b) 99 sec (c) 89 sec (d) 80 sec

S. A train 360 m long runs with a speed of 45 km/hr. What

time will it take to pass a platform of 140 m long?
(a) 38 sec (b) 35 sec (c) 44 sec (d) 40 sec

6. Two trains running in opposite directions cross a man
standing on the platform in 27 seconds and 17 seconds
respectively. If they cross each other in 23 seconds, what is

the ratio of their speeds?

(@) Insufficient data (b) 3:1 (¢)1:3 (d)3:2

7. A jogger is running at 9 kmph alongside a railway track in
240 meters ahead of the engine of a 120 meters long train.
The train is running at 45 kmph in the same direction. How
much time does it take for the train to pass the jogger?

(a) 46 (b) 36 (c) 18 (d) 22

8. Two trains of equal length are running on parallel lines in

the same direction at 46 km/hr and 36 km/hr. If the faster
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train passes the slower train in 36 seconds, what is the
length of each train?

(a) 88 (b) 70 (c) 62 (d) 50

9. Two trains having length of 140 m and 160 m long run at
the speed of 60 km/hr and 40 km/hr respectively in opposite
directions (on parallel tracks). The time which they take to
cross each other, is

(a) 10.8 sec (b) 12 sec (c) 9.8 sec (d) 8 sec

10. Two trains are moving in opposite directions with speed of
60 km/hr and 90 km/hr respectively. Their lengths are 1.10
km and 0.9 km respectively. The slower train crosses the

faster train in seconds
() 56 (b) 48 (c) 47 (d) 26
11. A train running at the speed of 60 km/hr crosses a pole

in 9 seconds. What is the length of the train?
(a) 120 metres (b) 180 metres
(c) 324 metres (d) 150 metres

12. A train 125 m long passes a man, running at 5 km/hr in
the same direction in which the train is going, in 10 seconds.
The speed of the train is:

(@) 45 km/hr (b) 50 km/hr

(c) 54 km/hr (d) 55 km/hr

13. The length of the bridge, which a train 130 metres long

and travelling at 45 km/hr can cross in 30 seconds, is:

(a) 200 m (b) 225 m (c) 245 m (d) 250 m
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14. Two trains running in opposite directions cross a man
standing on the platform in 27 seconds and 17 seconds
respectively and they cross each other in 23 seconds. The
ratio of their speeds is:

(@1:3 (b)3:2 (c)3:4 (d) None of these
15. A train passes a station platform in 36 seconds and a
man standing on the platform in 20 seconds. If the speed of
the train is 54 km/hr, what is the length of the platform?

(@) 120 m (b) 240 m (c) 300 m (d) None of these

16. A train 240 m long passes a pole in 24 seconds. How long

will it take to pass a platform 650 m long?
(a) 65 sec (b) 89 sec (c) 100 sec (d) 150 sec

17. Two trains of equal length are running on parallel lines in
the same direction at 46 km/hr and 36 km/hr. The faster
train passes the slower train in 36 seconds. The length of
each train is:

(@) 50 m (b) 72 m (c) 80 m (d) 82 m

18. A train 360 m long is running at a speed of 45 km/hr. In
what time will it pass a bridge 140 m long?

(a) 40 sec (b) 42 sec (c) 45 sec (d) 48 sec

19. Two trains are moving in opposite directions @ 60 km/hr
and 90 km/hr. Their lengths are 1.10 km and 0.9 km
respectively. The time taken by the slower train to cross the

faster train in seconds is:

(a) 36 (b) 45 (c) 48 (d) 49
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20. A jogger running at 9 kmph alongside a railway track in
240 metres ahead of the engine of a 120 metres long train
running at 45 kmph in the same direction. In how much time

will the train pass the jogger?
(a) 3.6 sec (b) 18 sec (c) 36 sec (d) 72 sec

Solutions and Answers
1. Answer: Option C
Explanation:
Speed of the train, v = 40 km/hr = 40000/3600 m/s =
400/36 m/s
Time taken to cross, t =18 s
Distance Covered, d = vt = (400/36)x 18 = 200 m
Distance covered is equal to the length of the train = 200 m
2. Answer: Option B
Explanation:
Assume the length of the bridge = x meter
Total distance covered = 130+x meter
total time taken = 30s
speed = Total distance covered /total time taken
= (130+x)/30 m/s
=> 45 x (10/36) = (130+x)/30
=> 45 x 10 x 30 /36 = 130+x
=>45x 10 x 10 / 12 = 130+x
=>15x10x 10 / 4 = 130+x
=> 15 x 25 = 130+x = 375
=>x = 375-130 =245
3. Answer: Option A
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Explanation:

Length of the train, 1 = 150m

Speed of the man ,Vm= 2 km/hr

Relative speed, Vr = total distance/time = (150/3) m/s =
(150/3) x (18/5) = 180 km/hr

Relative Speed = Speed of train, Vt - Speed of man (As both
are moving in the same direction)

=> 180 =Vt -2

=>Vt =180 + 2 = 182 km/hr

4. Answer: Option C

Explanation:

v = 240/24 (where v is the speed of the train) = 10 m/s

t = (240+650)/10 = 89 seconds

5. Answer: Option D

Explanation:

Speed = 45 km/hr = 45%(10/36) m/s

=150/12=50/4 =25/2m/s

Total distance = length of the train + length of the platform

= 360 + 140 = 500 meter

Time taken to cross the platform = 500/(25/2) = 500x2/25 =
40 seconds

6. Answer: Option D

Explanation:

Let the speed of the trains be x and y respectively

length of trainl = 27x

length of train2 = 17y

Relative speed= x+ y
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Time taken to cross each other = 23 s

=> (27x + 17 y)/(xty) = 23

=> (27x + 17 y)/ = 23(x+y)

=> 4x = 6y

=>x/y=6/4=3/2

7. Answer: Option B

Explanation:

Distance to be covered = 240+ 120 = 360 m

Relative speed = 36 km/hr = 36x10/36 = 10 m/s

Time = distance/speed = 360/10 = 36 seconds

8. Answer: Option D

Explanation:

Assume the length of each train = x

Total distance covered for overtaking the slower train = x+x
= 2x

Relative speed = 46-36 = 10km /hr

= (10x10)/36 = 100/36 m/s

Time = 36 seconds

2x/ (100/36) = 36

=> (2x x 36)/100 = 36

=> x = 50 meter

9. Answer: Option A

Explanation:

Distance = 140+160 = 300 m

Relative speed = 60+40 = 100 km/hr = (100x10)/36 m/s
Time = distance/speed = 300 / (100x10)/36 = 300x36 / 1000
=3x36/10 =10.8 s
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10. Answer: Option B

Explanation:

Relative speed = 60+90 = 150 km/hr (Since both trains are
moving in opposite directions)

Total distance = 1.1+.9 = 2km

Time = 2/150 hr = 1//75 hr = 3600/75 seconds = 1200/25 =
240/5 = 48 seconds

11. Answer: Option D

Explanation:

Speed = (GOX —Sj m/sec = (@j m/sec
18 3

50
Length of the train = (Speed x Time) = (? Xg) M =150 m.

12. Answer: Option B

Explanation:

125
Speed of the train relative to man = (Ej m/sec

- %)

= (Exgj km/hr
2 5
=45 km/hr.
Let the speed of the train be x km/hr. Then, relative speed =
(x - 5) km/hr.
x-5=45 x =50 km/hr.

13. Answer: Option C
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Explanation:
Speed = 45><—5 m/sec = 2 m/sec
18 2

Time = 30 sec.
Let the length of bridge be x metres.

130+x 25
Then, =—
[ 30 2 J

=2(130 + x) = 750
X =245 m.

14. Answer: Option B
Explanation:
Let the speeds of the two trains be x m/sec and y m/sec
respectively.
Then, length of the first train = 27 x metres,
and length of the second train = 17y metres.
27x+17y 23
Xty
27x+ 17y =23x + 23y
4x =6y

-

15. Answer: Option B

Explanation:
Speed = (54>< —5) m/sec
18

Length of the train = (15 x 20)m = 300 m.
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Let the length of the platform be x metres.

x+300

Then, 15

x + 300 = 540
x =240 m.
16. Answer: Option B

Explanation:

Speed = (%)m/sec = 10 m/sec.

240+650
10

17. Answer: Option A

Required time =[ ]sec = 89 sec.

Explanation:
Let the length of each train be x metres.
Then, distance covered = 2x metres.

Relative speed = (46 - 36) km/hr

= (10>< —5j m/sec
18

%)

=| — |m/sec
9
(2-3)
36 9

=2x =100

=x = 50.
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18. Answer: Option A
Explanation:

Formula for converting from km/hr to m/s: X km/hr =

(Xxéj m/s
18

Therefore, Speed =(45X£j m/s [?j m/sec .

Total distance to be covered = (360 + 140) m = 500 m.

Distance}

Formula for finding Time =
Speed

0x2

50
Required time =( ]SGC = 40 sec.

19. Answer: Option C
Explanation:

Relative speed = (60+ 90) km/hr

= (150>< —Sj m/sec
18

(125)
=| — [m/sec .
3

Distance covered = (1.10 + 0.9) km = 2 km = 2000 m.
o 3
Required time = ZOOOXE SeC = 48 sec.

20. Answer: Option C
Explanation:

Speed of train relative to jogger = (45 - 9) km/hr = 36 km/hr.
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5]
18

10 m/sec.

Distance to be covered = (240 + 120) m = 360 m. Time taken

(360}
= —— | SeC= 36 sec.
10
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UNIT - II
[QUANTITATIVE APTITUDE - 11}

Avrea related problems - Problems on Ages - Boat and Stream -
Simple Interest - Compound Interest — True discount — Calendar —
Clocks - Data Interpretation: Bar Graphs - Pie Chart.

Area related Problems

Area is defined as the total space taken up by a flat (2-D)
surface or shape of an object. The space enclosed by the
boundary of a plane figure is called its area. The area of a
figure is the number of unit squares that cover the surface of
a closed figure. Area is measured in square units like cm? and
m?2.

The term “area” refers to the space inside the boundary or
perimeter of a closed shape. The geometry of such a shape
contains at least three sides joined together to form a
boundary. Symbolic representation of such space in
mathematics refers to the “area” formula. To represent and
draw real-life objects, designers and architects use

different shapes such as circle, triangle, quadrilateral,

and polygon.

The easiest method to interpret the area of geometric shapes
is using “unit squares”. A unit square is a square with each
of its side length measuring 1 unit. Using this as a basis,
the area of a polygon is the number of unit squares within a

shape.

47 V.H.N.Senthikumara Nadar College (Autonomous), Virudhunagar.


https://www.splashlearn.com/math-vocabulary/geometry/closed-shape
https://www.splashlearn.com/math-vocabulary/geometry/shape
https://www.splashlearn.com/math-vocabulary/geometry/circle
https://www.splashlearn.com/math-vocabulary/geometry/triangle
https://www.splashlearn.com/math-vocabulary/geometry/quadrilateral
https://www.splashlearn.com/math-vocabulary/geometry/polygon

Employability Skills Unit -1l

To find out the area of the square figures drawn below, draw
unit squares of 1- centimeter sides. Thus, the shape will be

measured in cm?, also known as square centimeters.

| |
Tecm
1em s,
1em e ! CmI
: Jo—si 1 ¢ |||I 10|
oo 1em]
1 cmTD T
Area=1cm? Area=4cm? Area = 9 cm? Area = 16 cm?
- » ' ‘ Comlommbs | ~mvem

Here, the area of the shapes below will be measured in square

meters (m?) and square inches (in?).

1em 1in

nZal il
ang
|

o

1 r_mT

Area =5 cm? Area =5 in’ |k
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Formulas for Calculating Area

Two=-Dimensional Geometric Shapes

Ploarme of the ahope

Irmesge of the shoape

Sren Formeusia

Circle

Aurescs = mr

Herm, s the rooius
of the carcle

Tiricengler

= 3 s w

i

Here, b s the bose of
the tricangle, omd f is
thee Fasigihe,

Ao = o

Here. o m the eangth
of eoch sicle of the
SOICErE,

Rectongie

Area = | = W
Hore, §ic langth

carcl e B e weickth of
the rectangle.

Porallelagrarm

Area = b = b

Heore, b= the bose,
and b = the
perpendiculor heghs
of the parclleiogram,

TropEsarivem

ﬁm=%!n+bhﬁ

Hers, oand b ore
Bervp s of s poenaibed
shdes, and b= the
perpaendicular hehghn
of the: traperiurm.

"

49 V.H.N.Senthikumara Nadar College (Autonomous), Virudhunagar.



Employability Skills Unit - 1l

Solved Problems
Example 1: A circle has a diameter of 20 cm. Find out the
area of this circle.
Solution: For the circle, d=20 cm.
Radius, r=d/2=10 cm
Therefore, A=nr2 =3.14x10x10=314 cm?

Area of the given circle is 314 cm?2.

Example 2: The height of a triangle is 10 cm and the base is
20 cm. What is the area of this triangle?
Solution: Area of the triangle =1/2xbxh =12x20%x10=100 cm?

Therefore, the area of the given triangle is 100 cm?2.

Example 3: The width of a rectangle is half of its length. The
width is measured to be 10 cm. What is the area of the
rectangle?

Solution: For the rectangle, w=10cm andi=(10x2)=20 cm.

Area of the rectangle, i.e., A=Ixw
A=20x10=200 cm?

Therefore, the area of the given rectangle is 200 cm?.

Example 4: What is the area of a rectangular park whose
length and breadth are 30 m and 50 m respectively?
Solution: Given Data:

Length of the park = 30 m
Breadth of the park = 50 m
Use the area formula.

Area of a Rectangle =Length x Breadth =(30x50) m2 =1500 m?2
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Example 5: What is the area of a circular cricket stadium
whose radius is 200 m?

Solution: Given data: Radius of the cricket stadium =200 m
Use the area formula.

Area of a Circle =nr2

=rx200mx200m =400007 m?2.

Example 6: What is the area of a square paddy field if each of
its sides measures 10 units?

Solution: Given data: Length of the side =10 units

Use the area formula.

Area of the square paddy field =10x10 =100 square units

Exercise:

1. The side of a square is 7 cm. What is the area of this
square?

(@) 20 cm? (b) 30 cm? (c) 40 cm? (d) 49 cm?

2. The ratio between the length and the breadth of a
rectangular park is 3 : 2. If a man cycling along the boundary
of the park at the speed of 12 km/hr completes one round in
8 minutes, then the area of the park (in sq. m) is:

(@) 15360 (b) 153600 (c) 30720 (d) 307200

3. An error 2% in excess is made while measuring the side of
a square. The percentage of error in the calculated area of the
square is:

(a) 2% (b) 2.02% (c) 4% (d) 4.04%
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4. The ratio between the perimeter and the breadth of a
rectangle is 5 : 1. If the area of the rectangle is 216 sq. cm,
what is the length of the rectangle?

(@) 16 cm (b) 18 cm (c) 24 cm (d) Data inadequate
S. The percentage increase in the area of a rectangle, if each
of its sides is increased by 20% is:

(a) 40% (b) 42% (c) 44% (d) 46%

6. A rectangular park 60 m long and 40 m wide has two
concrete crossroads running in the middle of the park and
rest of the park has been used as a lawn. If the area of the
lawn is 2109 sq. m, then what is the width of the road?

(@ 2.91m (b) 3 m (c) 5.82m (d) None of these

7. The diagonal of the floor of a rectangular closet is 7 1 feet.
2

The shorter side of the closet is 4 1 feet. What is the area of
2

the closet in square feet?

(&) 55 (b) 132 (c) 27 (d) 37

8. A towel, when bleached, was found to have lost 20% of its
length and 10% of its breadth. The percentage of decrease in
area is:

(@) 10% (b) 10.08% (c) 20% (d) 28%

9. A man walked diagonally across a square lot.
Approximately, what was the percent saved by not walking
along the edges?

(&) 20 (b) 24 (c) 30 (d) 33
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10. The diagonal of a rectangle is 41 cm and its area is 20 sq.
cm. The perimeter of the rectangle must be:

(@) 9 cm (b) 18 cm (c) 20 cm (d) 41 cm

11. What is the least number of squares tiles required to pave
the floor of a room 15 m 17 cm long and 9 m 2 cm broad?

(a) 814 (b) 820 (c) 840 (d) 844

12. The difference between the length and breadth of a
rectangle is 23 m. If its perimeter is 206 m, then its area is:

(@) 1520 m2 (b) 2420 m?

(c) 2480 m? (d) 2520 m?

13. The length of a rectangle is halved, while its breadth is
tripled. What is the percentage change in area?

(a) 25% increase (b) 50% increase

(c) 50% decrease (d) 75% decrease

14. The length of a rectangular plot is 20 metres more than
its breadth. If the cost of fencing the plot @ 26.50 per metre is
Rs. 5300, what is the length of the plot in metres?

(a) 40 (b) 50 (c) 120 (d) None of these
15. A rectangular field is to be fenced on three sides leaving a
side of 20 feet uncovered. If the area of the field is 680 sq.

feet, how many feet of fencing will be required?

(a) 34 (b) 40 (c) 68 (d) 88
ANSWERS
)D|2)B|3)D|4B|5C|6B|7)C|[8D]|9C /|10

11) [12) [ 13) | 14) |15)
A |D |B |D |D
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Problems on Ages

Important Facts and Formulae

If you are assuming the current age to be x, then the age after
n years will be (x+n) years. If you are assuming the current
age to be x, then the age before n years will be (x-n) years. If
the age is given in the form of a ratio, for example, p:q, then

the age shall be considered as gqx and px.

Solved Problems
Example 1: Rajeev's age after 15 years will be 5 times his ago
S years back. What is the present age of Rajeev ?
Solution: Let Rajeev' present age be x years. Then,
Rajeev's age after IS5 years = (x +15) years.
Rajeev's age S years back = (x -5) years.
Xx+15=5(x-5)e©x+15=5x-254x =40 x =10

Hence, Rajeev's present age = 10 years.

Example 2: The ages of two persons differ by 16 years. If 6
years ago, the elder one be

3 times as old as the younger one, find their present ages
Solution: Let the age of the younger person be x years.

Then, age of the elder person = (x + 16) years.
3x-6)=(x+16-6)=3x-18=x+ 10 &2x =28 ox = 14.

Hence, their present ages are 14 years and 30 years.
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Example 3: The product of the ages of Ankit and Nikita is
240. If twice the age of Nikita is more than Ankit's age by 4
years, what is Nikita's age ?

Solution: Let Ankit's age be x years. Then, Nikita's age = ?

years

22xZ2—x =46 480 —x? +4x — 480 = 0 & (x + 24) (x — 20) =

0 © x = 20.

Hence, Nikita's age = (%) years = 12 years.

Example 4: The present age of a father is 3 years more than
three times the age of his Bon. Three years hence, father's age
will be 10 years more than twice the age of the son. Find the
present age of the father.

Solution: Let the son's present age be x years. Then, father's
present age = (3x + 3) years.

2(Bx+3+3)=2(x+3)+10=3x +6 = 2x + 16 © x = 10.
Hence, father's present age = (3x + 3) = (3 x 10 + 3) years

= 33 years.

Example 5: Rohit was 4 time 8 as old as his son 8 years ago.
After 8 years, Rohit will be twice as old as his son. What are
their present ages ?

Solution: Let son's age 8 years ago be x years. "Then, Rohit's
age 8 years ago = 4x years.

Son's age 'after 8 years = (x+ 8) + 8 = (x + 16) years.
Rohit's age after 8 years = (4x+ 8) + 8 = (4x + 16) years.
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~2(x+16)=4x+16 o 2x =16 © x = 8.
Hence, son's present age = (x + 8) = 16 years.

Rohit's present age = (4x + 8) = 40 years.

Example 6: One year ago, the ratio of Gaurav's and Sachin's
age was 6:7 respectively. Four years hence, this ratio would
become 7:8. How old is Sachin ?

Solution: Let Gaurav's and Sachin's ages one year ago be 6x
and 7x years respectively. Then

Gaurav's age 4 vears hence = (6x + 1) + 4 = (6x + 5) years
Sachin's age 4 years hence = (7x + 1) + 4 = (7x + 5) years

1 8(6x+5)=7(7x +5) © 48x +40 = 49x + 35 S x =5

Hence, Sachin's present age = (7x + 1) = 36 years.

Example 7: Abhay's age after six years will be three-seven th
of his father's age. Terd years

ago, the ratio of their ages was 1: 5. What is Abhay's father's
age at present ?

Solution: Let the ages of Abhay and his father 10 years ago
be x and 5x years respectively. Then,

Abhay's age after 6 years = (x + 10) + 6 = (x + 16) years.
Father's age after 6 years = (5x + 10) + 6 = (5x + 16) years.

o (x+ 16)=§(5x+16)=>7(x+ 16) = 3 (5x + 16) © 7x +
112 = 15x + 48
S 8x =64 x =8.

Hence, Abhay's father's present age = (5x + 10) = 50 years.
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Exercise

1. Sachin is younger than Rahul by 4 years. If their ages are
in the respective ratio of 7:9, how old is Sachin ?

(@) 16 years (b) 18 years (c) 28 years (d) None of these
2. The ratio between the present ages of P and Q is 6 :7. If Q
is 4 years old than P, what

will he the ratio of the ages of P and Q after 4 years ?

(a) 3:4 (b) 3:5 (c) 4:3 (d) None of these
3. The ratio between the present ages of P and Q is 5:7
respectively. If the difference

between Q's present age and Ps age after 6 years is 2, what is
the total of P's and

Q's present ages ?

(a) 48 years (b) 52 years

(c) 56 years (d) Cannot be determined

4. At present, the ratio between the ages of Arun and Deepak
is 4 :3. After 6 years, Arun's age will be 26 years. What is the
age of Deepak at present ?

(@) 12 years (b) 15 years (c) 19 %years (d) 21 years

S. Present ages of X and Y are in the ratio S :6 respectively.
Seven years hence this ratio

will become 6 : 7 respectively. What is X's present age in
years ?

(a) 35 (b) 42 (c) 49 (d)Cannot be determined
6. Present ages of Sameer and Anand are in the ratio of 5:4

respectively. Three years
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hence, the ratio of their ages will become 11:9 respectively
What is Anand's present

age in years ?

(@) 24 (b) 27 (c) 40 (d) Cannot be determined

7. Six years ago, the ratio of the ages of Kunal and Sagar was
ratio 6: 5. Four years hence, the of their ages will be 11:1 O.
What is Sagar's age at present ?

(@) 16 years (b) 18 years

(c) 20 years (d) Cannot be determined

8. The total of the ages of Jayant, Prem and Saransh is 93
years. 'Ten years ago, the ratio of their ages was 2:3:4. What
is the present age of Saransh ?

(a) 24 years (b) 32 years

(c) 34 years (d) 38 years

9. The ratio of the present ages of two brothers is 1:2 and 5
years back, the ratio was 1 :3. What will be the ratio of their
ages after S years ?

() 1:4 (b) 2:3 (c) 3:5 (d) 5:6

10. Hitesh is 40 years old and Ronnie is 60 years old. How
many years ago was the ratio of their ages 3:5?

(@) 5 years (b) 10 years (c) 20 years (d) 37 years

11. The ratio of the father's age to his son's age is 7: 3. The
product of their ages is 756. The ratio of their ages after 6
years will be:

(a) 5:2 (b) 2:1 (c) 11:7 (d) 13:9

V.H.N.Senthikumara Nadar College (Autonomous), Virudhunagar. 58



Employability Skills Unit - 11

12. The present ages of three persons are in proportions
4:7:9. Eight years ago, the sun of ages was 56. Find their
present ages (in years).

(a) 8, 20, 28 (b) 16, 28, 36

(c) 20, 35, 45 (d) None of these

13. The ratio of the ages of a man and his wife is 4: 3. After 4
years, this ratio will be 97. If at the time of marriage, the ratio
was 5: 3, then how many years ago were they married?

(a) 8 years (b) 10 years (c) 12 years (d) 15 years

14. The ratio between the school ages of Neelam and Shaan is
S: 6 respectively. If the ratio between the age of Neelam and
half of Shaan's age is 5:9, then what is the school age of
Shaan ?

(a) 25 years (b) 30 years

(c) 36 years (d) Cannot be determined

15. The ratio between the present ages of A and B is 5: 3
respectively. The ratio between A's age 4 years ago and B's
age 4 years hence is 1: 1. What is the ratio between A age 4
years hence and B's age 4 years ago?

(@) 1:3 (b) 2:1 (c) 3:1 (d) 4:1

Answers

)D [2)D [3)A [4B [5A |6 |7) |8 [9 |10
A |A |D |Cc |B

11) [12) [13) [14) |15
B B C D C
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Boats and Streams

Boats and Streams problems are frequently asked problems
in competitive exams.

Stream: Moving water of the river is called stream.

Still Water: If the water is not moving then it is called still
water.

Upstream: If a boat or a swimmer moves in the opposite
direction of the stream then it is called upstream.

Downstream: If a boat or a swimmer moves in the same
direction of the stream then it is called downstream.

Points to remember

1. When speed of boat or a swimmer is given, then it
normally means speed in still water.

2. Downstream/ Upstream: In water, the direction along the
stream is called downstream. And, the direction against
the stream is called upstream.

3. If the speed of a boat in still water is u km/hr and the
speed of the stream is v km/hr, then:

Speed downstream = (u + v) km/hr.
Speed upstream = (u - v) km/hr.

4. If the speed downstream is a km/hr and the speed

upstream is b km/hr, then:

Speed in still water = Y%2(a + b) km/hr
a-b

Rate of stream = %2 (a - b) km/hr or

Some Shortcut Methods

Rule 1: A man can row certain distance downstream in
t1 hours and returns the same distance upstream in t»
hours. If the speed of stream is y km/h, then the speed
of man in still water is given by

V.H.N.Senthikumara Nadar College (Autonomous), Virudhunagar. 60



Employability Skills Unit - 11

t + 5]
=y (—) km /h
th—4

Solved Problems

Example 1: A man goes certain distance against the current
of the stream in 2 hour and returns with the stream in 20
minutes. If the speed of stream is 4 km/h then how long will
it take for the man to go 4 km in still water?

Solution: Let’s say t; = 20 minutes = 0.33 hours and t; = 1
hours
Y = 4, then man’s speed in still water

(tz + tl) (1 + 0.33) _ 4x133

= = 7.94km/h
L-4 1-033 0.67 m/

So man’s speed is 7.94 km/h in still water.

Now, time taken by the man to row 4 km in still water
4x1

= —— = 0.504 hours = 30.23 minutes
7.94

Rule 2: A man can row in still water at x km/h. In a stream
flowing at y km/h, if it takes him t hours to row to a place
and come back, then the distance between two places is given
by

e —y?)

2x

Example 2: A man can row 4 km/h in still water. When the
water is running at 2 km/h, it takes him 2 hours to go to a
place and come back. What is the distance between that place
and man’s initial position?
Solution: Let’s say x = 4 km/h = man’s speed in still water.
y =2 km/h = water’s speed.
t=2, so
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tx? —y?)  2(4*-2%)
2x To2x4

Distance = 3 km

Rule 3: A man can row in still water at x km/h. In a stream
flowing at y km/h, if it takes t hours more in upstream than
to go downstream for the same distance, then the distance is
given by

_txt—y?)

= %

Example 3: A man can row 4 km/h in still water. The water
is running at 2 km/h. He travels to a certain distance and
comes back. It takes him 2 hours more while travelling
against the stream than travelling with the stream. What is
the distance?
Solution: Let’s say x = 4 km/h = man’s speed in still water.
y =2 km/h = water’s speed.
t=2, so

t(x? —y?) 204 =29

Dist = = =6k
istance 2y > %2 m

Rule 4: A man can row in still water at x km/h. In a stream
flowing at y km/h, if he rows the same distance up and down
the stream, then his average speed is given by

Upstream X Downstream

~ Man’s Speed in still water

= xE+y) & -y)
N X N X

km/h

Example 4: Speed of boat in still water is 9 km/h and speed
of stream is 2 km/h. The boat rows to a place which is 47 km
away and comes back in the same path. Find the average
speed of boat during whole journey.

Solution:
Let’s say x = 9 km/h = speed in still water

Y = 2 km/h = speed of stream
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(x*—y?) (92 -2%)
X N 9

Average speed = = 8.55 km/h

Exercise:

1. A boat can travel with a speed of 13 km/hr in still water. If
the speed of the stream is 4 km/hr, find the time taken by the
boat to go 68 km downstream.

(@) 2 hours (b) 3 hours (c) 4 hours (d) S hours

2. A man's speed with the current is 15 km/hr and the speed
of the current is 2.5 km/hr. The man's speed against the
current is:

(@) 8.5 km/hr (b) 9 km/hr

(c) 10 km/hr (d)12.5 km/hr

3. A boat running upstream takes 8 hours 48 minutes to
cover a certain distance, while it takes 4 hours to cover the
same distance running downstream. What is the ratio
between the speed of the boat and speed of the water current
respectively?

@2:1 (b)3:2

(c)8:3 (d) Cannot be determined

4.A motorboat, whose speed in 15 km/hr in still water goes
30 km downstream and comes back in a total of 4 hours 30
minutes. The speed of the stream (in km/hr) is:

(a4 (b) 5 (c) 6 (d) 10

S. In one hour, a boat goes 11 km/hr along the stream and 5
km/hr against the stream. The speed of the boat in still water
(in km/hr) is:

(@ 3 km/hr (b) 5km/hr ()8 km/hr (d)9 km/hr

6. A boat running downstream covers a distance of 16 km in
2 hours while for covering the same distance upstream, it
takes 4 hours. What is the speed of the boat in still water?

(@) 4 km/hr (b) 6 km/hr
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(c) 8 km/hr (d) Data inadequate
7.The speed of a boat in still water in 15 km/hr and the rate

of current is 3 km/hr. The distance travelled downstream in
12 minutes is:

(@ 1.2 km (b) 1.8 km (c) 2.4 km (d) 3.6 km

8. A boat takes 90 minutes less to travel 36 miles
downstream than to travel the same distance upstream. If the
speed of the boat in still water is 10 mph, the speed of the
stream is:

(@) 2 mph (b) 2.5 mph  (c) 3 mph (d) 4 mph

9. A man can row at 5 kmph in still water. If the velocity of
current is 1 kmph and it takes him 1 hour to row to a place
and come back, how far is the place?

(@) 2.4 km (b) 2.5 km (c) 3 km (d) 3.6 km

10. A boat covers a certain distance downstream in 1 hour,
while it comes back in 1 %2 hours. If the speed of the stream
be 3 kmph, what is the speed of the boat in still water?

(@) 12 kmph (b) 13 kmph

(c) 14 kmph (d) 15 kmph

11. A boatman goes 2 km against the current of the stream in
1 hour and goes 1 km along the current in 10 minutes. How
long will it take to go S km in stationary water?

(a) 40 minutes (b) 1 hour

(c) 1 hr 15 min (d) 1 hr 30 min

12. A man can row three-quarters of a kilo metres against the
stream in 11 % minutes and down the stream in 7 %
minutes. The speed (in km/hr) of the man in still water is:

(a) 2 (b) 3 (c) 4 (d) 5

13. Speed of a boat in standing water is 9 kmph and the
speed of the stream is 1.5 kmph. A man rows to a place at a

distance of 105 km and comes back to the starting point. The
total time taken by him is:
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(@) 16 hours (b) 18 hours
(c) 20 hours (d) 24 hours

14. A man takes twice as long to row a distance against the
stream as to row the same distance in favour of the stream.
The ratio of the speed of the boat (in still water) and the
stream is:

@2:1 b)3:1 (c)3:2 (d4:3

15. A man rows to a place 48 km distant and come back in 14
hours. He finds that he can row 4 km with the stream in the
same time as 3 km against the stream. The rate of the stream
is:

(@ 1 km/hr (b) 1.5 km/hr

(c) 2 km/hr (d) 2.5 km/hr

16. A man's speed with the current is 15 km/hr and the

speed of the current is 2.5 km/hr. The man's speed against
the current is:

(@) 8.5 km/hr (b) 10 km/hr

(c) 12.5 km/hr (d) 9 km/hr

17. A motorboat, whose speed in 15 km/hr in still water goes
30 km downstream and comes back in a total of 4 hours 30
minutes. The speed of the stream (in km/hr) is:

(@) 10 (b) 6 (c) 5 (d) 4

18. In one hour, a boat goes 14 km/hr along the stream and
8 km/hr against the stream. The speed of the boat in still
water (in km/hr) is:

(@) 12 km/hr (b) 11 km/hr

(c) 10 km/hr (d) 8 km/hr

19. A man rows to a place 48 km distant and come back in 14
hours. He finds that he can row 4 km with the stream in the
same time as 3 km against the stream. The rate of the stream
is:

(@) 1 km/hr. (b) 2 km/hr

65 V.H.N.Senthikumara Nadar College (Autonomous), Virudhunagar.



Employability Skills Unit - 1l

(c) 1.5 km/hr. (d) 2.5 km/hr.

20. A boatman goes 2 km against the current of the stream in
2 hour and goes 1 km along the current in 20 minutes. How
long will it take to go 5 km in stationary water?

(@) 2 hr 30 min (b) 2 hr (¢4 hr (d) 1 hr 15 min
Answers :

e |2)c |3)c |4)Db |5 c |6)b|7)d |8 a |9a |10)
d

11) 12) 13) 14) 15) 16) 17) 18) 19) | 20)
c d d b a b c b a a

Simple Interest

When a person borrows some money from another person
then the borrower has to pay some extra money for the use of
that money to the lender. This extra money is called Interest.

In other words, the amount charged by lender for giving his
money for a specific amount of time is called Interest.

The amount of money borrowed is known as Principal.

Total of Interest and Principal is known as Total
Amount.

Amount = Principal + Interest.

The borrower has to pay interest according to some percent of
principal for the fixed period of time. This percentage is
known as Interest Rate. This fixed period may be a year, six
months, three months or a month and correspondingly the
rate of interest is charged annually, half yearly, quarterly or
monthly.

For example, the rate of interest is 10% per annum means the
interest payable on Rs 100 for one year is Rs 10.
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Some Basic Formulas
If A = Amount
P = Principal
I = Interest
T =T years
R = Rate Per Year, then

Amount = Principal + Interest

A=P+1
5= (78)
) P = (2050, = (2550 g — ()

Solved Problems
Example 1: Find the Simple interest on Rs. 68,000 at 16%%
per annum for 9 months.
Solution: P = Rs. 68000, R = ?%p.a &T= % years = Z years

PXRXT
100

a8l ( ) = Rs. (68000 x 2 x2x L) = Rs.8500.

4 100

Example 2: A sum was put at simple interest at a certain
rate for 3 years. Had it been put at 2% higher rate, it would
have fetched Rs. 360 more. Find the sum.

Solution: Let sum = P and original rate = R. Then,
[PX(R+2)X3] _ [PxRx3] - 360
100 100

< 3PR + 6P — 3PR = 36000 © 6P = 36000 & P = 6000. ~ Hence,
sum = Rs. 6000
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Example3: The simple interest on a sum of money is g of the

principal. Find the rate percent & time, if both are
numerically equal.

Solution: Let sum = Rs. x. then, S.I = Rs. %x.

Let rate = R% & time = R years.
Then, (

400 20 2
OrRP=—0rR===6"-.
9 9 3 3

xxRxR) _ 4x
100 /

~ Rate = 65% & Time = 6§ years = 6 years 8 months.

Exercise

1. How much time will it take for an amount of Rs. 900 to
yield Rs. 81 as interest at 4.5% per annum of simple interest?

(a) 2 years (b) 3 years
(c) 1 year (d) 4 years
2. Arun took a loan of Rs. 1400 with simple interest for as
many years as the rate of interest. If he paid Rs.686 as

interest at the end of the loan period, what was the rate of
interest?

(a) 8% (b) 6% (c) 4% (d) 7%

3. A sum of money at simple interest amounts to Rs. 815 in 3
years and to Rs. 854 in 4 years. The sum is :

(@) Rs. 700 (b) Rs. 690 (c) Rs. 650 (d) Rs. 698

4. A sum fetched a total simple interest of Rs. 929.20 at the
rate of 8 p.c.p.a. in 5 years. What is the sum?

(a) Rs. 2323 (b) Rs. 1223
(c) Rs. 2563 (d) Rs. 2353

S. A sum of money at simple interest amounts to Rs. 815 in 3
years and to Rs. 854 in 4 years. The sum is:

(@) Rs. 650  (b) Rs. 690  (c) Rs. 698  (d) Rs. 700
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6. Mr. Thomas invested an amount of Rs. 13,900 divided in
two different schemes A and B at the simple interest rate of
14% p.a. and 11% p.a. respectively. If the total amount of
simple interest earned in 2 years be Rs. 3508, what was the
amount invested in Scheme B?

(a) Rs. 6400 (b) Rs. 6500

(c) Rs. 7200 (d) Rs. 7500

7. A sum fetched a total simple interest of Rs. 4016.25 at the
rate of 9% p.a. in S years. What is the sum?

(a) Rs. 4462.50 (b) Rs. 8032.50

(c) Rs. 8900 (d) Rs. 8925

8. How much time will it take for an amount of Rs. 450 to
yield Rs. 81 as interest at 4.5% per annum of simple interest?

(@) 3.5 years (b) 4 years (c) 4.5 years (d) S years
9. Reena took a loan of Rs. 1200 with simple interest for as
many years as the rate of interest. If she paid Rs. 432 as

interest at the end of the loan period, what was the rate of
interest?

(a) 3.6 (b) 6 (c) 18 (d) Cannot be determined
10. A person borrows Rs.5000 for 2 years at 4% p.a. simple

interest. He immediately lends it to another person at 614%
p.a for 2 years. Find his gain in the transaction per year.

(@) Rs. 167.50 (b) Rs. 150
(c) Rs.225 (d) Rs. 112.50
Answers:

A |2) |3 |4A|5cC|e6C|7)A|8 |9 B|10)
D |D D D

Compound Interest

In compound interest, the interest for each period is added to
the principle before interest is calculated for the next period.
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With this method the principle grows as the interest is added
to it. This method is mostly used in investments such as
savings account and bonds.

To understand compound interest clearly, let’s take an
example.

1000 is borrowed for three years at 10% compound
interest. What is the total amount after three years?

You can understand the process of compound interest
by image shown below.

1000 — 1100 — 12210 — 133!

10% / 10% / 10% /
100 110 121

Year Principal Interest Amount
(10%)

1st 1000 100 1100

2nd 1100 110 1210

3rd 1210 121 1331

Difference between Simple Interest and compound
interest

After three years,
In simple interest, the total amount would be 1300

And in compound interest, the total amount would be
1331.

Some Basic Formulas

If A = Amount

P = Principle

C.I. = Compound Interest

T = Time in years
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R = Interest Rate Per Year

cr=p[(1+ 155) -1

T

A—P(1+ R)
N 100

Shortcut Formulas

Rule 1: If rate of interest is R1% for first year, R2% for second
year and R3% for third year, then

a=r(1+ 155) (1+ 155) (1 155)
Rule 2:

If principal = P, Rate = R% and Time = T years then

1. If the interest is compounded annually:

R AT

A=P(1+ —
( * 100)

2. If the interest is compounded half yearly (two times in

year):

2T
R /2

A=P 1+m

3. If the interest is compounded quarterly (four times in
year):

4T

R/4

A=P| 1+ —
+100

Rule 3: If difference between Simple Interest and Compound
Interest is given.
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If the difference between Simple Interest and
Compound Interest on a certain sum of money for 2 years at
R% rate is given then
1002
Sum = Difference (T)

If the difference between Simple Interest and
Compound Interest on a certain sum of money for 3 years at
R% is given then

Difference x 1003
RZ(300 +R)

Rule 3: If sum A becomes B in T1 years at compound
interest, then after T2 years
Tz
BT1
Ty

=21
AT1

Sum =

Sum =

Solved Problems

Examplel: A bank offers 5% compound interest calculated
on half-yearly basis. A customer deposits Rs. 1600 each on
1st January and 1st July of a year. At the end of the year, the
amount he would have gained by way of interest.

Solution: Amount = Rs.

5 Y 5
1600x| 1+—— | +1600x| 1+
% 100 2x100

= Rs. 1600><ﬂ><ﬂ+1600><ﬂ
40 40 40
_Rs. 1600xﬂ[ﬂ+1j
401\ 40

V.H.N.Senthikumara Nadar College (Autonomous), Virudhunagar. 72




Employability Skills Unit - 11

40 x 40

= Rs. 3321.
C.I. = Rs. (3321 - 3200) = Rs. 121

[1600 x 41 x 81}

Example 2: The difference between simple and compound
interests compounded annually on a certain sum of money
for 2 years at 4% per annum is Re. 1. The sum (in Rs.) .

Solution: Let the sum be Rs. x. Then,

2
S.Cl.= x(1+ij —X =(@x—x]=£x.
100 625 625

S,LZ(MJ_ZX,

100 ) 25
SIx_2x
625 25
=>x = 625.

Example 3: There is 60% increase in an amount in 6 years at
simple interest. What will be the compound interest of Rs.
12,000 after 3 years at the same rate?

Solution: Let P = Rs. 100. Then, S.I. Rs. 60 and T = 6 years.

100x60
100x6
Now, P = Rs. 12000. T = 3 years and R = 10% p.a.

3
~.C.I =Rs|12000 x 1+£ -1
100
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- Rs.(lZOOO X j§§£j

1000
= 3972.

Example 4: What is the difference between the compound
interests on Rs. 5000 for 1% years at 4% per annum
compounded yearly and half-yearly?

Solution: C.I. when interest compounded yearly =

4 x4
5000 x (1+—j>< 1+2
100 100

- Rs{sooo x éxﬂ}
25 50

= Rs. 5304.

3
C.1. when interest is compounded half-yearly = Rs. {5000 x (1+ %) :l

= Rs.| 5000 x ﬁ><ﬁ><E
50 50 50

= Rs. 5306.04
Difference = Rs. (5306.04 - 5304) = Rs. 2.04

Example 5: The compound interest on Rs. 30,000 at 7% per
annum is Rs. 4347. The period (in years) is:

Solution: Amount = Rs. (30000 + 4347) = Rs. 34347.

Let the time be n years.
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Then, 30000( 14— | —34347
100

N (@]n 34347 11449 (ET
100 30000 10000 \100

..n = 2 years.

Exercise:

1. What will be the compound interest on a sum of Rs. 25,000
after 3 years at the rate of 12% p.a.?

(@) Rs. 9000.30 (b) Rs. 9720

(c) Rs. 10123.20 (d) Rs. 10483.20

2. At what rate of compound interest per annum will a sum of
Rs. 1200 become Rs. 1348.32 in 2 years?

(a) 6% (b) 6.5% (c) 7% (d) 7.5%

3. The least number of complete years in which a sum of

money put out at 20% compound interest will be more than
doubled is:

(a) 3 (b) 4 (©) 5 (d) 6
4. Albert invested an amount of Rs. 8000 in a fixed deposit

scheme for 2 years at compound interest rate 5% p.a. How
much amount will Albert get on maturity of the fixed deposit?

(a) Rs. 8600 (b) Rs. 8620
(c) Rs. 8820 (d) None of these

5. The effective annual rate of interest corresponding to a
nominal rate of 6% per annum payable half-yearly is:

(a) 6.06% (b) 6.07% (c) 6.08% (d) 6.09%
6.Simple interest on a certain sum of money for 3 years at 8%
per annum is half the compound interest on Rs. 4000 for 2
years at 10% per annum. The sum placed on simple interest
is:
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(@) Rs. 1550 (b) Rs. 1650 (c) Rs. 1750 (d) Rs. 2000

7. If the simple interest on a sum of money for 2 years at 5%
per annum is Rs. 50, what is the compound interest on the
same at the same rate and for the same time?

(@) Rs. 51.25 (b) Rs. 52 (c) Rs. 54.25 (d) Rs. 60

8. The difference between simple interest and compound on
Rs. 1200 for one year at 10% per annum reckoned half-yearly
is:

(@ Rs.2.50 (b)Rs. 3 (c)Rs. 3.75 (d)Rs. 4

9. The difference between compound interest and simple
interest on an amount of Rs. 15,000 for 2 years is Rs. 96.
What is the rate of interest per annum?

(@8 (b)10 (c) 12 (d) Cannot be determined
10. The compound interest on a certain sum for 2 years at
10% per annum is Rs. 525. The simple interest on the same
sum for double the time at half the rate percent per annum
is:

(a) Rs. 400 (b) Rs. 500 (c) Rs. 600 (d) Rs. 800

Answers:

1)C|2)A|3)B|4)cC|5 |6 C|7)A|8B|9A,|I1l0)

True Discount

Important Facts & Formula

The amount of interest that is saved after the payment of
present worth is described as the true discount. It can also be
seen as the difference between the total amount and the
present worth. In this field, the amount is the value after the

interest is added to the present value.
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True discount can be effectively understood by the
formula, True discount = S - P.

True Discount (T.D) = Amount(A) — Present Worth(P.W)
TRUE DISCOUNT (T.D) = (P.W X Duration(N)x Rate(R)/100
True Discount (T.D) = (Amount(A) X Duration(N) X
Rate(R))/(100+ (Duration(N)x Rate(R)))

Solved Problems
Example 1:
The profit earned by selling an article for Rs 900 is double the
loss incurred when the same article is sold for Rs.490. At
what price should the article be sold to make 25% profit?
Solution: Let C.P be Rs. x
900 - x = 2(x - 450) = x = Rs.600
C.P = 600 gain required is 25%
S.P = [(100+25) x 600] / 100 = Rs.750

Example 2:

Suppose on Rs. 260 currently, the true discount is Rs. 20
after some time. Find out what will be the true discount on the
same amount of money due after the passage of a quarter of
the time. The rate of interest, in this case, remains the same.
Solution: The formula to calculate the true discount directly
is,

True discount = Rate X amount X time/(100 + (time X rate)

Thus, it becomes 20 = rate X time X 260/100 + (rate X time)
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= RT = 100/12.

T
So, required sum true discount = 260 X R X $+¥ =
ﬂ
X 12
260 (400 +22%)

= 269/49 = Rs. 5.3

Example 3:

Calculate the present worth of R.s 20,000 due 2 years and
at the rate of interest of 10% per annum.
Solution: In the question, the given data is:
Amount (A)= 20,000

Duration (N) = 2 years

Rate of Interest (R) = 10%

Present Worth (P.W) = ?

We know that - T.D =A-P.W
A=PW+T.D

So, for calculating True Discount (T.D)
T.D=(P.WxNx R)/100

T.D = (P.W x 2x 10)/100 = P.W/5
so,A=P.W+P.W /5=6 x P.W/5

PW=5 x% = (5 x 20,000)/6 = Rs 16,666.66
Principal Worth (P.W) is 16,666.66
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Example 4:

Calculate the % rate of interest for an amount of Rs10,000
due 6 months and the true discount hence is Rs1000.
Solution: In the question, the given data is:

Amount (A)= 10,000

Duration (N) = 6 months = 6/12 year = 1/2 year

Rate of Interest (R) = ?

Now we know that

TD=A-PW

PW=A-TD

P.W =10,000 - 1000 = 9000

P.W = (100 x T.D)/(N x R)

50,9000 = (100 x 1000)/(1/2%R)

R = (200 x 1000)/9000

Rate of interest (R) = 22.22%

Exercise:

1. A man purchased a cow for Rs. 3000 and sold it the same
day for Rs. 3600, allowing the buyer a credit of 2 years. If the
rate of interest be 10% per annum, then the man has a gain
of:

(@) 0% (b) 5% (c) 7.5% (d) 10%

2. The true discount on Rs. 2562 due 4 months hence is Rs.

122. The rate percent is:
(@) 12% (b) 13 %% (c) 15% (d) 14%
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3. A trader owes a merchant Rs. 10,028 due 1 year hence.
The trader wants to settle the account after 3 months. If the

rate of interest 12% per annum, how much cash should he

pay?
(a) Rs. 9025.20 (b) Rs. 9200
(c) Rs. 9600 (d) Rs. 9560

4. If Rs. 10 be allowed as true discount on a bill of Rs. 110
due at the end of a certain time, then the discount allowed on
the same sum due at the end of double the time is:

(@) Rs. 20 (b) Rs. 21.81 (c¢) Rs. 22 (d) Rs. 18.33

S. Goods were bought for Rs. 600 and sold the same for Rs.
688.50 at a credit of 9 months and thus gaining 2% The rate
of interest per annum is:

@ 162% () 141% (o) 131% (d) 15 %
3 2 3

6. The true discount on a bill due 9 months hence at 16% per
annum is Rs. 189. The amount of the bill is:

(a) Rs. 1386 (b) Rs. 1764

(c) Rs. 1575 (d) Rs. 2268

7. A man buys a watch for Rs. 1950 in cash and sells it for
Rs. 2200 at a credit of 1 year. If the rate of interest is 10% per
annum, the man:

(a) gains Rs. 55 (b) gains Rs. 50

(c) loses Rs. 30 (d) gains Rs. 30

8. The true discount on Rs. 1760 due after a certain time at
12% per annum is Rs. 160. The time after which it is due is:

(a) 6 months (b) 8 months (c) 9 months (d) 10 months
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9. The present worth of Rs. 2310 due 2 1 years hence, the

2
rate of interest being 15% per annum, is:
(@) Rs. 1750 (b) Rs. 1680
(c) Rs. 1840 (d) Rs. 1443.75

10. Rs. 20 is the true discount on Rs. 260 due after a certain
time. What will be the true discount on the same sum due

after half of the former time, the rate of interest being the

same?

(@) Rs. 10 (b) Rs. 10.40 (c)Rs. 15.20 (d) Rs. 13

Answers:

1)A | 2)c | 3)B | 4) 5)A|6)B|7)B|8) 9)B | 10)
D D B

Calendar

Important Facts

1. Odd Days:

We are supposed to find the day of the week on a given date.
For this, we use the concept of 'odd days'.

In a given period, the number of days more than the complete
weeks are called odd days.

2. Leap Year:

(i) Every year divisible by 4 is a leap year, if it is not a
century.

(i) Every 4thcentury is a leap year and no other century is a
leap year.

Note: A leap year has 366 days.
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i.  Each of the years 1948, 2004, 1676 etc. is a leap year.

ii. Each of the years 400, 800, 1200, 1600, 2000 etc. is a
leap year.

iii. None of the years 2001, 2002, 2003, 2005, 1800, 2100 is
a leap year.

3. Ordinary Year:

The year which is not a leap year is called an ordinary
year. An ordinary year has 365 days.

4. Counting of Odd Days:
1. 1 ordinary year = 365 days = (52 weeks + 1 day.)
1 ordinary year has 1 odd day.
2. 1 leap year = 366 days = (52 weeks + 2 days)
1 leap year has 2 odd days.
3. 100 years = 76 ordinary years + 24 leap years
= (76 x 1 + 24 x 2) odd days = 124 odd days.
= (17 weeks + days) 5 odd days.
Number of odd days in 100 years = 5.
Number of odd days in 200 years = (5 x 2) = 3 odd days.
Number of odd days in 300 years = (5 x 3) = 1 odd day.
Number of odd days in 400 years = (5 x4 + 1) = 0 odd day.

Similarly, each one of 800 years, 1200 years, 1600 years,
2000 years etc. has O odd days.

Mapping of the number of odd day to the day of the week

Num
ber
of 0 1 2 3 4 5 6
Oodd
Days

Day
of Sund | Mon | Tues | Wednes | Thurs | Frid | Satur
the ay day day day day ay day
week
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Last day of a century cannot be Tuesday or Thursday or
Saturday.

For the calendars of two different years to be the same, the
following conditions must be satisfied.

1. Both years must be of the same type. i.e., both years must
be ordinary years or both years must be leap years.

2. 1stJanuary of both the years must be the same day of the
week.

Solved Problems

Example 1: It was Sunday on Jan 1, 2006. What was the day
of the week Jan 1, 20107

Solution: On 31stDecember, 2005 it was Saturday.

Number of odd days from the year 2006 to the year 2009 = (1
+1+2+1)=>5days.

On 31stDecember 2009, it was Thursday.
Thus, on 1stJan, 2010 it is Friday.

Example 2: What was the day of the week on 28tMay, 2006?

Solution: 28 May, 2006 = (2005 years + Period from 1.1.2006
to 28.5.2000)

0Odd days in 1600 years = 0
0Odd days in 400 years = 0

S years = (4 ordinary years + 1 leap year) = (4x1+1x2) 6
odd days

Jan. Feb. March April May

B1+ 28 + 31 + 30 + 28)=148 days

148 days = (21 weeks + 1 day) 1 odd day.

Total number of odd days = (0+0+ 6 + 1) =7 O odd day.
Given day is Sunday.
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Example 3: What was the day of the week on 17thJune,
1998?

Solution: 17thJune, 1998 = (1997 years + Period from
1.1.1998 to 17.6.1998)

0Odd days in 1600 years = 0
0Odd days in 300 years = (5 x 3)=1
97 years has 24 leap years + 73 ordinary years.

Number of odd days in 97 years (24 x 2 + 73) = 121 = 2 odd
days.

Jan. Feb. March April May June

31+ 28 + 31 + 30 + 31 + 17)= 168 days
168 days = 24 weeks = 0 odd day.

Total number of odd days = (0 + 1 +2 + 0) = 3.

Given day is Wednesday.

Example 4: What will be the day of the week 15thAugust,
2010?

Solution: 15thAugust, 2010 = (2009 years + Period 1.1.2010
to 15.8.2010)

0Odd days in 1600 years = 0
0Odd days in 400 years = 0

9 years = (2 leap years + 7 ordinary years) = (2x2 +7 x 1) =
11 odd days 4 odd days.

Jan. Feb. March April May June July Aug.

81+ 28 + 31 + 30 + 31 +30 +31 +15)=227 days
227 days = (32 weeks + 3 days) 3 odd days.

Total number of odd days = (0 +0+4 + 3) =7 0 odd days.

Given day is Sunday.
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Example5: Today is Monday. After 61 days, it will be:
Solution: Each day of the week is repeated after 7 days.
So, after 63 days, it will be Monday.

After 61 days, it will be Saturday.

Exercise:

1. If 6thMarch, 2005 is Monday, what was the day of the week
on 6tMarch, 2004?

(a) Sunday (b) Saturday

(c) Tuesday (d) Wednesday

2. On what dates of April, 2001 did Wednesday fall?

(@) 1st, 8th, 15th, 22nd, 2Qth (b) 2nd, Oth 16th, 23rd, 30th

(c) 3rd, 10th, 17th D4th (d) 4th, 11th 18th 2 5th
3. How many days are there in x weeks x days?

() 7x2 (b) 8x (c) 14x (d) 7
4. The last day of a century cannot be

(a) Monday (b) Wednesday

(c) Tuesday (d) Friday

S. On 8th Feb, 2005 it was Tuesday. What was the day of the
week on 8th Feb, 2004?

(a) Tuesday (b) Monday
(c) Sunday (d) Wednesday

6. The calendar for the year 2007 will be the same for the
year

(@) 2017 (b) 2018 (c) 2014 (d) 2016
7. Which of the following is not a leap year?
(@) 1200 (b) 800 (c) 700 (d) 2000
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8. 01-Jan-2007 was Monday. What day of the week lies on
01-Jan-2008?

(a) Wednesday (b) Sunday
(c) Friday (d) Tuesday

9. 8th Dec 2007 was Saturday, what day of the week was it on
8thDec, 2006?

(@) Sunday (b) Tuesday (c) Friday (d) Tuesday

10. On 8th Feb, 2005 it was Tuesday. What was the day of the
week on 8thFeb, 20047

(@) Sunday (b) Friday (c) Saturday (d) Monday

Answers:

HA |2)D|3)B|4cC|5C|6B|7c|8D|9c|10)

Clocks

Important Facts & formula

Angle equivalence of a minute

The table given below demonstrates the angular values of the

first ten minutes:

‘Minute(s)HAngular valuesH
1 6° |
2 j12° H
3 18° |
4 24 |
E 30° |
6 36° |
7 420 |
8 48° |
9 54° |
10 60° |
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Speed of the hands

A clock has three hooks and all three move at different rates.
The speed of moving object depends on the distance travelled
and the time taken to cover a specific range.

The speed is calculated by:

Speed = Distance/(Time taken)

The speed of a minute hand:

A minute hand travels 360°in one hour. i.e. it travels
through all the 12 divisions around the clock every hour. (1
hour = 60 minutes)

Speed of a minute hand = (360°) /(60 minutes)

Speed of a minute hand = 6° per minute.

The speed of an hour hand:

An hour hand travels 30° in an hour. i.e. it covers a distance
of 5 minutes (the gap between consecutive divisions) in 60
minutes.

Speed of an hour hand = (30°)/(60 minutes)

Speed of an hour hand =1/2 ° per minute.

Comparison of Speed of hands

The difference in the speed = 6°- (1/2°) = 5.5° per minute
Comparing the speed of the minute hand and an hour hand,
one can conclude that the minute hand is always faster than
the hour hand by 5.5° or an hour hand is always slower than

the minute hand by 5.5°
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Note: The evaluation of the speed of second hands is not

necessary as it travels a corresponding distance of 1 second

in a second.

Frequency of coincidence and collision of hands of a

clock:

As we know the hands of clock moves at different speeds,

they coincide and collide and also make different angle

formations among themselves at various times in a day.
Solved Problems

Example 1: An accurate clock shows 7 a.m. Through how

many degrees will the hour hand rotate when the clock shows

1 p.m.?

Solution: We know that angle traced by hour hand in 12 hrs.

= 360°

From 7 to 1, there are 6 hours.

Angle traced by the hour hand in 6 hours =6x(360/12)=180°

Example 2: By 20 minutes past 4, the hour hand has turned

through how many degrees? If then the clock is 12 p.m.

Solution: At 4 o’clock the hour hand is at 4 and has an angle

of 30°x4=120°

An Hour hand travels 1/2° per minute In 20 minutes it will

travel 20 x(1/2°) = 10°.

Adding both we get 120° + 10° = 130°

Example 3: At what time between 5.30 and 6 will the hands

of a clock be at right angles?

Solution: Given: H = 5 and A = 90, since 5 and 6 lies in the

first half, a positive sign is considered.
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T =2/11 [Hx30£A]

T=2/11[5%30+90]

T=2/11[240]=480/11=43(7/11)

Example 4: What is the angle between the minute hand and
the hour hand of a clock at 5.30?

Solution: At 5 ‘o’clock the hour hand is at 5 and hence has
made 30° angle.

From 5 to 5.30 its will travel for 30 minutes with a speed of
° Therefore the total distance travelled will be 30 minutes*
1/2=15°

The full angle made by the hour hand will be 150°+15° =
165°.

The minute hand at 5 o’clock is at 12, and hence the angle
made is zero. In 30 minutes, it will travel a distance of 30
minutes with a speed of 6° per minute. Therefore, the total
distance travelled will be 30 minutes*6° = 180 °.

The angle between the minute and hour hand is 180 - 165 =
15

Example 5: A house has two wall clocks, one in kitchen and
one more in the bedroom. The time displayed on both the
watches is 12.A.M right now. The clock in the bedroom gains
five minutes every hour, whereas the one in the kitchen is
slower by five minutes every hour. When will both the
watches show the same time again?

Solution: The faster clock runs 5 minutes faster in 1 hr.
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The slower clock runs 5 minutes slower in 1 hr.

Therefore, in 1 hour, the faster clock will trace 5+5=10 min
more when compared to the slower clock.

In 6 hours, the faster clock will trace 10x6=60 minutes (an
hour) more when compared to the slower clock.

In 6x12=72 hours, the faster clock will trace an hour more
when compared to the slower clock since the quicker clock
determines 12 hours more than, the slower clock. At this
point, both the clocks will show the same time. i.e., both the
clocks will show the same time after exactly 72 hours (or 3

days).

Exercise:
1. In a clock, the time is 3.25.What is the angle between the

hour hand and the minute hand of the clock:

(@) 95/2 degrees (b) 90/3 degrees

(c) 94/3 degrees (d) 95/3 degrees

2. How many times do the hands of a clock coincide in a day?
(a) 20 (b) 21 (c) 22 (d) 24

3. At what time between 1 and 2 o’ clock will the hands of a

watch makes an angle of 180°
(a) 35 (%) min. past 1 (b) 40 min. past 1
4 . 2 :
(c) 50 (H) min. past 1 (d) 38 (H) min. past 1

4. At what time between 6 and 7 are the hands of a clock 8
minutes apart?

(@) 24 min past 6 (b) 21 min past 6

(c) 18min past 6 (d) 20 min past 6
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5. The minute hand of a clock overtakes the hour hand at
intervals of 64 minutes of correct time. How much does the

clock gain or lose in 12 hours?
(a) 16( ) min (b) 16( ) min

(c) 16( ) min (d) 16( ) min
6. Find the time between 3 and 4 will the hands of a watch
point in the opposite direction?

(@) 49( ) min past 3 (b) 49( ) min past 3

(c) 49 ( ) min past 3 (d) 49( ) min past 3
7. At what time between 5 and 6 pm will the hands of a clock
be coincident?

(@) 21( ) min past 4 (b) 32( ) min past 5

(o) 21( ) min past 4 (d) 21( ) min past 4
8. The minute hand of a clock overtakes the hour hand at
intervals of 63 minutes of correct time. How many minutes in

a day does the clock lose or gain?
(a) 58 (= )min (b) 54 (=)min

(c) 55( )1’1’111’1 (d) 56( )mm

9. A watch which gains uniformly is 6 min slow at 5 p.m. on
Monday. On the following Monday at 9 am, it was 10 min 40
seconds fast. When was it correct?

(@) 8 : 36 pm. on Thursday (b) 2 : 36 am on Thursday

(c) 2 : 36 pm. on Thursday (d) 8 : 36 am on Thursday
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10. At what angle are the hands of a clock inclined at 30

minutes past 8?

(@) 95° (b) 75° (c) 92° (d) 97.5°

Answers:

1)A |2)C | 3) 4HYA |5 B|6)A |7)B |8 9)B | 10)
D D B

Data Interpretation

Important Facts & Formulae

Bar Graph: In Bar Graph, data is represented as horizontal or
vertical bars. One of the parameters is given on the x-axis and
other on y-axis. Here we need to understand the given
information and thereafter answer the given questions. A bar
graph or a bar chart presents the grouped data with the help
of rectangular bars. These bars are either horizontal or
vertical and their lengths are proportional to the value that
they represent.

There are 2 axes in the graph in which one represents
particular categories being compared and the other axis
shows a discrete value. Those bar graphs in which clustered
groups of more than one bar are presented are known as
grouped bar graphs, and, bar graphs in which bars are
divided into sub-parts to show cumulative effect are known as

cumulative bar graphs or stacked bar graphs.
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Solved Example

Example 1: The bar-graph gives the sales of books (in
thousand numbers) from six branches of a publishing
company during two consecutive years 2000 & 2001. Based
on bar-graph.

Sales of Books (in thousand numbers) from six Branches -
B1,B2, B3, B4, B5 & B6 of a publishing company in 2000

& 2001

120
100
80 -
60 -
40 -
20 -

= 2000
m 2001

o
I

B1 B2 B3 B4 B5 B6

Branches

Sales (in thousand numbers)

1. What is the Total sales of branches B1, B3 & B5 together
for both the years (in thousand numbers).
Solution: Total sales of branches B1l, B3 & B5 for both the
years = (80+105)+(95+110)+(75+95)

=560.
2. Total sales of branches B6 for both the years is what
percent of the total sales of branch B3 for both the years ?
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70+80
95+110

150
205

Solution: Required percentage = [ xlOO]%=(

100) % = 73.17%

3. What is the average sale of all the branches for the year
20007

Solution: Average sales of all the six branches for the year
2000=%><[180+75+95+85+75+70]

=80
4. What is the ratio of the total sales of branch B2 for both

years to the total sales of branches B4 for both years ?

. . . 75+65 140 7
Solution: Required ratio = ——=—=-
85+95 180 9

S. What percent of the average sales of branches B1, B2 & B3
in 2001 is the average sales of branches B1, B3 & B6 in 2000
?

Solution: Average sales of branches B1 B3 & B6 in 2000 =
1 245

2% (80 +95 +70) = ()

Average sales of branches B1l, B2 & B3 in 2001 =§>< (105 +

280

65 + 110) = (T)
245

~ Required percentage = [% X 100] % = (zigz X 100) % = 87.5%.

3

Exercise:

Directions (Q.no 1 to 5) : A Cosmetic company produces five
different products. The sales of these five products (in lakh
number of packs) during 1995 & 2000 are shown in the
following bar-graph. The question given below are based on

this graph.
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Sales (in lakh number of packs) of five different products

of a cosmetic company during

1995 & 2000
60
50
40
s 30
° 20
8 10
E o
=)
N =
~ (8]
s 3
£
e
(]
<
(7]
= 1995 m 2000

1. The Sales have increased by nearly 55% from 1995 to 2000
in the case of :

(a) Lipsticks (b) Nail enamels

(c) Talcum powders (d) Shampoos

2. During the period 1995-2000, the minimum rate of
increase in sales is in the case of :

(a) Lipsticks (b) Nail enamels

(c) Talcum powders (d) Shampoos

3. The sales of lipsticks in 2000 was by what percent more
than the sales of nail enamels in 2000 ? (rounded off to the
nearest integer)

(a) 33% (b) 31% (c) 28% (d) 22%
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4. The sales of conditioners in 1995 was by what percent less
than the sales of shampoos in 1995 ? (rounded off to the
nearest integer)

(@) 57% (b) 36% (c) 29% (d) 25%

5. What is the approximate ratio of the sales of nail enamels
in 2000 to the sales of Talcom powders in 1995 ?

(@ 7:2 (b)5:2 (c)4:3 d2:1

Directions (Q.no 6 to 10) : The bar-graph given below shows
the percentage distribution of the total production of a car
manufacturing company into various models over two years.
Study the graph carefully and answer the questions that

follow.

Percentage of six different types of cars manufactured by

a Company over two years

100% -

90% -
80% - uU

70% -
60% - mT
50% - =S

40% -
30% - =R
20% - =Q

10% -
0% - mP

2000 Total Number of Cars 2001 Total Number of Cars
produced = 3,50,000 Produced = 4,40,000

V.H.N.Senthikumara Nadar College (Autonomous), Virudhunagar. 96



Employability Skills Unit - 11

6. Total number of cars of models P, Q & T manufactured in
2000 is :

(a) 2,45,000 (b)2,27,500 (c)2,10,000 (d) 1,92,500

7. For which model the percentage rise / fall in production
from 2000 to 2001 was minimum ?

(@) Q (b) R (€ S (d T

8. What was the difference in the number of Q type cars
produced in 2000 & that produced in 2001 ?

(a) 35,500 (b) 27,000 (c) 22,500 (d) 17,500

9. If the percentage production of P type cars in 2001 was the
same as that in 2000, then the number of P type cars
produced in 2001 would have been:

(@) 1,40,000 (b) 1,32,000

(c) 1,17,000 (d) 1,05,000

10. If 85% of the S type cars produced in each year were sold

by the Company, how many S type cars remained unsold ?

(a) 7650 (b) 9350 (c) 11,850 (d) 12,250

Answers:

1)D|2)D|3)C |4)B|5B|6C|7)B|8A|9B|10)
C

Pie — Chart :

The pie-chart or a pie graph is a method of representing a

given numerical data in the form of sectors of a circle.
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The sectors of the circle are constructed in such a way that
the area of each sector is proportional to the corresponding
value of the component of the data.

From geometry, we know that the area of the sector of a circle
is proportional to the corresponding value of the component.

Since the sum of all the central angles is 360°, we have

! h
Central angle of the component = (Va ue of the component

Total value

x 360)°

Solved Example
Example 1: The following Pie-chart shows the sources of
funds to be collected by the national highways authority of
India (NHAI) for its Phase II projects. Study the pie-chart and

answer the questions that follow.

SOURCES OF FUNDS TO BE ARRANDED BY NHAI FOR
PHASE II PROJECTS (IN CRORES RS.)
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Annuity,
6000

Toll, 4910

Market
Borrowing
29,952

External
Assistance
11,482

Total funds to be arranged for projects (Phase II) = Rs. 57,600
crores.
i. What is Near about 20% of the funds are to be arranged
through.
Solution: 20% of the total funds to be arranged = Rs. (20% of
57600) crores

= Rs. 11520 crores = Rs. 11486 crores.
Rs. 11486 crores is the amount of funds to be arranged
through External Assistance.
ii. What is the central angle corresponding to market
Borrowing.

Solution: Central angle corresponding to market Borrowing =

(ﬂ x 360°) = 187.2°.
57600

iii. What is the approximate ratio of the funds to be arranged

through Toll and that through Market Borrowing.
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4910 1 _ 1

29952 61 6

Solution: Required ratio =

iv. If NHAI could receive a total of Rs. 9695 crores as External
Assistance, by what percent (approximately) should it
increase the Market Borrowing to arrange for the shortage of
funds ?
Solution: Shortage of funds arranged through External
Assistance = Rs. (11486 — 9695) crores

= Rs. 1791 crores.

~ Increase required in Market Borrowings = Rs. 1791 crores

Percentage increase required = (% X 100) % = 5.98% = 6%.

v. If the too is to collected through an outsourced agency by
allowing a maximum 10% commission, how much amount
should be permitted to be collected by the outsourced agency,
so that the project is supported with Rs. 4910 crores ?
Solution: Amount permitted =(Funds required from toll for
projects of Phase II)+(10% of these funds)

= Rs. 4910 crores + Rs.(10% of 4910) crores

= Rs. (4910 +491) crores = Rs. 5401 crores.
Exercise:
Directions (Q.no 1 to 9) : The following pie-chart shows the
percentage distribution of the expenditure incurred in
publishing a book. Study the pie-chart and answer the

questions based on it.

I ——————
V.H.N.Senthikumara Nadar College (Autonomous), Virudhunagar.
100



Employability Skills Unit - 11

VARIOUS EXPENDITURES (IN PERCENTAGE) INCURRED
IN PUBLISHING A BOOK

® Royalty

H transportattion
cost

H promotion cost

® Binding

M paper cost

m printing cost

1. what is the central angle of the sector corresponding to the
expenditure incurred on royalty ?

(a) 15° (b) 24° (c) 54° (d) 48°

2. Which two expenditures together have a central angle of
180° ?

(a) Binding cost & transportation cost

(b) Printing cost & paper cost

(c) Royalty & promotion cost

(d) Binding cost & paper cost

3. If the difference between the two expenditure are
represented by 18° in the pie-chart, then these expenditures
possibly are :

(a) Binding cost & promotion cost
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(b) Paper cost & Royalty

(c) Binding cost & printing cost

(d) Paper cost & printing cost

4. If for an edition of the book, the cost of paper is Rs. 56250,
then the promotion cost for this edition

(@) Rs. 20,000 (b) Rs. 22.500

(c) Rs. 25,500 (d) Rs. 28,125

S. If for a certain quantity of books, the publisher has to pay
Rs. 30,600 as printing cost, then what will be the amount of
royalty to be paid for these books ?

(@) Rs. 19,450 (b) Rs. 21,200

(c) Rs. 22,950 (d) Rs. 26,150

6. The price of the book is marked 20% above the C.P. if the
marked price of the book is Rs. 180, then what is the cost of
the paper used in a single copy of the book ?

(@) Rs. 36 (b) Rs. 37.50 (c) Rs. 42 (d) Rs. 44.25

7. For an edition of 12,500 copies, the amount of royalty paid
by the publisher is Rs. 2,81,250. What should be the selling
price of the book if the publisher desires a profit of 5% ?

(@) Rs. 152.50 (b) Rs. 157.50

(c) Rs. 162.50 (d) Rs. 167.50

8. If 5500 copies are published & the transportation cost on
them amounts to Rs. 82,500, then what should be the selling
price of the book so that the publisher can earn a profit of
25% ?

(a) Rs. 187.50 (b) Rs. 191.50

(c) Rs. 175 (d) Rs.180
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9. Royalty on the book is less than the printing cost by :
(@) 5% (b) 33:% (c) 20% (d) 25%

Answers :

1)C [2)A [3)D [4B [5¢C [6)B [7)B [8A |9 D
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UNIT - III
[VERBAL REASONING - I

Analogy - Classification — Series - Coding & Decoding - Coded

inequality - Blood relations - Direction sense test.

ANALOGY

‘ANALOGY’ questions demand you to determine the relationship
or correspondence between the two words or numbers in pair an
then to recognize a similar relationship between the numbers of a
different pair of words. Analogy tests are, therefore, meant to test
a candidate’s overall knowledge, power of reasoning and ability to
think accurately. Given below are some common relationships
which will help the candidate detect most analogies in a better
way.

A. WORD ANALOGY.

Examples:
1. Car:Garage : : Aeroplane : ?
(a) Port (b) Depot (c) Hanger (d) Harbour

Explanation:Car is temporarily parked in the Garage and
Aeroplane is parked in a Hanger. So the answer is (c)

2.Ship : Sea :: Camel : ?

(a) Forest (b) Land (c) Mountain (d) Desert
Explanation: Ship is the means of transport in sea whereas camel
is the means of transport in desert, so the answer is (d)

B. ALPHABET ANALOGY

Examples:
1.DDA : ADD :: RRB : ?
(& RBR (b) BRB (c) BRR (d) RBB
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Explanation: The letters are being reversed, so the answer is BRR
i.e. (c)

2. ACFJ is related to ZXUQ in the same way as EGJN is related

() DBYU (b) VITQM (c) VTRP (d) VUSQ
Explanation: A, C, F, J are 1st, 3rd) 6th and 10t letters from the
start of alphabets whereas Z, X, U, Q are the 1st, 3rd, 6th and 10tk
letters from the end. In the same way EGJN are related to VTQM.
The answer is (b)

C. NUMBER ANALOGY

Examples:
1.9 : 8 :: 7 : ?
(a) 48 (b) 50 (c) 78 (d) 82

Explanation: The logic is x : (X2 - 1) So the missing number is 72
- 11i.e. 48. The correct choice is (a)

2.372 : 124 = ? : ?

(@ 81:243 (b) 900:450 (c) 624 :208 (d) 513:161
Explanation: In the given pair, first number is three times the
second. So 624 is three times 208. Hence, the answer is (c)

EXERCISE
Direction 1-5:Choose the correct one answer for the following
Analogy type questions.

1. Calendar : Dates :: Dictionary : ?

(a) Vocabulary (b) language (c) Words (d) Book

2. Neck is related to Tie in the same way as waist is related to ....?
(a) Watch (b) Belt () Ribbon (d) Shirt

3. Water is related to Ice in the same way as Lava is related to

(a) Rock (b) Ash (c) Flake (d) Peeble.

4. Which number is like the given set of numbers? (11, 7, 13)

(@ 9 (b) 17 (c) 12 (d) 25
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S. Which set of numbers is like the given set -
(64, 32,8) ?
(@) (125, 25,5) (b) (81,27,3) (c)(56,28,7) (d) (112,56, 16)

Solution with Explanation:
1. (c) Calendar is a list of dates and dictionary is a collection of
words.

2. (b) Tie is worn in the neck and belt is worn on the waist.
3. (a) water solidifies to become ice and lava into rock (mainly)

4. (b) All the numbers in a set are prime numbers. So 17 is a
prime number.

S. (¢) In the given set, first numbers is divided by 2 to get the
second and second is divided by 4 to get the third number.

CLASSIFICATION

‘Classification’ means to select the items of a given group on the
basis of certain common quality they possess and then spot the
stranger aside.

1. WORD CLASSIFICATION

In this type test, we are given a group of certain items in the form
of words or numbers/pair of numbers, out of which all except one
are of similar nature to one another in some manner. The
candidate is required to choose this one time which does not fit
into this group.

Examples:

1. (a) Ear (b) Lung (c) Eye (d) Heart
Explanation: All except Heart are the parts of the human body in
a pair whereas Heart is a single one. The answer is (d)
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2. (@) Rose (b) Lotus (c) Marigold (d) Lily
Explanation: Here, all except Lotus are flowers that grow on land
whereas Lotus is a water-flower. Hence, (b) is the answer

2- ALPHABET CLASSIFICATION
A B C D E F G H
U

I J K L M
N O P Q R S T V W X Y 2z
In this type of question, usually five groups of letters are given.
Four of them are similar to each other in same manner and one is
different. Choose the group of letters which is different from

others.

Examples:

l1.(a) FH (b) IK (c) PN (d) SuU

Explanation: Here all other groups expect PN, consist of two
alternate letters in order, while (c) is in the reverse order. Hence,
the answer is (c)

2.(a) ABD (b) HIK (c) VWN (d) QRT
Explanation: Expect VWZ, all other groups consist of three letters
in which first two are consecutive letters and the third one is one
step forward of the second letter. In VWZ, there are two steps
forward between second and third letters. Thus, the answer is (c)

3 - NUMBERICAL CLASSIFICATION

In this type of questions, certain numbers are given out of which
all expect one is alike in some manner while one is different and
this number is the answer. Choose the one which is different from
the other.

Examples:

1. (@) 11 (b) 13 (c) 15 (d) 17

Explanation: 15 is not a prime number, while rests are prime
number. Hence, the answer is (c)
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2.(a) 8 (b) o4 (c) 125 (d) 28
Explanation: All except 28 are prefect cubes on some number. So
the answer is (d)

4. NUMBERICAL PAIR CLASSIFICATION

In this type of questions, certain pairs of numbers are given out of
which all expect one are similar in some manner while one is
different. The numbers in these similar pairs may have the same
property or may be related to each according to the same rule.
The candidate is required to choose the odd pair. Choose the
numeral pair which is different from others.

Examples:

1. (@ 42-4 (b) 36-6 (c) 32-2 (d 15-5
Explanation: In all other pairs except (a), the second number
divides thefirst completely. So (a) is the answer.

2.(a) 13-21 (b) 19-27 (¢ 15-23 (d) 16-24
Explanation: Difference of two numbers is 8 in each pair, but
except (d), others contain odd numbers. Hence, (d) is the answer.

EXERCISE
Direction 1-10: Choose the correct one answer for the following
classification type questions

1. (a) Carrot (b) Potato (¢) Tomato (d) Ginger
2. (a) Shoulder (b) Foot (c) Elbow (d) Arm
3.(a) CFIL (b) PSVX (c) JMPS (d) ORUX
4. (a) CZHK (b) MLAG (c) XUBU (d) SENO
5. (a) 119 (b) 136 (c) 147 (d) 153

6. () 385 (b) 572 (c) 671 (d) 427
7.(a) 263 (b) 111 (c) 242 (d) 383

8.(a) 70-80 (b) 54-62(c) 28-32 (d) 21-24
9.(a) 7-18 (b) 9-26 (c) 11-36 (d) 13-42
10.(a) 24-21 (b) 46-32(c) 62-23 (d) 84-24
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Solution with Explanation:

1. (¢) Here, all except Tomato grow underground.

2. (b) All except Foot are the parts of the hand.

3. (b) In all other groups, expect PSVX, each letter move three

steps forward to obtain the next letter.

. (c) Here XUBU is the only group in which a letter is repeated.

S. (a) Only 119 has different factors 7 and 17 and no factor is
repeated.

6. (d) The middle digit is sum of the other two. This property is
not satisfied in (d)

7. (d) Except (d), all other satisfy the property: “Middle number is
the product of the other two”.

8. (b) In each of the pair except (b), the ratio of two numbers in a
pair is 7:8.

9. (c) Except in (¢) in all other pairs, 274 number = 4 times the
first minus 10 is the second number.

10. (c) Except (c), other pairs do have a common factor.

N

CODDING - DECODDING

A CODE is a system of given a signal and DECODING is a method
to decipher the CODE.

The Coding and Decoding Test is, therefore, to judge a candidate’s
ability to decipher the code language. While solving the problems
on coding — decoding, the English alphabets and their number
value helps the candidate’s performance.

A B C D E F
3 5 6

H I J K L M
1 2 4 8

9 10 11 12 13

N O P Q R S U vw X Y Z
14 15 16 17 18 19 20 21 22 23 24 25 26
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Examples:

1.If GIVE is coded as 5137 and BAT is coded as 924, how is GATE
coded?

(a) 427 (b) 2547 (c) 5247 (d) 5724
Explanation: Clearly it can be seen that G is coded as 5; Aas 2, T
as 4 and E as 7. So the code for GATE into is 5247. The correct
choice is (c)

2. If B=2, H=8 and CAB = 6, then what is the number value of
RACE?

(a) 31 (b) 30 (c) 28 (d) 27

Explanation: Clearly, in a given code. A =1, B =2, C = 3 etc. Now
CAB = 3+1+2=6. RACE = 18+1+3+5=27. Hence, the answer is (d)

3. In a certain code, 15789 is written as XTZAL and 2346 is
written as NPSU. How is 23549 written in that code?

(a) NPTUL (b) PNTSL (c¢) NPTSL (d) NBTSL (e) Road
Explanation: 237. Looking into the method of coding, it is clear
that 2 iscodedas N, 3 as P, 5as T, as S and 9 as L. So, 23549 is
coded as NPTSL. The answer is (c)

4. In a certain code, ROAD is written as URDG. How is SWAN
written in that code?

(a) VXDQ (b) VZDQ (c) UXDQ (d) vzZXO
Explanation: Clearly, in ROAD, each letter is moving 3 steps
forward to write URDG. So accordingly moving each letter of
SWAN 3 steps forward we can write it as VZDQ. So the answer is

(b)

S. If in a certain language REMOTE coded as ROTEME, which
word would be coded as PNIICC?

(a) NPIICC (b) PICCIN (c) PINCIC (d) PICNIC
Explanation: The groups of second and third letters; fourth and
fifth letters in the word interchange places in that code. Hence,
the word PICNIC would be coded as PNIICC. (d)
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EXERCISE

1. If in a certain language MYSTIFY is coded as NZTUJGZ, how is
NEMESIS coded in that language?

() MDLHRDR  (b) OFNFTJT (c) ODNHTDR (d) PGOKUGU

2. In a certain code language TAP is written as SZO, then in the
same code language, FREEZE is written as
(@ EQDFYG (b) ESDFYF (c) GQFDYE (d) EQDDYD

3. In a certain code SIKKIM is written as THLJJL. How is
TRAINING written in that code?
(a) SQBHOHOH (b) UQBHOHOF (c) UQBJOHHO (d) UQBJOHOH

3. In a certain code MENTION is written as LNEITNO. How is
PATTERN written in that code?
(@) APTTREM (b) PTAETNR (c) OTAETNR (d) OTAETRN

5. In a certain code, FORGE is written as FPTJ1. How is CULPRIT
written in that code?
(@) CSINPGR (b) CVMQSTU (c) CVNSVNZ (d) CXOSULW

6. In a certain language CARROM is coded as BZQQNL, which
word will be coded as HOUSE?
(@) IPVTF (b) GNTRD () INVRF (d) GPTID

7. In a certain language, NEOMAN is coded as OGRQFT, which
word will be coded as ZKCLUP?
(@) YJBKTO (b) XIZJSN (¢) YIZHPJ (d) YIAQKJ

8. If in a certain language, POPULAR is coded as QPQVMBS,
which word would be coded as GBNPVT?
(a) FAMOSU (b) FAMOUS (¢) FASOUM (d) FOSAUM
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9. If in a certain language, CALCUTTA is coded as GEPGYXXE
which word would be coded as FSQFCE?
(a) BOMBYA (b) BOMBAY (c) BOMYAB (d) BOBAYM

10. If in a certain language, MACHINE is coded as LBBIHOD,
which would be coded as SLTMFNB?
(8 RKSLEMA (b) TKULGMC (c)RMSNEOA (d)TMUNGOC

11. If in a certain language A is coded as 1, B is coded as 2, and
so on, how is BIDDIC coded in that code?
(a) 294493 (b) 284563 (c) 375582 (d) 394492

12. If PAINT is coded as 74128 and EXCEL is coded as 93596,
then how would you decode ACCEPT?
(@) 455978 (b) 547978 (c) 554978 (d) 735961

13. If D = 4, and cover = 63, then BASIS = ?
(a) 49 (b) 50 (c) 54 (d) 55

14. If PALAM could be given the code number 43, what code
number can be given to SANTACRUZ?
(a) 75 (b) 85 (c) 120 (d) 123

15. If Z = 52 and ACT = 48, then BAT will be equal to
(a) 39 (b) 41 (c) 44 (d) 46

Solution with Explanation:
1. (b) Each letter of the word MYSTIFY is moved one step forward
to obtain the corresponding letter of the code.

2. (d) Each letter in the given word is moved one step backward to
obtain the corresponding letter of the code.
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w

. (b) The letters in the given word are moved alternately one step
forward and one step backward to obtain the letters of the
code.

N

. (e) Clearly, to obtain the code, the first letter of the word one
step backward and the remaining letters are moved in
reverse order taking two at a time.

o

(c) First letter remains the same and other letters move one,
two, three and four steps forward to obtain the
corresponding letter of the code.

6. (a) Each letter of the word is one step ahead of the
corresponding letter of the code.

~

. (e) Clearly, the letters in the word are 1, 2, 3, 4, 5 and 6placces
before the corresponding alphabets in the given code.

00

. (b) Each letter of the word is one step behind the corresponding
letter of the code.

9. (a) Each letter of the word is four steps behind the
corresponding letter of the code.

10. (b) In the code, we have alternately on letter one step behind
and the other one step ahead of the corresponding letter in

the word.
11. (a)
12. (a)

13. (b) Clearly A= 1, B =2, C = 3 etc.
COVER = 3+15+22+5+18 = 63
BASIS = 2+1+19+9+19 = 50.
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14. (d) In the given code A =1, B=2, C = 3....... , Z=26
So PALAM = 16 +1+12+1+13= 43.
SANTACRUZ = 19 +1+14+20+1+3+18+21+26 = 123

15. (d)In the given code, A=2,B=4,C=6, ...... , Z =152
So ACT = 2+6+40 = 48
BAT = 4+2+40 = 46

CODED INEQUALITY

The questions based on inequality have to be solved with the help
of cracking the coding relationship between the given elements
but to make the questions more complex, a new pattern for
reasoning inequality questions has come up. For Examples,
Direct Questions — In direct questions, the candidates are given
the elements and the relationship between them is marked with
the help of the signs, <, >, =, etc. For Examples A>B=C<D Coded
Questions — The new format of inequality questions which is now
being asked in all major exams is that they denote each sing with
a symbol. For Examples, they may give “A@B, where @ means
that A is neither greater than nor equal to B”. In this case, the “=”
sign has been denoted with the “@” sign.

Direct Inequalities: In the Direct Inequality Questions, you are
given these signs <, >, <, 2, = and # directly. You have to arrange
these signs in a correct order according to the question or you
have to give a correct conclusion.

Directions: In these questions, a relationship between different
elements is shown in the statements. The statements are followed
by two conclusions. Give answer
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Examples. Statement: Q=2P=R2N<G=z2zE>S
Conclusions: .Q=2N II.R>E

A. If only conclusion I is true.

B. If only conclusion II is true.

C. If either conclusion I or II is true.

D. If neither conclusion I nor II is true.
E. If both conclusions I and II are true.

Explanation:

QzP=R2N<G=z2zE>S

Thus, Q = N is true. Hence, conclusion I is true. Again, we can'’t
compare R and E.

Hence, conclusion II does not hold true.

Hence, option A is correct.

Reverse Inequalities: In the Reverse Inequality questions, You
are given conclusions in questions and in answer you have to
choose right statement as a result it is a opposite of other
Inequality Questions.

Examples: In which of the following expressions 'W > Z' as well as
'Y > Z' hold definitely true?

A W>X>U=Z<H=<Y
B W=>2X=U>Z<H<Y
C.W=X>U=2Z<H<Y
D. All of the above

E. None of the above

Explanation:

In order to ensure the statement that holds ' W > Z'and 'Y > Z'
definitely true, we have to check all the options one by one.
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For option A

W>X>U=Z<H=<Y

Here, the common sign between W and Z is '>', thus it follows W >
Z.

The common sign between Z and Y is also '<', thus it follows Z <Y
orY > Z.

For option B:

W2X=U>Z<H<Y

Here also, the common sign between W and Z is '>', thus it follows
W > Z.

The common sign between Z and Y is also '<', thus it follows Z <Y
orY > Z.

For option C:

W=X>U=2Z<H<Y

Here again, the common sign between W and Z is '>', thus it
follows W > Z.

The common sign between Z and Y is also '<', thus it follows Z <
YorY >Z.

Since all the three expressions hold the given conclusions true,
option D "all of the above" is correct.

Hence option D is correct.

Indirect Symbol Inequalities: In the Indirect Symbol Inequality
Questions, you are given a relation, here relation refers to smaller
or greater relation among letters, numbers, symbols etc. And you
have to choose the right conclusion for the statement given in the
Inequality Question.

Coded Inequalities: In the Coded Inequality Questions, signs <, >,
<, 2, = and # are given in coded form. As a result, to solve them
you have to find out the correct code of signs.

Directions: Study the following information carefully and answer
the question given below.
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‘P % Q’ means P is not smaller than Q.’

‘P * Q’means P is neither greater than nor equal to Q.’

‘P & Q’ means P is neither smaller than nor equal to Q.’

‘P $ Q’ means ‘P is neither greater than nor smaller than Q.’
‘P © Q’ means ‘P is not greater than Q.’

Examples: Statements: DST, T%M M*J
Conclusions: 1.J6D II. M©OD

. if only conclusion I is true

. if only conclusion II is true

. if either conclusion I or II is true

. if neither conclusion I nor II is true
. if both conclusions I and II are true

HoOow»

Explanation:

As per the information given,
1.D$Tmeans D =T
2. T% M means T >2M
3. M*Jmeans M < J

So, the final equation will be,

Now, the Conclusion I. J 8 D means J > D
the Conclusion II. M © D means M < D

Let's check the Conclusions now,

Conclusion I :
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P FromlJto D
D2 T2 M« J

Can’t be compared

Conclusion II :

FromMto D
<

T=b
D =T=M < 1
M=<D

Hence, only Conclusion II is true.

Multiple Relation Inequalities: In Multiple Relation Inequality
Questions, they are quite similar to Indirect Symbol Inequality
but the difference among them is that greater or smaller relation
is given for multiple numbers, letters, symbols etc. And you have
to choose the right conclusion for the statement given in the
Inequality Question.

Directions: In these questions, relationship between different
elements is shown in the statement. The statements are followed
by two conclusions. Choose the correct answer on the basis of
information given below.

Examples: Statements: U>M2A=N<S, X=Nz2Q=Y>R
Conclusions: M >Y, M=Y

A. Both conclusions I and II follow

B. Either conclusion I or II follows

C. Only conclusion I follows
D. Only conclusion II follows
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E. Neither conclusion I nor II follows

Explanation:

Statements: U>M=2A=N<S, X=N=2Q=Y>R
Conclusions: M >Y, M=Y

For Conclusion I: M > Y

From statements I and II, we get:

M=2A=N2Q=Y

Here, the common sign between M and Y is 2’. Hence M > Y is not
true individually.

For Conclusion II: M =Y
From statements I and II, we get:
M=2A=N=Xz2Q-=Y

Here, the common sign between M and Y is 2’. Hence M =Y is not
true individually.

But if we combine both the conclusions, we will get to know that
Either M >YorM =Y.

Thus, either conclusion I or conclusion II follows.
Hence option B is correct.

Filler Inequalities: In Filler Inequality Questions, you are given a
true direction with appropriate statement and in Conclusion you
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have to fill up the correct symbol, letter, number etc. as described
in direction.

Examples: Which of the following symbols must replace the
question mark in the following equation so that A < S is definitely
true and B > L is not definitely true?

D<A<L=C?T<B<S

<
<
. Either option A or C
. Either option A or B

mO0WR

Explanation:

Let us check each of the options one by one.
Option A:

D<A<L=C=T<B<S

In this case A < S is definitely true and B > L is not definitely true.
Thus, option A is correct.

Option B:
D<A<L=C<T=<B<S

In this case A < S is definitely true but B > L is also definitely
true. Thus, option B is incorrect.

Option C:
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D<A<L=C<T<B<S

In this case A < S is definitely true as well as we can see that B >
L is not definitely true, B = L could also be a possible true
statement.

Thus, option C is also correct.

Therefore, with the help of either option A or option C can derive
the desired conclusions.

Hence option D is correct.

EXERCISE

Direction 301-310: In the following questions, the symbols
$,@,#," and * are used with the following meaning as illustrated
below.

'P $ Q' means 'P is not smaller than Q'.

'P @ Q' means 'P is neither smaller than nor equal to 'Q

'P # Q' means 'P is neither greater than nor equal to Q'.

'P A Q' means 'P is neither greater than nor smaller than Q'

'P * Q' means 'P is not greater than Q'.

Now in each of the following questions assuming the given
statements to be true, find which of the four conclusions I,

II, IIT and IV given below them is/are definitely true and give your
answer accordingly.

1. Statements: H@ T, T#F, FAE, E*V
Conclusions:

LVS$F

ILE@T

N.H@V

IV.T#V

A. Only I, IT and III are true

B. Only I, Il and IV are true
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C. Only II, IIl and IV are true
D. Only [, IIT and IV are true
E. All I, II, IIT and IV are true

2. Statements: D#R, R*K, K@F, F$J
Conclusions:

.LJ#R

II.J#K

III. R#F

IV.X@D

A. Only I, IT and III are true
B. Only II, IIl and IV are true
C. Only I, III and IV are true
D. All I, II, IIT and IV are true
E. None of these

3. Statements: NAB,B$W,W#H, H*M
Conclusions:

LM@W

I.H@N

1. WA N

IV. W# N

A. Only I is true

B. Only III is true

C. Only IV is true

D. Only either III or IV is true

E. Only either III or IV and I are true

4. Statements: R*D,D$J,J# M, M@K
Conclusions:

L.K#J

I.D@M

.R# M

IV.D@K

A. None is true
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B. Only I is true

C. Only Il is true
D. Only III is true
E. Only IV is true

5. Statements: MS K, K@N,N*R, R# W
Conclusions:

L W@K

I.M$R

. K@ w

IV.M@N

A. Only I and II are true

B. Only I, Il and III are true
C. Only III and IV are true

D. Only II, IIT and IV are true
E. None of these

6. Which of the following expressions will be true if the expression
R > O = A > S < T is definitely true?

A.O>T

B.S<R

C.T>A

D.S=0

E.T<R.

7. Which of the following symbols should replace the question

mark (?) in the given expression in order to
make the expressions P > A as well as T L definitely true? P >L ?

<
>
<
=

. Either or.
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8. Which of the following symbols should be placed in the blank
spaces respectively (in the same order

from left to right) in order to complete the given expression in
such a manner that makes the

expressions B > N as well as D L definitely true?B_L_O_N _D

B.>>=>
C.> <, =<
D.> ===
E.>=2>>

9. Which of the following should be placed in the blank spaces
respectively (in the same order from left to right) in order to
complete the given expression in such a manner that makes the
expression A < P definitely false? < < __ > __

A.L,N,P, A

ol
e

, P,
, L, P

> >

z >
>

2 2

P
7A7

>

MO OW,;
o
Z
r‘r*ZZ

)

10. Which of the following letters should be placed in the blank
spaces respectively (in the same order from

left to right) in order to complete the given expression in such a
manner that makes the expression ‘A <

P’ definitely false?

A
A

|

-
o
22>V

ozpo
Zr0o2» 2
»olvT

GO0 w>|

U
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Solution with Explanation:

1. Answer: B

Explanation:

Substituting the symbols based on the directions we get

H>T, T<F,F=E,E<V

=H>T<F=E=<V

Now the options are

Vz2F,E>T, H>V, T < VFollowing the rules for coded
inequalities in the concept section we find that I, II, IV are correct
So, option B is right

2. Answer: E

Explanation:

From the question D<R<K>F=>J

Thes conclusions given are J <R, J <K, R<F ,K>D

As per the rules given in the coded inequalities of the banking
concept, II: J <K, IV: K > D are correct.

But there is no option as such.

Hence d: None of these is the right choice.

3. Answer: E

Explanation:

From the question N=B2W<H=<M

The conclusions givenare M>W , H>N , W=N, W <N

As per the rules given in the coded inequalities section of Banking
Concepts, options I : M > W is correct and III : W =

N, IV : W < N are partially correct.

So Option E : Only either III or IV and I are true is correct

4. Answer: A

Explanation:

From the statements given, R<D>J<M>K

The conclusions given are K<J ,.D>M ,R<M,D > K
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We know that both J and K are lesser than M, but we don't know
whether J > K or not. Hence, the first conclusion is

wrong.

Similarly, we know that both M and D are greater than, but we
don't know which of the two M and D is greater.

We know that D is greater than R, but as we don't know whether
D is greater or lesser than M, we don't know whether

M is greater than R or not.

In the same way, the relationship between M and K is known, but
as the relationship between M and D is not known,

we can't comment about the relationship between D and K

Hence, all the conclusions are wrong.

S. Answer: E

Explanation:

From the question M>2K>N<R<W

The conclusions given are W>K, M2R,K<W , M >N

We know that both W and K are greater than N, but the
relationship between the two of them is not known. Hence,
thefirst conclusion is wrong.

Similarly, M and R are greater than N, but the relationship
between the two of them is not known.

Similarly, K and W are greater than N, but the relationship
between the two of them is not known.

M is greater than or equal to K which is in turn greater than N,
hence M > N and the fourth conclusion is correct.

So, of the four options, none of them is correct.

Instructions

For the following questions answer them individually

6. Answer: B

Explanation:

As per the rules given in Coded Inequalities section of Banking
Concepts we get option b : S < R is true.
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7. Answer: D

Explanation:

In order for P to be greater than A '?' should be replaced with '>'
but in order for T < L to be true '?' must be replace

by 2.

8. Answer: D

Explanation:

Verifying options, we find that options a, b and e can be
eliminated as they have '>' in between B and N.

In option ¢ we have '<' in between B and N which doesn't satisfy
the required condition.

Hence the option left is d.

9. Answer: E

Explanation:

Verifying the options we find that in options a, b, c and d , P is
either > or 2 A , which doesn't satisfy the required

condition.

So the option left, e , is the right option.

10. Answer: E

Explanation:

For the given condition ‘A < P’

From optiona, L<N<P>A=>A<P
Hence, option a satisfies the condition.
From option b, L<A<P>N=>A<P
Hence, option b satisfies the condition.
From optionc, A<L<P>N=>A<P
Hence, option c satisfies the condition
From optiond, N<A<P>L=>A<P
Hence, option d satisfies the condition
From optione, P<N<A>L=>A>P
Hence, option e does not satisfy the condition
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Option e does not agree with the condition 'A < P'.
Therefore, the correct option to choose is E.

BLOOD RELATIONS

KNOWLEDGE OF THE BLOOD RELATIONS
i. Mother’s or Father’s Son is called Brother
ii. Mother’s or Father’s Daughters is called Sister
iii. Mother’s or Father’s Father is called Grand Father
iv. Mother’s or Father’s Mother is called Grand Mother

V. Mother’s or Father’s brother is called Uncle
Vi. Mother’s or Father’s sister is called Aunt
Vii. Son’s Wife is called Daughter-in-law
Viii. Daughter’s is husband is called Son-in-law
ix. Brother’s wife is called sister-in-law
X. Sister’s husband or Husband’s wife’s or brother is called
Brother-in-law
Xi. Brother’s son is called nephew
xii. Brother’s daughter is called Niece
Examples:

1. Sarita introduced a boy as the son of the daughter of the father
of her uncle. The boy is Sarita’s .....

(a) Brother (b) Son () Uncle (d) Son-in-law
Explanation: Usually we start from the end and keep on
simplifying: Daughter of uncle’s father means uncle’s sister.
Uncle’s sister means mother and son of the mother means her
brother. So the boy is Sarita’s brother. The answer is (a)

2. Pointing to an old man, Sohan said, “His son is my son’s
uncle”. How is old man related to Sohan?
(a) Brother (b) Father (c) Uncle (d) Grand Father

Explanation: Sohan’s son’s uncle means Sohan’s brother. So, the
old man’s son is sohan’s brother, i.e., the old man is the uncle of
sohan. The answer is (c)

128 V.H.N.Senthikumara Nadar College (Autonomous), Virudhunagar



Employability Skills Unit - 1l

3. A and B are brothers. C and D are sisters. A’s son is D’s
brother. How is B related to C?

(a) Brother (b) Father (c) Uncle (d) Grand Father
Explanation: Studying the statements carefully, was find that B is
the brother of A and A’s son is the brother of D, so D is the
daughter of A. Since C and D are sisters, so C is also the daughter
of A. Thus B is the uncle of C. the answer is (c)

4. A + B means ‘A is the brother of B; A — B means ‘A is the
mother of’ B and A x B means ‘A is the sister of’ B. which of the
following means A is the maternal uncle of B?

@A+C+B (b) A-b+C (¢c) A+C-B (d A+CxB
Explanation:Note that C has a relation between A and B. Option
(1) A + C + B implies that A is the brother of C who is the brother
of B means that A is the brother of B. so (1) does not give what is
asked. Option (2) also does not say what is required. Option (3) A
+ C — B means A is the brother of C who is the mother of B means
that A is the maternal uncle of B. Hence, the answer is (c)

EXERCISE

1. Sohan introduces Mohan as the son of the only brother of his
father’s wife. How is Mohan related to Sohan?

(a) Cousin (b) Son (c) Uncle (d) Son-in-law

2. Pointing out to a photograph, a man tells his friend, “She is the
daughter of the only son of my father’s wife”. How is the girl
related to the man in the photograph?

(a) Mother (b) Daughter (c) Sister (d) Cousin

3. Pointing to a man, a woman said. “His mother is the only
daughter of my mother”. How is the woman related to the man?
(a) Mother (b) Daughter (c) Sister (d) Grand Mother
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4. Pointing to a man in a photograph, a woman said, “His
brother’s father is the only son of my grandfather”. How is the
woman related to the man in the photograph?

(a) Mother (b) Aunt (c) Sister (d) Daughter

5. Pointing to a man in the photograph, Ashmita said, “His
mother’s only daughter is my mother”. How is Ashmita related to
that man?

(@) Nephew (b) Wife (c) Sister (d) Niece

6. In Kunal says, “john’s mother is the only daughter of my
mother”. How is Kunal related to John?
(a) Brother (b) Father (c) Can’t be found (d) None of these

7.Pointing to a photograph, Anil said, “She is the daughter of my
grandfather’s only son”. How is Anil related to the girl in the
photograph?

(a) Brother (b) Father (c) Can’t be found (d) Cousin

8. Ram has a brother Shyam. Ram is the son of Ramesh. Suresh
is Ramesh’s father. How Shyam is related to Suresh?
(@ Son (b) Grandson (c) Brother (d) Grandfather

Solution with Explanation:
1. (a) Father’s wife means mother; mother’s brother means uncle
and uncle’s son means cousin. So Mohan is Sohan’s cousin.

2. (b) Father’s wife means mother; mother’s only son means
himself and thus the girl is daughter to the man.

3. (a) Only daughter of my mother means herself. So, the woman
is the mother of the man.
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N

. (¢) Only son of woman’s grandfather means woman’s father;
Man'’s brother’s father means man’s father. So the woman is
the sister of the man.

S. (d) Ashmita’s mother’s is the man’s mother. So Ashmita mother
is man’s sister i.e. Ashmita is the niece of the man.

[@)]

. (e) Only daughter of Kunal’s mother means Kunal’s sister. So,
John’s mother is Kunal’s sister. i.e. John’s maternal uncle.

\]

. (a) My grandfather’s only son means my father. So, the girl is
the daughter of Anil’s father i.e. Anil is the brother of the
girl.

00

. (b) Sham is the brother Ram and Ram is the son of Ramesh
means that Sham is the son of Ramesh. Now Suresh is the
father of Ramesh, therefore Sham is the grandfather of
Suresh.

V.H.N.Senthikumara Nadar College (Autonomous), Virudhunagar 131



Employability Skills Unit - 1l

DIRECTION SENSE TEST

This test is meant to test the candidate’s ability to trace and
follows the direction. Correctly given in the questions asked. The
questions asked consist of a sort of puzzle in directions. A
successive follow up of directions given in the questions s
formulated and the candidate is required to find the final
direction or the distance between the two points. There are four
major directions and four sub-major directions

N
A

v
S
Four major directions (clock-wise) are North (N); East(E); South
(S) and West (W). The word NEWS means the information
collected from all directions. Four sub-major directions are (clock
wise) North — East (NE); South - East (SE); South — West (SW)
and North — West (NW)
Examples:
1. A man starts walking from his home south a distance of 50
meters. He took a half towards right. In which directions he
walking now?
N
A

A
v

S| 50 m

e

a) East b) West c) South West d) North West
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Explanation: The man starts from A towards south and reach B
after covering a distance of 50 m. he then takes half right trun
and now his position is towards south-west.Ans: (c) South-west

2. If south —east becomes North, Norrth becomes southwest and
so on, then what will west become?

NW N NE
A
W « » E
SW
v SE
S

a) South East b) South West c) North East d) North West

Explanation: South-east becoming North means these directions
are turning anti-clockwise through an angle of 135°. Thus, West
when moved anti-clockwise through 135° will become South-
east. Ans: South-East.
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3. A man is facing North-west. He turns 90° in the clock wise
direction and then 135° in the anticlockwise direction. Which
direction is he facing now?

N
A
NW NE
W < »E
SW v SE
S
a) East b) West c) South d) North

Explanation:Turning 90° from NW clockwise means, he facing NE
from NE moving 135° anticlockwise means he is now facing
West.Ans: (b) West

4. A man walks 30 meters towards South. Then, turning to his
right he walks 30 meters. Then, turning to his left he walks 20
meters. Again he turns to his left and walks 30 meters. How far is
he from his initial position?

(@) 30 meters (b) 20 meters (c) 80 meters (d) None of these
Explanation: (d) the movement of the man is as shown in figure

A
30m
30m| B
20m v
D 30m  E
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The man’s distance from the initial position AE = (AB + BE)

= (AB + CD)

= (30 + 20) = 50 metres
EXERCISE
1. A man is facing West. He turns 45° in the clockwise direction
and then another 180° in the same direction and then 270° in the
anticlockwise direction. Which direction is he facing now?
(@) South (b) North-west (c) West (d) South-west

2. Mahesh walks 20 metres towards North. He then turns left and
walks 40 metres. He again turns left and walks 20 metres.
Further, he moves 20 metres after turning to the right. How far is
he from his original position?

(@ 20 m (b) 30 m () 50 m (d) 60 m

3. Suresh walks 20 metres north. Then he turns right and walks
30 m. then he turns right and walk 35 m. Then he turns left and
walks 15 m. Then he gains turns left and walks 15 m. In which
directions and how many metres away is he from his original
position?

(@)15 m; West  (b) 30 m; East (c¢) 30 m; West  (d) 45 m; East

4. A man walks 1 km towards East and then he turns to South
and walks 5 km. Again he turns to East and walks 2 kms. After
this he turns to North and walks 9 kms. Now, how far is he from
his starting point?

(a) 3 kms. (b) 4 kms () Skms (d) 7 kms

5. If A is to the South of B and C is to the east of B, in what
direction is A with respect to C?
(a) North-East (b) North- West (c) South-East (d) South-West

6. Ravi wants to go to the school. He starts from his home which
is in the East and comes to the crossing. The road to the left ends
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in a theatre, straight ahead is the hospital. In which direction is
the school?
(a) East (b) West () North (d) South

7. In the given figure, P is 300 km eastward of O and Q is 400
kms North of O, R is exactly in the middle of Q and P. The
distance between Q and R is:

North

East

0] R P
(a) 250 kms (b) 2502 kms. (c) 300 kms (d) 350 kms

8. Ankit, Bansi, Rohan and Sohan are friends. They play cards.
Ankit and Bansi become partners. Sohan faces North. If Ankit
faces towards West, then who faces towards South?

(a) Bansi (b) Rohan (c) Sohan (d) Data is inadequate

9. P, Q, R and S are playing carom game. P, R and S, Q
arepartners. S is to the right of R who is facing West. Then Q is
facing what direction?

(a) East (b) West () North (d) South

10. After walking 6kms, I turned right and covered a distance of 2
kms, then turned left and covered a distance of 10 kms. In the
end, I was moving towards the North. From which direction did I
start my journey?

(a) East (b) West (c) North (d) South
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Solution with Explanation:

1. (d) Strictly according to the instructions about the movements
of the man, draw the diagram. First turn takes him NW;
second turn takes him SE and third turn takes him SW. So
finally he is facing SW.

N
A
NW NE
W E
SW SE
v
S

2. (d) Mahesh starts from A and moves North reaches B. the turns
left i.e. West reaches C; now turns left to reach D and finally
turns right and reaches E. According to the diagram, now EA =
ED+DA=ED+CB=20 + 40 = 60 kms.

C 40 B

20
E D A
3. (d) Suresh starts from A. His afterward movements are show
in the diagram made according to the instructions. His final
position is F. Now F lies to the east of A. He is at a distance
AF which is (30+15) i.e.45 m.
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nx]

D 15 E

4. (c) The man starts from A and moves to B - C -D — E (his

final position) Man’

(1+2)2+(9-5)2=

s distance from A = AE. Now AE? = AL? + LE? =
9+16=25

E

L
54 g
cr—*z D

S. (d) A diagram is made according to the directions given in the

question. Clearly A

will be South-west of C.
C East

A

South
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6. (a) PQ = JOP2 +0OQ?
= V(300)2 +(400)?
=1002(32 + 4?)
= V1002 x 52 =(100 x 5) i.e.500 km.
R being in the midway of PQ so QR = 250 kms.

7. (a) Starting from his house which is eastward, and moves
westwards comes at O, the crossing. To his left is theatre (South)
and straight i.e. towards, West, there is a hospital. So obviously
his school is toward North.

North
School
AW E
School House
Theatre
South

8. (b) Sohan faces North. Ankit faces West. So his partner Nansi
will face towards A i.e. towards East. Now, Rohan who will face
Sohan, will face towards South.

Rohan

A 4
A

> 1

=
|

Bansc Ankit

Sohan

|
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9. (a) According to the data R faces west. S is to the right of R so
S facing South. Hence Q who is a partner of S will face North.

P R

D
»

o | ]

S
——
b

Q

10. (¢) Remember this logic:
“You start from a point in any direction; you now turn
right after covering certain distance. You now turn left
after covering some distance. You will find that you are
now moving in the same direction in which you started.
North
10

Now, since finally the man is moving North, this means the man
started his journey Northwards.

SERIES COMPLETION TEST

A series is a set of numbers or alphabetical letters, generally
called the terms of the series that are following a certain rule or
pattern throughout. The candidate has to find this rule and
complete the given series by choosing the suitable term or find a
wrong term in the series.

TYPE I - COMPLETION OF GIVEN NUMBERR SERIES

Examples:
1.7, 28,49, 70,91, 112
(@) 135 (b) 134 (c) 133 (d) 130
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Explanation:Clearly the difference between the two consecutive
terms is 211. So the next term is 112 + 21 i.e. 133. Hence the
answer is (c)

2.7,12,19, 28,39, __.

(@) 49 (b) 57 (c) 50 (d) 52

Explanation: Here the given series follows the rule: +5, +7, +9,
+11, +13,... The term next to 39 is 39 + 13 i.e 52. Hence, the
answer is (d)

Type II- MISSING TERM

Examples:

1.11,23,48,99, __ ,409.

(a) 200 (b) 202 () 201 (d) 205
Explanation:Here the logic is x2+1, +2, +3, +4, +5 .... So the series

is 11, 11 x 2 +1, 23 x 2 +2, 48 X 2 +3, 99 X 2 +41.E. 202. Hence,
the answer is (b)

Type III- MIXING OF TWO OR MORE SERIES

Examples:
1.0,4,6,3,7,9,6, ..., 12.
(@ 8 (b) 10 (c) 11 (d 14

Explanation: The given sequence is a mixture of three series I. O,
3,6 11.4,7,.... 1II.6,9, 12

The rule in each of these series is+3. So the missing number
is7+3i.e.10.Hence, the answer is (b)

TYPE 2. FINDING A WRONG NUMBER IN A SERIES

Examples:

1. Find a wrong number in the series 7, 28, 63, 124, 215, 342,
511.

(@ 7 (b) 28 () 124 (d 215
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Explanation: Clearly, the correct sequence is: 23 -1, 3% -1, 43 —
1,5%-1,6%-1,7-1,8 -1

28 is wrong and should be replaced by 3® — 1 i.e. 26. Hence, the
answer is (b)

2. Find a wrong number in the series: 9, 19, 37, 75, 149, 297.

(@75 (b) 37 (c) 19 (d) 297

Explanation: Clearly, the correct sequence is:

a. 9, 2x9+1=19, 2x19-1=37, 2x37+=75; 2 x 75-1=149; 2x149+1
=299. i.e. the logic is x 2+1.

b. 297 are wrong and should be replaced by 299. Hence, the
answer is (d)

EXERCISE

Direction 1-8:Choose the correct one answer for the following
Series Completion Test type questions

1.3,7,15,27,43, 63, __.

(a) 86 (b) 87 (c) 89 (d) 90

2.17, 19, 22, 27, 34, 45,
(a) 58 (b) 57 (c) 56 (d) 59

3.1, 2,6, 15, 31,
(a) 47 (b) 52 (c) 55 (d) 56

4.0, 6, 24, 60, ...., 210.

(a) 117 (b) 119 (c) 120 (d) 126
5.1,1,3,9,6,36, 10, 100, ....., 225.

(a) 15 (b) 16 (c) 20 (d) 25
6. 6,42, 67, (......), 92, 96

(a) 77 (b) 82 (c) 70 (d) 83
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7.3, 10, 21, (....), 51
(a) 34 (b) 32 (c) 33 (d) 37

8. 128, (....), 82, 62, 44, 28
(a) 99 (b) 104 (c) 109 (d) 106

Solution with Explanation:
1.Clearly, the pattern is +4, +8, +12, +16, +20, +24, ..... so the
term next to 63 is 63 + 24 i.e. 87. Hence, the answer is (b)

2.Clearly the rule is +2, +3, +5, +7, +11, +13,..... They are prime
numbers. The prime number next to 45 is 45 + 13 i.e. 58. Hence,
the answer is (a)

3.Here the logic is +1, +4, +9, +16, +25, ... i.e 12, 22, 32, 42, 52 ...
So the term next to 31 is 31 + 25 i.e. 56. Hence, the answer is (d)

4.the pattern of the sequenceis 13- 1,23-2,3%3-3,43-4, 53— 5,
6° — 6,...Thus the missing term is 120. Hence, the answer is (c)

5.The given series a mixture of two series: 1, 3, 6, 10, ..... II.

1,9, 36, 100, 125

The logic of I is +2, +3, +4, +5, and the logic of II is the squares of
the corresponding numbers of I. So the missing number is 10 + 5
i.e. 15 (a)

6. (d) The Series is : 6, (+62)42, (+52)67, (+42)83, (+32)92, (+22)96.

7. (a) The series is : 3, (+7)10, (+11) 21, (+13) 34, (+17) 51 (Prime
numbers)

8. (b) The series is : 128, (-24) 104, (-22) 82, (-20) 62, (-18) 44,
(-16) 28

|
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UNIT - IV
I[VERBAL REASONING - IIf

Number Test - Ranking and Time Sequence Test - Seating
arrangements - Alphabet Test - Logical Venn Diagram.

NUMBER TEST

In this category of questions, generally a long series of

numbers is given. The candidate is required to find out how

many times a number satisfying the condition specified in the

question will occur.

Example. How many 9’s are there in the following number

sequence which are immediately preceded by S5 but not

immediately followed by 3 ?

395945937985998795196594395938

(1) One (2) Two (3) Three (4) Four

Explanation: The numbers satisfying the given conditions can

be shown as follows.

395945937985998795196594395938.

So, the answer is (3)

EXCERCISE

1. Which is the third number to the left of the number which

is exactly in the middle of the following sequence of numbers?

123456789246897531987¢6354

321

A.3 B. 4 C.5 D. 6

2. How many 3's are there in the following sequence which

are neither preceded by 6 nor immediately followed by 9?
93663959378916396309

A. One B. Two C. Three D. Four
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3. Count each 7 which is not immediately preceded by 5 but
is immediately followed by either 2 or 3. How many such 7's
are there?

5726573837325 7273482¢6178
A 2 B.3 C. 4 D.5

4. How many 6's are there in the following series of numbers
which are preceded by 7 but not immediately followed by 9?

6 795697687678694677¢68935
76 3

A. One B. Two C. Three D. Four

S. How many 7's are there in the following series which are

not immediately followed by 3 but immediately preceded by

8?
89876226326973287277387
37794

A. 10 B.3 C.2 D.0

6. Count each 1 in the following sequence of numbers that is

immediately followed by 2, if 2 is not immediately followed by

3. How many such 1's are there?

1213451235212614511241
2321752125

A 2 B. 4 C.5 D.7

7. How many 7's are there in the following series which are
preceded by 6 which is not preceded by 8?

876786 756797616776388609
7687

A. Nil B. One C. Two D. Three

8. In the following list of numerals, how many 2's are followed
by 1's but not preceded by 4?

4212142112444 122121442
14212124142124146
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A. Two B. Three C. Four D. Five
9. How many 7's are there in the following sequence which
are preceded by 9 and followed by 6?
7897653428972459297647
A2 B.3 C.4 D.5
10. How many Ss are there in the following number sequence,
which are immediately preceded by 7 and immediately
followed by 67?
755945764598756764325678
A. One B. Two C. three D. four
11. How many 6's are there in the following number series,

each of which is immediately preceded by 1 or 5 and
immediately followed by 3 or 9?

26375642961341639156923165432
1967163

A. none B. one C.two D.three
12. How many 7's immediately preceded by 6 but not
immediately followed by 4 are there in the following series?

74276436753578437672406743
A.One B. Two C. Four D. Six

13. In the series given below, count the number of 9's, each of
which is not immediately preceded by S but is immediately
followed by either 2 or 3. How many such 9's are there ?

19321742697461328741383256743958
20187463

A. one B. three C. five D. six

14. How many 4's are there preceded by 7 but not followed by
3?

59321742697461328741383256743
95820187463

A. three B. four C. five D. six.

146 V.H.N.Senthikumara Nadar College (Autonomous), Virudhunagar



Employability Skills Unit - IV

15. If the positions of the first and the sixth digits of the
number 2796543018 are interchanged, similarly the
positions of the second and the seventh digits are
interchanged and so on, which of the following will be the
third to the left of seventh digit from the left end?

A.0 B.1 C.7 D. 8

16. What will be the difference between the sum of the odd
digits and the sum of the even digits in the number 8574237
A0 B.1 C.2 D. None

17. If each of the odd digits in the number 54638 is decreased
by 1 and each of the even digits is increased by 1, then which
of the following will be the sum of the digits of the new
number?

A. 25 B. 26 C. 28 D. 29

18. How many times will you write even numerals if you write
all the numbers from 291 to 300?

A 11 B. 13 C. 15 D. 17

19. A number is greater than 3 but less than 8. Also, it is
greater than 6 but less than 10. The number is?

A.5 B. 6 C.7 D. 8

20.How many Ss are there in the following number sequence

which are immediately preceded by 7 and immediately
followed by 6?

755945764598756764325678
Al B. 2 C.3 D. 4
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Solution:
1.Answer: B) 4

2.Answer: B) Two
3. Answer: A) 2

. Answer: C) Three
. Answer: C) 2

. Answer: B) 4

N o ua »

. Answer: D) Three

. Answer: C) Four

O @

. Answer: A) 2

10. Answer: A) One
11. Answer: D) Three
12. Answer: B) Two
13. Answer: A) One
14. Answer: B) Four
15. Answer: B) 1

16. Answer: B) 1

17. Answer: D) 27
18. Answer: B) 13
19. Answer: C) 7

2

o

.Answer: A) 1
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RANKING
In this, generally the ranks of a person both from the top and

from the bottom will be mentioned and the total number of
persons is to be found.

Example:

1. Radha ranks twenty-first from the top and twentieth from
the bottom in a certain examination. How many students are
there in her class?

(1) 40 (2) 41 (3) 42 (4) 45

Explanation: Clearly the whole class consists of

(i) 20 students who have a rank higher than Radha

(ii) Radha

(iii) 19 students who have rank lower than Radha

i.e. (20 + 1 + 19) = 40. So, the answer is (1)

2. In a row of girls facing North, Reena is 10th to the left of
Pallavi, who is 21st from the right end. If Malini, who is 17th
from the left end, is fourth to the right of Reena, how many
girls are there in the row?

A. 37 B. 41 C. 43 D. 49
Explanation: Pallavi is 21st from right and Reena is
10th to the left of Pallavi. So, Reena is 31st from
right.

Malini is 4th to the right of Reena. So, Malini is 27th
from the right. Also, Malini is 17th from the left.

Therefore number of girls in the row = (26 + 1 + 16)
= 43. So correct answer: C) 43
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EXCERCISE

1.Kanmani ranked sixteenth from the top and twenty ninth
from the bottom among those who passed an examination.
Six studentsdid not participate in the competition and five
failed in it. How many students were there in the class?

A. 35 B. 45 C. 50 D. 55

2. In a row of girls, Nithya and Suganya occupy the ninth
place from the right end and tenth place from the left end,
respectively. If they interchange their places, then Nithya and
Suganya occupy seventeenth place from the right and
eighteenth place from the left respectively. How many girls are
there in the row?

A. 22 B. 24 C. 26 D. 28

3.In a queue of children, Arun is fifth from the left and
Suresh is sixth from the right. When they interchange their
places among themselves, Arun becomes thirteenth from the
left. Then, what will be Suresh’s position from the right?

A. 8% B. 14t C, 15t D. 16th

4.In a queue, Arun is 10th from the front while Mukesh is
25th from behind and Maha is just in the middle of the two. If
there be 50 persons in the queue, what position does Maha
occupy from the front?

A. 17th B, 18th C. 19th D. 20th

S.In a row of boys, if A who is tenth from the left and B who is
ninth from the right interchange their positions. A becomes
fifteenth from the left. How many boys are there in the row?
A.21 B.23 C.27 D.28

6.In a row of girls, Ramya is fifth from the left and Priya is
sixth from the right. When they exchange their positions,
then Ramya becomes thirteenth from the left. What will be
Priya’s position from the right?

A.7th B, 9th C.12th D. 14th
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7. If Ajay finds that he is 12trfrom the right in a line of boys
and fourth from the left, how many boys should be added to
the line such that there are 28 boys in the line?

A.13 B.14 C.16 D. 20

8. In a row of boys, A is fifteenth from the left and B is fourth
from the right. There are three boys between A and B, C is
just left of A. What is the C’s position from the right?

A. 5th B. 9th C. 12th D. 13th

9.Rajan ranks eighteenth in a class of 49 students. What is
his rank from the last?

A. 18 B. 19 C. 31 D. 32

10.Some boys are sitting in a row. P is sitting fourteenth from
the left and Q is seventh from the right. If there are four boys
between P and Q, how many boys are there in the row?

A. 19 B. 21 C. 23 D. 25

11. In a class of 35 students, Kamal is placed seventh from
the bottom whereas Sunil is placed ninth from the top. Manoj
is placed exactly in between the two. What is Kamal’s position
from Manoj?

A7 B.9 C. 10 D. 12

12. In a queue, Viji is fourteenth from the front and Jack is
seventeenth from the end, while Mary is in between Viji and
Jack. If Viji be ahead of Jack and there be 48 persons in the
queue, how many persons are there between Viji and Mary?
A5 B. 6 C.7 D. 8

13. Meena is 10t and Reena is 6t from left. If Meena and
Reena also exchange their positions between themselves, then
after the exchange, Meena’s position from the left will be

A5 B. 6 C.7 D. 8

14. Students line up in a queue in which Ashok stands
fifteenth from the left and Sakthi is seventh from the right. If

they interchange their places, Sakthi would be fifteenth from
the right. How many students are there in the queue?

A. 21 B. 22 C. 28 D. 29
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15. Ram ranked ninth from the top and thirty—eighth from the
bottom in a class. How many students are there in the class?

A. 44 B. 45 C. 46 D. 47
Solution with Explanation:

1.Number of boys who passed = (15 + 1 + 28) = 44Total
number of boys in the class = 44 + 6 +5 = 55. Answer: D) 55

2. Since Nithya and Suganya exchange places, so Rita’s new
position is the same as Monika’s earlier position. This
position is 17th from the right and 10th from the Ileft.
Therefore, Number of girls in the row = (16 + 1 + 9) = 26.
Answer: C) 26

3. Since Arun and Suresh interchange places, so Arun’s new
position (13th from left) is the same as Suresh’s earlier
position (6th from right).So, number of children in the queue
= (12 + 1 + 5) = 18.Now. Suresh’s new position is the same as
Arun’s earlier position fifth from left.Therefore, Suresh’s
position from the right = (18 — 4) = 14th. Answer: B)14th.

4. Number of persons between Arun and Mukesh= 50 — (10 +
25) = 15.Since Maha lies in middle of these 15 persons, so
Maha’s position is 8th from Arun i.e. 18th from the front.
Answer: B)18th

S.Clearly, A’s new position is 15th from the left. But this is
the same as B’s earlier position which is 9th from the right.In
a row of girls, Ramya is fifth from the left and Priya is sixth
from the right. When they exchange their positions, then
Ramya becomes thirteenth from the left. Answer: B)23rd

6. Ramya’s new position is 13th from left. But it is the same
as Priya’s earlier position which is 6th from the right.Thus,
the row consists of ( 12 + 1 + 5 ) = 18 girls.Now, Priya’s new
position is Ramya’s earlier position which is Sth from the
left.Number of girls to the right of Priya = (18 — 5) = 13.So,
Priya’s new position is 14t from the right. Answer: D) 14tk
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7. Clearly number of boys in the line = (11 + 1 + 3) = 15.
Therefore number of boys to be added = 28 - 15 = 13.
Answer: A) 13

8. Number of boys in the row = ( 15 + 4 + 3 ) = 22. C is just
left of A. So, C is 14th from the left end. Number of boys to
the right end of the row. So, C is 9th from the right end of the
row. Answer: B) 9th

9. Number of students behind Rajan in rank = (49 — 18 ) =
31.So, Rajan is 32nd from the last. Answer: D) 32nd

10. Number of boys in the row = number of boys uptil P +
number of boys between P and Q + number of boys including
Q and those behind Q = 14 + 4 + 7 = 25. Answer: D) 25

11. Number of students between Kamal and Sunil = 35 - (7 +
9) = 19. Clearly, there are 9 students between Kamal and
Manoj, as well as Manoj and Sunil. So Kamal is 10th from
Manoj. Answer: C)10th

12. Number of persons between Viji and Jack = 48 — (14 + 17)
= 17. Now, Mary lies in middle of these 17 persons i.e., at the
eighth position. So, number of persons between Viji and Mary
= 8. Answer: D) 8

13. Meena’s new position is Reena’s earlier position which is
6th from the left. Answer: B) 6t?

14. Sakthi’s new position is 15th from the right as
well as the left end of the row. Therefore number of

students in the queue = ( 14 + 1 + 14 ) = 29.
Answer: D) 29
15. Clearly, number of students in the class = ( 8 + 1

+ 37 ) = 46. Answer: B) 46

TIME SEQUENCE

The Ability to reason based on the order of time is tested in
this section.
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Example:

1. Ashish leaves his house at 20 minutes to seven in the
morning, reaches Kunal's house in 25 minutes, they finish
their breakfast in another 15 minute and leave for their office
which takes another 35 minutes, at what time do they leave
Kunal's houses to reach their office?

A. 7.40 a.m. B. 7.20 a.m. C.7.45 am. D. 8.15 a.m.

Explanation: Ashish leaves his house at 6:40. It takes
him 25 minutes to reach Kunal's house thus at 7:05 am. It
takes them 15 minutes to have breakfast, thus they leave
Kunal's house at 7:20 am.

2. Ajay left home for the bus stop 15 minutes earlier than
usual. It takes 10 minutes to reach the stop. He reached the
stop at 8.40 a.m. What time does he usually leave home for
the bus stop?

A. 8.30 a.m. B. 845 p.m. C.8.55a.m. D. None of these

Explanation: The correct option is B 8.45 p.-m.
Ajay reached the bus stop at 8:40 am.
It takes 10 minutes to reach the bus stop. He left the home at
8:40-00:10 = 8:30 am. That day he left 15 minutes earlier.
Therefore, he usually leaves at 8:30+00:15 = 8:45 am
Answer is Option B

EXCERCISE

1. Reaching the place of meeting on Tuesday 15 minutes
before 08.30 hours, Anuj found himself half an hour earlier
than the man who was 40 minutes late. What was the
scheduled time of the meeting?

A. 8.00 hrs B.8.05 hrs C. 8.15 hrs D. 8.45 hrs

2. The priest told the devotee, "The temple bell is rung at
regular intervals of 45 minutes. The last bell was rung five
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minutes ago. The next bell is due to be rung at 7.45 a.m." At
what time did the priest give this information to the devotee?

A. 7.40 a.m. B. 7.05 a.m. C. 7.00 a.m. D. 6.55 a.m.

3. An application was received by inward clerk in the
afternoon of the week day. Next day he forwarded it to the
table of the senior clerk, who was on leave that day. The
senior clerk next day evening put up the application to the
desk officer. Desk officer studied the application and disposed
off the matter on the same day i.e. Friday. Which day was the
application received by the inward clerk?

A.Monday B.Tuesday C.Wednesday D.Earlier week's Saturday
4. There are twenty people working in an office. The first
group of five works between 8.00 A.M. and 2.00 P.M. The
second group of ten works between 10.00 A.M. and 4.00 P.M.
And the third group of five works between 12 noon and 6.00
P.M. There are three computers in the office which all the
employees frequently use. During which of the following
hours the computers are likely to be used most?

A. 10.00 A M. -- 12 noon B. 12 noon -- 2.00 P.M.

C. 1.00 P.M. -- 3.00 P.M. D. 2.00 P.M. -- 4.00 P.M.

S. At a time, on which day of a week all the three brothers are
available at home?

A. None B. Sunday C. Thursday D. Cannot be determined
6. For how many days only one brother is available at a
particular time in a week?

A. One B. Two C. Three D. Four

7. Kailash remembers that his brother Deepak’s birthday falls
after 20th May but before 28th May, while Geeta remembers
that Deepak’s birthday falls before 22nd May but after 12th
May. On what date Deepak’s birthday falls?

A.20th May B.21st May C. 22nd May D. Cannot be determined
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8.Sangeeta remembers that her father's birthday was
certainly after eighth but before thirteenth of December. Her
sister Natasha remembers that their father's birthday was
definitely after ninth but before fourteenth of December. On
which date of December was their father's birthday?

A. 10th B. 11th C. 12th D. Data inadequate

9. If the day before yesterday was Saturday, what day will fall
on the day after tomorrow?

A. Friday B. Thursday C. Wednesday D. Tuesday

10. Mohini went to the movies nine day ago;she goes to the
movies only on Thursday.What day of the week is today?

A. Thursday B. Saturday C. Sunday D. Tuesday

11. If the day of a month is Monday, which of the following
will be the third day from 21st of the month?

A. Monday B. Tuesday C. Wednesday D. Thursday

12. 1.12.91 is the first Sunday. Which is the fourth Tuesday
of December 91 ?

A.17.12.91 B. 24.12.91 C. 26.12.91 D. 31.12.91

13. If Thursday was the day after the day before yesterday five
days ago, what is the least number of days ago when Sunday
was three days before the day after tomorrow?

A. Two B. Three C. Four D. Five

14. If the 25th of August in a year in Thursday, the number
of Mondays in that month is

A. 3 B. 4 C.5 D. 6

15. If 3rd December, 1990 is Sunday, what day is 3rd
January, 19917?

A. Tuesday  B. Wednesday C. Thursday D. Friday
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Solution:

. Answer: B) 8.05 hrs

. Answer:A) 7.05 a.m.

. Answer: C) Wednesday

. Answer: B) 12 noon -- 2.00 P.M.
. Answer: A) None

. Answer: D) Four

. Answer: B) 21st May

. Answer: D) Data inadequate

O 00 N O U d» W N+

. Answer: C) Wednesday

—
o

. Answer: D) Tuesday

—_
—

. Answer: C) Wednesday
. Answer: B) 24.12.91

—_
w N

. Answer: A) Two

. Answer: C) 5

—_
[O2 N

. Answer: B) Wednesday

SEATING ARRANGEMENTS

In reasoning ability, when a piece of information is given
about a group of people and the manner in which they are
seated, such an arrangement is called a seating arrangement.
This may be a straight line, circular, rectangle, or any other
arrangement in which people or things are placed. A major
part of the questions in the reasoning section is picked from
this concept. Thus, students must emphasize on its
preparation and solve more and more questions based on the
same.
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Types of Seating Arrangements

Let’s now have a look at the kinds of seating arrangement
questions:

1. Linear Arrangement: in this kind of puzzle, people sit in
one line. The information which is provided is who is sitting
left/right to whom. It can also be given that who is (or who
isn’t) sitting at the extreme left/ right. This is generally the
easiest kind of seating arrangement puzzle.

2. Double Row Arrangement: In this case, there are two rows
of people who may face each other. Apart from the
information which is given in linear arrangement puzzles, it
can also be added who is (or isn’t) facing whom. Also, some
people may be facing south and some may face north.

3. Circular Arrangement: Here, people sit in a circular
arrangement. Since the arrangement is circular, there is no
extreme left/ right end which can be confusing to some
aspirants. People can face towards the centre or they may
face outside the centre.

4. Squarer/ Rectangular Arrangement: This arrangement is
similar to a circular arrangement; the difference is that
instead of sitting in a circle, people sit in a square/ rectangle.
Here also, People can face towards the centre or they may
face outside the centre.

Example:1

Directions 1-5: Study the following information carefully and
answer the questions given beside.

Nine persons Anu, Bablu, Cheenu, Dona, Esha, Faria,
Gaurav, Harish and Ishita are sitting in a row and all are
facing north. It is known that Cheenu sits exactly in the
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middle and there is no person to the right of Ishita. Dona is
fourth to the right of Faria. Gaurav and Harish are sitting
next to each other. Esha is the neighbor of Dona but not of
Cheenu.

Harish doesn't sit at any extreme corner. Dona is not sitting
adjacent to either Cheenu or Ishita. Anu is second to the right
of Harish.

1. Who is sitting to the immediate left of Cheenu?
A. Faria B. Anu C. Harish

D. Dona E. None of these

2. Who is sitting between Bablu and Esha?

A. Dona B. Faria C. Gaurav

D. Cheenu E. None of these

3. Four of the following five are alike in a certain way and
thus forms a group. Which of the following does not belong to
that group?

A. Gaurav and Harish B. Cheenu and Bablu C. Faria and
Gaurav D. Dona and Esha E. Esha and Ishita

4. Who is sitting third to the right of Harish?

A. Bablu B. Dona C. Faria

D. Cheenu E. None of these

S. Who is sitting at the left most seat of the row?
A. Faria B. Bablu C. Gaurav

D. Dona E. None of these

V.H.N.Senthikumara Nadar College (Autonomous), Virudhunagar 159



Employability Skills Unit - IV

Directions 1-5 Explanation:

It is known that Cheenu sits exactly in the middle and there
is no person to the right of Ishita.

Cheenu Ishita

There is no one sitting to the right of Ishita, means she is
sitting at the right most end of the row.

Dona is not sitting adjacent to either Cheenu or Ishita.

Cheenu __ _ _Ishita

Dona Dona Dona
x X X

Dona is fourth to the right of Faria.

.Faria_ _ Ch_een_u Donq i ;shita

Dona Dona Dona
x X X

As Dona cannot sit adjacent to Cheenu and Ishita, so,
therefore, there is only place left

i.e. third from the right end of the row for Faria.

Gaurav and Harish are sitting next to each other. Harish
doesn't sit at any extreme corner.

Gaurav Harish Faria Cheenu Dona Ishita
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Esha is the neighbor of Dona but not of Cheenu.

Gaurav Hiish Faria C@u Dona Esha Ishita

Anu is second to the right of Harish.

Gaurav Harish Faria  Anu Cheenu Dona Esha [shita

Now, only Bablu is left to be placed at the only left position.

Gaurav Harish Faria  Anu Cheenu Bablu Dona Esha Ishita

1.From the following explanation we get “Anu is sitting to the
immediate left of Cheenu”. Option B, is hence the correct
answer.

2.From the following explanation we get “Dona is sitting
between Bablu and Esha”. Option A, is hence the correct
answer.

3.From the following explanation we get “Faria and Gaurav do
not belong to that group”. Option C, is hence the correct
answer.

4. From the following explanation we get “Cheenu sits third to
the right of Harish”. Option D, is hence the correct answer.

S.From the following explanation we get “Gaurav is seated at
the left most corner of the row”. Option C, is hence the correct
answer.
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Example 2:

Directions 6-10: L, M, N, O, P, Q, R and S are sitting around
a circular table facing the centre but not necessarily in the
same order.

They all are having discussion on an important topic.

N is an immediate neighbor of both L and R, who is an
immediate neighbor of P. P sits second to the left of N. Only
two persons sit between P and S. M is an immediate neighbor
of O. Only one person sits between M and Q.

6.What is the position of O with respect to S in the above
arrangement?

A. Third to the left B. Immediate left C. Second
to the right  D. Immediate right E. None of these

7. Four of the following five are alike in a certain way and
thus form a group. Which is the one that does not belong to
that group?

A. MS B.QL C.NM D. RP E. OM

8. Who among the following sits second to the left of the one
who is on the immediate right of O?

A.Q B.M C.O D.S E.Noneofthese
9. Which of the following persons sits between M and Q?
A.O B.L C.N D.S E.Noneofthese

10. Who among the following sits third to right of the one who
sits opposite of N?

AL B.S C.R D.O E.Noneofthese
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Directions 6-10 Explanation:
N is an immediate neighbor of both L and R, who is an
immediate neighbor of P. P sits second to the left of N.

x/+,

\
|

P—H- —|—
Jr%

Only two persons sit between P and S.

Inference:
S S
P =<
i T
- .
RT 31—
N

Only one person sits between M and Q.

o ,J;H/

/ “N
P —i» 4—:1—Q
/"

\
/'
EET_,,
N

6. O is Second to the right of S. Option C, is hence the correct
answer.
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7. NM does not belong to the group. Option C, is hence the
correct answer. 8.

8. M sits second to the left of the one who is on the immediate
right of O. Option B, is hence the correct answer.

9. In the following explanation it is clear that S sits between
M and Q. Hence, option D is correct.

10. In the following explanation it is clear that R sits third to
right of the one who sits opposite of N? Hence, option C is
correct.

EXERCISE

Directions 1-5: Eight persons — Amar, Ansh, Arun, Amit,
Ashu, Anup, Arif and Anil, are sitting around a circular table
facing the centre but not necessarily in the same order. Arif is
to the immediate left of Ashu. Anup is to the immediate left of
Arun. Amar is the neighbor of Ansh. Amit is between Anup
and Ansh. Arif is not the neighbor of Ansh or Anil.11.

Who among the following is sitting third to right of Amar?
1. A. Arif B. Anup C. Arun
D. Ansh E. None of these

2. How many persons were sitting between Amit and Anil,
hen counted from the left of Anil?

A. None B. One C. Two
D. Three E. More than three
3. What is the position of Arif with respect to Amit?

A. Third to the right B. Second to the left C. Fourth to the
right D. Fourth to the left E. None of these
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4. Which of the following person sits opposite to the one who
sits third to the left of Anil?

A. Anup B. Arif C. Amar
D. Arun E. None of these

S. Which of the following pairs of persons is sitting adjacent
of Arif?

A. Anil, Ashu B. Amit, Arun C. Anup, Ashu
D. Arun, Ashu E. Arun, Anil

Directions 6-10:Some persons are sitting in a row facing
north. Hina sits second to right of Mera. Desh sits fifth to left
of Fany. Pinu is second to right of Rani. Hina and Asha have
three persons between them. Desh and Rani have two
persons between them. No one sits between Asha and Fany.
Number of persons towards right of Asha is one less than the
number of persons sitting between Pinu and Asha. Number of
persons towards left of Rani is equal to the number of
persons sitting between Fany and Hina.

6. How many persons were sitting in the row?

A.17 B.20 C.16 D.19 E.22

7. How many persons were sitting between Pinu and Asha?

A. Three B. Five C. Seven D. Eight E. Six

8. What is the position of Fany with respect to Hina?

A.Third to the left B. Fourth to the left C. Fifth to the left

D. Sixth to the left E. Can’t be determined
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9. What is the total number of persons that were sitting on
the right of Hina and on the left of Rani?

A.5 B. 8 C. 10 D. 11 E. Can’t be determined

10. If Riya is sitting in the middle of the row then how many
persons were sitting between Riya and Rani?

A5 B.7 C. D. 8 E. 4

Solution with Explanation:

Directions 1-SExplanation:

Eight persons — Amar, Ansh, Arun, Amit, Ashu, Anup, Arif
and Anil, are sitting around a circular table facing the centre
but not necessarily in the same order.

Anup is to the immediate left of Arun. Amit is between Anup
and Ansh.

Amar is the neighbor of Ansh.

Amar
Ansh _l_
’\& =
Amit —f-= - |
prud =<
Anup __T_-
Arun

After using the above hints, we can draw a following circular
arrangement:

Arif is to the immediate left of Ashu. Arif is not the neighbor
of Ansh or Anil. Inference:
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After using the above hints, we have:
Amar
Ansh i Anil

Amit —f-» «}— Ashu

I"-._\ o . -I__-"I
~— ___!,f
Anup T Arif
Arun

1. Following the final solution, we can say that Anup is sitting
third to right of Amar. Hence, the correct answer is option B.

2. Following the final solution, we can say that four persons
were sitting between Amit and Anil, when counted from the
left of Anil. Hence, the correct answer is option E.

3. Following the final solution, we can say that Arif is third to
the right of Amit. Hence, the correct answer is option A.

4. In the following common it is clear that Amar sits opposite
to the one who sits third to the left of Anil. Hence, the correct
answer is option C.

S. In the following Common explanation, it is clear that Arun
and Ashu are sitting adjacent of Arif. Hence, the correct
answer is option D.

Directions 6-10Explanation:
Hina sits second to right of Mera.

Hina and Asha have three persons between them.
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Here, we have two possible scenarios in which above hints
can be used accordingly.

[ s e |

Mera Hina Asha
Case 1:

4

Asha Mera Hina
Case 2:

No one sits between Asha and Fany. Desh sits fifth to left of
Fany.

At this point, we cannot fix the position of Desh and Fany
according to the above hints in case 1 so we can say that
Case 1 is an invalid case.

Here, we have two possible scenarios in which above hints
can be used in case 2 accordingly.

Case 2-A:
[ e e e e e e e
Desh Fany Asha Mera Hina
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L e e e e e B e e e

Rani Pinu Desh Asha Fany Mera Hina
Case 2-B:

Desh and Rani have two persons between them. Pinu is
second to right of Rani.

After using the above hints, we have:

If we fix the position of Rani on the right of Desh then we
won't be able to fix the position of Pinu second to the right of
Rani. Then, Case 2-A:

e e ML B i e |

Rani Desh Fany Mera Hina

Finu Asha

Case 2-B:

L B e S S e s e e B

Rani Pinu Desh Asha Fany Mera Hina

Number of persons towards right of Asha is one less than the
number of persons sitting between Pinu and Asha.
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Number of persons towards left of Rani is equal to the
number of persons sitting between Fany and Hina.

At this point we can see that our case 2-B is contradicting
with the above hints so we can say that case 2-B is an invalid
case.

Case 2-A:

e

Rani Desh Fany Mera Hina

Pinu Asha

6.Following the final solution, we can say that 19 persons
were sitting in the row. Hence, the correct answer is option D.

7.Following the final solution, we can say that six persons
were sitting between Pinu and Asha.Hence, the correct
answer is option E.

8.Following the final solution, we can say that Fany was fifth
to the left of Hina. Hence, the correct answer is option C.

9.Following the final solution, we can say that number of
persons that were sitting on the right of Hina and on the left
of Rani were 1 and 4 respectively.Required Sum = 1 + 4 =
SHence, the correct answer is option A.

10.Following the final solution and applying the given
conditions, we have:

+

+

PApaaaaaaaaaatany
Rani Cesh Riya Fany Mera

Pinu Asha
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Here, four persons are sitting between Riya and Rani. Hence,

the correct answer is option E.

ALPHABET TEST

In this type of questions, certain words are given. The
candidate is required to arrange them in the order in which
they shall be arranged in a dictionary and then state the word
which is placed in the desired place. For such questions, the
candidate requires basic knowledge of the Dictionary Usage’.
In a dictionary, the words are put in alphabetical order with
respect to the second alphabet of the words and so on.
EXERCISE

1. Arrange the given words Alphabetical Order and choose the
one that comes first.

A. Wasp B. Waste C. War D. Wrinkle

2.Arrange the given words Alphabetical Order and choose the
one that comes first.

A. Science B. Scrutiny C. Scripture D. Script

3. Arrange the given words Alphabetical Order and choose the
one that comes first.

A. Intense B. Intellect C. Intend D. Integument

4. Arrange the given words Alphabetical Order and choose the
one that comes first.

A. Nature B. Native C. Narrate D. Nascent

5. Arrange the given words Alphabetical Order and choose the
one that comes first.

A. Didactic B. Dictum C. Dictionary D. Diastole
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6. In the following question, arrange the given words in the
sequence in which they occur in the dictionary and then
choose the correct sequence.

Salvage, Salad, Salary, Saroopa, Sand
A.1,2,4,5,3 B.2,1,5,4,3 C.2,14,5,3 D. 2,3,1,5,4
7. How many letters are there in the word 'CREATIVE' which

have as many letters between them in the word as in the
alphabet?

Al B. 2 C.3 D. 4

8. In the word 'PARADISE', how many pairs of letters are
there which have as many letters between them in the word
as in the alphabet?

9. How many pairs of letters in the word 'DABBLE' have as
many letters between them in the word as in the alphabet?
A. Nil B. One C. Two D. Three
10. How many pairs of letters are there in the word
'HORIZON' which have as many letters between them in the
word as in the English alphabet?
A. One B. Two C. Three D. More than three
11.How many pairs of letters are there in the word 'DONATE'
which have as many letters between them as there are in the
alphabet?
A. Nil B. One C. Two D. Three
12. How many pairs of letters in the word 'CHAIRS' have as
many letters between them in the word as in the alphabet?
A. None B. One C. Two D. Three
The following three question is based on the following
alphabet series.

ABCDEFGHIJKLM

NOPQRSTUVWXYZ
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13. In the English alphabet, which letter will be to the
immediate left of M?

A. N B.L C.O D.K

14. Which letter is sixteenth to the right of the letter which is
fourth to the left of I?

A. S B.T C.U D.V

15. If the above alphabets were written in the reverse order,
which will be the fifth letter to the left of the ninth letter from
the right?

AP B.N C.D D.W

16. The letter of the word NUMKIPP are in disorder. If they
are arranged in proper order, the name of a vegetable is
formed. What is the last letter of the word so formed?

A. K B. M C.N D.P

17. If by arranging the letters of the word NABMODINT, the
name of a game is formed, what are the first and the last
letters of the word so formed?

A.B, T B.B, N C.N,D D.A,T

18. If it is possible to make a meaningful word with the
second, the fifth, the tenth and the twelfth letters of the word
'METROPOLITAN', which of the following will be the third
letter of that word?

If no such word can be made give X as the answer and if more
than one such word can be made, give M as the answer.

AN B. Q C.T D. M

19. Two letters in the word 'PRESENCE' have as many letters
between them in the word as in the alphabet and in the same
order. Which one of the two letters comes earlier in the
alphabet?

(Hint: Do not count the pair EC, because as mentioned in the
question, the letters should be in the same order. Which one
of the two letters comes earlier in the alphabet.)
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A.C B.E C.R D.P

20 HDYSMWNBOQPOCRTBLZYVESG
UF

Which three letters have the same distnce as they have in the
alphabetical order although they have changed places ?

A. HMP B. NQZ C. QOE D. YLF
SOLUTION:

. Answer: C) War

. Answer: A) Science

. Answer: D) Integument

. Answer: C) Narrate

. Answer: D) Diastole

.Answer: D) 2,3, 1, 5, 4

. Answer: C) 3

. Answer: Option D - Three

O 0 N O U + W N +

. Answer: Option E - More than three

—
o

. Answer: Option D - More than three

—_
—

. Answer: Option C - Two

—_
N

. Answer: Option C - Two

—
w

. Answer: Option B. L

p—
N

. Answer: Option C. U

—
o)

. Answer: Option B - N

—
o

. Answer: Option C - N
. Answer: Option B - B, N

—
[CIEN|

. Answer: Option D - M

—
O

. Answer: Option D - P
. Answer: Option D — YLF

N
o
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VENN DIAGRAM

Venn diagrams are today’s mostly used method for solving
syllogisms. With some practice they can be drawn fairly
quickly making them a valuable tool in solving syllogisms in
timed aptitude tests. Venn diagrams show all possible and
hypothetically logical relations between a collection of finite
and infinite statements. By means of an overlap between
some certain assumptions conclusions can be made using the
(in)finite statements. Two examples of the use of Venn
diagrams will follow to clarify the above.

Next follows an example.

Syllogism:

1. A car is no boat. / e )

2. Some boats are water bicycles P ]\

A. No boat is a water bicycle ,// w \\x
B. Some water bicycles are no cars \:' G \“: i
C. No boat is a car \ ; /

D. Some cars ware no water bicycles — —

The correct answer of this syllogism is B: some water bicycles
are no cars. A useful tool for solving syllogisms is a Venn
Diagram. The Venn diagram for this example syllogism is
shown above. Venn diagrams enable simple relations between
the different statements to results in a valid conclusion of the
syllogism.

Example
a. All hamburgers are meals
b. Some cows are hamburgers
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Possible answers:

1. All meals are cows

2. At least some meals are cows
3. No cows are meals

4, Some cows are no meal

It is possible to assign a subject, predicate and middle term
for all the statements. However, this would take lot of
unnecessary time. Choosing between four statements when
solving syllogisms can be handled best by making a Venn
diagram straight away. In that way the possible answers from
the statements can be checked on their validity piece by
piece, resulting in the correct statement.

First Statement

First statement 2a will be examined. — —

The method behind drawing this part / ' \

of the Venn diagram is exactly the | wammrgevs( Meals |

same as the one explained in example \ )4 /
Nl S

1, resulting in figure 3.

In this way the first part of the Venn diagram displays that all
hamburgers are meals, since the part with only hamburgers
is shaded to result in the overlap area between the two terms;
hamburgers and meals.

2nd Statement

Next statement 2b is examined. This —
statement needs a different approach
since the statement claims the | Hamburgers
following: some cows are hamburgers.
This means that it is not possible to just —
shade a whole area as was done before.

In order to do that the statement should contain words like
“all” or “none”. In this case the statement contains the word
“some” and in that case a cross is used to represent that part
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of the statement in the Venn Diagram. Therefore a cross is
put in the overlap between cows and hamburgers,
representing the statement that some cows are hamburgers.

Linking Statements

Linking the two statements and the circles
together results in the Venn Diagram of figure
S. With the help of this Venn diagram the 4
statements can be checked for their validity.

Checking Statements:
1. All meals are cows.

However it can be seen that the term meals has an overlap
with both hamburgers as well as cows, meaning that both are
possible en thus resulting in an invalid statement.

2. Some meals are cows.

This is correct, since the Venn diagram clearly shows a link
between hamburgers and meals (a) and Cows and
hamburgers (b). This automatically generates a link between
meals and cows (be aware of the fact that there is no link
between cows and meals). The Venn diagram clearly shows
that this area is not shaded and thus a possible correct
answer.

3. No cows are meals.

It can easily be concluded that this statement is incorrect,
since an overlap is present between these two terms.

4. Some cows are no meals.

Be aware of the rank of the terms. It was already suggested
that some cows are hamburgers, but nothing is stated
between the relation of cows and meals. In statement 2 the
rank was different so conclusions could be made, which in
this situation is not the case.

In this example the correct answer is statement 2. Most
syllogisms can be solved by using the above manner. The
trick by solving syllogisms is often correct reading and
interpreting of the statements and conclusions for obtaining a
valid reasoning.

V.H.N.Senthikumara Nadar College (Autonomous), Virudhunagar 177



Employability Skills Unit - IV

EXERCISE

Directions to Solve

Each of these questions given below contains three elements.

These elements may or may not have some inter linkage.
Each group of elements may fit into one of these diagrams at
(A4), (B), (C), (D) and/or (E). You have to indicate the group of
elements which correctly fits into the diagrams.

1.  Which of the following diagrams indicates the best
relation between Travelers, Train and Bus?
QO
A,©O B. U
0. p.&9
2.  Which of the following diagrams indicates the best
relation between Profit, Dividend and Bonus ?
P 5@
& p. @
3. Which of the following diagrams indicates the best
relation between Women, Mothers and Engineers?
A @D 5 @D
¥ p.©
4. Which of the following diagrams indicates the best
relation between Factory, Product and Machinery?
2 © B.(X
Co
Cc. C D.
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5. Which of the following diagrams indicates the best
relation between Author, Lawyer and Singer?

RO 5.5
9 p.©

6. Which of the following diagrams indicates the best relation
between Hospital, Nurse and Patient?

A.@ B.
C. D.@O

7. Which of the following diagrams indicates the best
relation between Mercury, Zinc and Metal?

A.@ B.
C.OOO D.

8. Which of the following diagrams indicates the best
relation between Teacher, Writer and Musician?

A& 5©
C. D,@O

9. Which of the following diagrams indicates the best
relation between Boys, Girls and Students?

A.@DO B.
@ p.C0D
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10. Which of the following diagrams indicates the best
relation between Tall man, Black haired people and
Indians?

A.@ B.@O
c. D.

Solution with Explanation

1. Answer: Option D

Explanation:

Bus and Train are different from each other but some
travelers travel by bus and some travel by train.

2. Answer: Option B

Explanation:

Bonus and Dividend are different from each other. But both
these are parts of profit.

3. Answer: Option A
Explanation:

All mothers are women and some mothers and some women
may be engineers.

4. Answer: Option D
Explanation:

Product and Machinery are different from each other but both
are found in Factory.

5. Answer: Option B
Explanation:

All the three are different professions.
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6. Answer: Option C
Explanation:

Hospital consists of nurse and patient but nurse and patient
are of two different nature.

7. Answer: Option B
Explanation:

Mercury and Zinc both are different from one another but
belong to metal.

8. Answer: Option A
Explanation:

A teacher may or may not be a writer and musician. Similarly
a musician may or may not be a teacher and writer and so a
writer may or may not be a teacher and musician.

9. Answer: Option D

Explanation:

Boys
Studants
Girls

10. Answer: Option A

Explanation:
Tall men

Black haired peaple

[nchans

DIRECTIONS TO SOLVE

In each of the following questions two statements are given
and these statements are followed by two conclusions
numbered (1) and (2). You have to take the given two
statements to be true even if they seem to be at variance from
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commonly known facts. Read the conclusions and then
decide which of the given conclusions logically follows from
the two given statements, disregarding commonly known
facts.

Give answer:

. (A) If only (1) conclusion follows
. (B) If only (2) conclusion follows
. (C) If either (1) or (2) follows
. (D) If neither (1) nor (2) follows and
EXERCISE
1. Statements: Some actors are singers. All the singers are
dancers.
Conclusions:

1. Some actors are dancers.
2.No singer is actor.

A. Only (1) conclusion follows
B.Only(2)conclusionfollows
C.Either (1) or (2) follows
D.Neither (1) nor (2) follows

2. Statements: All the harmoniums are instruments. All
the instruments are flutes.

Conclusions:
1.All the flutes are instruments.
2.All the harmoniums are flutes.
A.Only (1) conclusion follows
B.Only (2) conclusion follows
C.Either (1) or (2) follows
D.Neither (1) nor (2) follows
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3. Statements: Some mangoes are yellow. Some tixo are
mangoes.

Conclusions:

1.Some mangoes are green.

2. Tixo is a yellow.
A.Only (1) conclusion follows
B.Only (2) conclusion follows
C.Either (1) or (2) follows
D.Neither (1) nor (2) follows

4. Statements: Some ants are parrots. All the parrots are
apples.

Conclusions:

1. All the apples are parrots.

2.Some ants are apples.
A.Only (1) conclusion follows
B.Only (2) conclusion follows
C.Either (1) or (2) follows
D.Neither (1) nor (2) follows

S. Statements: Some papers are pens. All the pencils are
pens.

Conclusions:

1.Some pens are pencils.

2.Some pens are papers.
A.Only (1) conclusion follows
B.Only (2) conclusion follows
C.Either (1) or (2) follows
D.Neither (1) nor (2) follows
E.Both (1) and (2) follow
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6. Statements: All the actors are girls. All the girls are
beautiful.

Conclusions:

1. All the actors are beautiful.

2.Some girls are actors.
A.Only (1) conclusion follows
B.Only (2) conclusion follows
C.Either (1) or (2) follows
D.Neither (1) nor (2) follows
E.Both (1) and (2) follow

7. Statements: All the windows are doors. No door is a
wall.

Conclusions:

1.Some windows are walls.

2.No wall is a door.
A.Only (1) conclusion follows
B.Only (2) conclusion follows
C.Either (1) or (2) follows
D.Neither (1) nor (2) follows
E.Both (1) and (2) follow

8. Statements: All cups are books. All books are shirts.

Conclusions:

1.Some cups are not shirts.

2.Some shirts are cups.
A.Only (1) conclusion follows
B.Only (2) conclusion follows
C.Either (1) or (2) follows
D.Neither (1) nor (2) follows
E.Both (1) and (2) follow
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9. Statements: Some cows are crows. Some Ccrows are
elephants.

Conclusions:

1.Some cows are elephants.

2.All crows are elephants.
A.Only (1) conclusion follows
B.Only (2) conclusion follows
C.Either (1) or (2) follows
D.Neither (1) nor (2) follows
E.Both (1) and (2) follow

10. Statements: All the pencils are pens. All the pens are
inks.

Conclusions:

1.All the pencils are inks.

2.Some inks are pencils.
A.Only (1) conclusion follows
B.Only (2) conclusion follows
C.Either (1) or (2) follows
D.Neither (1) nor (2) follows
E.Both (1) and (2) follow
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Solution with Explanation
1. Answer: Option A

Explanation:

Adors Dancers Singars

@ for} @mnmrs

Cingars Ao

Qnly (1) follows,

2. Answer: Option B

E xplanation:

Flutes

[nsrumants

""—} Harmoniums

3. Answer: Option D

Explanation:
Mangoes Mangoes
Yellow
(or}
Tixo
Yellow
Tixo

None of the two follows,

———————————————————————————————
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4. Answer: Option B
Explanation:
Parrots Parrats

{on) @ tpples
Anples
Ents
At

Only (2 follow,
5. Answer: Option D

Explanation:
Pens
Pens
(ar) Pencils
Papers Pencils Papers

Bath (1) and (2) follow,

6. Answer: Option E
Explanation:
Beautiful

Girls

Actors

Both (1) and (2) follows.,
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7. Answer: Option B

Explanation:
Doaors

@H wiall

Windows

Only (2) follows,

8. Answer: Option B
Explanation:
Shirts

Books

Cups
Cnly (23 fallows,
9. Answer: Option D

Explanation:
Crows Crows

Elepharts
Caws  Hephants

Mana of tha two follows.
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10. Answer: Option D
Explanation:
Inks

Pens

Pencils

Both (1) and (2] follow.

QR@e@
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UNIT - V
|GENERAL KNOWLEDGE]

Abbreviations & Acronyms - Famous Personalities -
Important Days (National & International) - Capital Cities and
Currencies — Current affairs - Sports — RBI & Banking Terms
— Basics of Computers and Internet.

General knowledge is the information that has been
accumulated over the period of time through various media
and sources by an individual. It can't be learned by taking
mere training/coaching systems. But one can expertize this
field by making himself/herself more involvement in gaining
knowledge through reading more books, articles, magazines,
dailies and watching resourceful modern medias. Thus, the
readers are suggested to wuplift their general knowledge
through the methods stated above methods. The following
informations are only limited resources for the benefit of the

readers to start with.

Abbreviations & Acronyms

1. AIDS - Acquired Immune Deficiency Syndrome

2. AIMA - All India Management Association
3. ASLV - Augmented Satellite Launch Vehicle
4. BHEL - Bharat Heavy Electricals Limited

5. CBI - Central Bureau of Investigation

6. CSIR - Council of Scientific and Industrial Research
7. DNA - Deoxyribo Nucleic Acid
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8. ECG - Electro Cardiogram

9. FIFA - Federation of International Football Association
10. HUDCO - Housing and Urban Development Corporation
11. ICMR - Indian Council of Medical Research

12. IMF - International Monetary Fund

13. ISI - Indian Standards Institution

14. ISRO - Indian Space Research Organization

15. ISBN - International Standard Book Number

16. LASER - Light Amplification by Stimulated Emission of
Radiation

17. LPG - Liquefied Petroleum Gas

18. NASA - National Aeronautics and Space Administration
19. SAIL - Steel Authority of India Limited

20. WHO - World Health Organization

21. CPU - Central Processing Unit

22. URL - Uniform Resource Locator

23. LAN - Local Area Network

24. DNS - Domain Name System

25. PDF - Portable Document Format

Famous Personalities:

26. Who is known as the ‘Father of Indian Missile Technology’?
i) Aryabhatta iiij Dr.MayilsamyAnnadurai
ii) Dr.AbdulKalam iv) Dr.Radhakrishnan

V.H.N.Senthikumara Nadar College (Autonomous), Virudhunagar 191



27. Which Marxist Revolutionay is known as the Father
Russia’?
i) Mikhail Gorbachev iii) Lenin
ii) Vladimir Pudin iv) Leo Tolstoy
28. Who is the founder of Bhoodan Movement?
i) Rajagopalachari iii) Gandhiji
ii) GopalakrishnaGokhale iv) VinobaBhave
29. Who was the founder of Nazism?
i) Bismarck iii) Hermann Goering
ii) Adolf Hitler iv) Franz Stang
30. Who is the father of Modern Economics?
i) Karl Marx iiij Benjamin Graham
ii) Adam Smith iv) Milton Friedman
31. Who founded Scout Movement?
i) Robert Baden Powel iiij Ernest Thompson Seton
ii) Frederick Russell iv) William Alexander Smith
Burnham
32. Who is called ‘the Father of White Revolution in India™
i) Deepa Narayan iiij H.M.Dalaya
iij LalBahadurSastri iv) Dr. Varghese Kurian
33. Who founded the Kalakshetra of Adayar in Tamilnadu?
i) Rukmani Devi Arundale iii) Padma Subramaniam
iij M.S.Subbulakshmi iv) Balasaraswathi
34. Who founded the International Red Cross Society?
i) GustaveMoynier iii) Louis Appia
ii) Henry Dunant iv) Theodore Maunoir
35. Who is considered the founder of psycho analysis?
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i) Alfred Adler ifijy Carl Gustav Jung

ii) Sigmund Freud iv) Jacques Lacan
36. Who is considered the father of cybernetics?
i) Jay Forrester iiijy Norbert Wiener
ii) Andre Marie Ampere iv) Gordon Pask
37. Who was the founder of the Indian National Congress?
i) Subash Chandra Bose iii) SubramaniaBharathiar
iij Mahatma Gandhi iv) A.O.Hume
38. Who declared that his ultimate aim was to wipe ‘every tear
from every eye’?
i) Rajendra Prasad iijy Jawaharlal Nehru
ii) Sardar Patel iv) Mahatma Gandhi
39. Who among the following is a social activist campaigning
against child labour?
i) Baba Amte iii) Mira Nair
iij ShabanaAzmi iv) Swami Agnivesh
40 Who is the father of Geometry?

i) Aristotle iiij Pythagoras
iij Euclid iv) Kepler
41. Who was known as Tron Man of India™
i) GovindBallabh Pant iii) Subash Chandra Bose
ii) Jawaharlal Nehru iv) Sardar Patel

42. The Indian to beat the computers in mathematical wizardry is
i) Ramanujam iiij Raja Ramanna
ii) RinaPanigrahi iv) Sakunthala Devi

43. Professor Amarty aSen is famous in which of the fields?
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i) Bio-chemistry iiij Economics
iiy Electronics iv) Geology
44. The name of Pierre Cardin is associated with which of the
following fields?
i) Painting iiijy Pop Music
ii) Films iv) Fashion Designing
45. Name the Chinese Buddhist pilgrim who visited India during
the reign of King Harsha?
i) Taizong iiij Wu Cheng

iij Huen Tsang iv) Fahian

Important Days (National)

46. National Youth Day - January 12
47. Flag Day - December 7

48. Farmers Day - December 23

49. Tourism Day - January 25

50. National Vaccination Day - March 16
S51. National Science Day - February 28
52. Martyr’s Day - January 30

53. National Postal Day - October 10

54. Kargil Victory Day - July 26

55. Minorities Rights Day - December 18

Important Days (International)

56. World Laughter Day - January 10
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S7. World Leprosy Eradication Day - January 30
58. International Women’s Day - March 8

59. World Consumer Rights Day - March 15

60. World Forestry Day - March 21

61. World Day for Water - March 22

62. Anti-tobacco Day - May 31

63. World Population Day - July 11

64. World Ozone Day - November 16

65. Human Rights Day - December 10

Capital City of countries

66. Lebanon - Beirut

67. Bhutan - Thimphu

68. Chola Dynasty - Thanjavur
69. Afghanistan - Kabul

70. Kenya - Nairobi

71. Canada - Ottawa

72. Republic of Singapore - Singapore (which is known as the ‘Pearl of t
73. England — London

74. Japan — Tokyo

75. Czech Republic - Prague

Currency name of countries
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76.

Yuan - China

77. Taka - Bangladesh

78. Euro - France

79. Naira - Venezuela

80. Zaire - Zaire (country shares its name with its currency)

81. Won - North Korea and South Korea

82. Lek - Albania

83. Rupiah - Indonesia

84. Riyal - Saudi Arabia

85. (LKR) Sri Lankan Rupee - Srilanka

Current Affairs

86. Gilles Perrault, who was seen in the news, was
associated with which profession?
i) Scientists iii) Sports Person
ii) Author iv) Politician

87. The World Bank announced a halt on new public
finance projects in which country, after its Anti-
Homosexuality act?
i)Israel iii) Uganda
ii)Iran iv) Afghanistan

88. India had partnered with which country for the MeitY-
National Science Foundation (NSF) research
collaboration?
i) Japan iii) USA
ii) UK iv) South Korea

89. Which International development financial institution
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90.

91.

92.

93.

94.

95.

96.

has planned to issue Indian rupee bond?

i) New Development Bank iii) International Monetary
ii) Asian Development Fund

Bank iv) World Bank

The five — member BRICS has recently invited how
many new members to join the alliance?

i) 6 iii) 8

ii) 5 iv) 10

Which country developed the JF-22 Wind Tunnel for
hypersonic testing?

i) Russia iii) Israel

ii) China iv) UAE

Which Country has appointed Philip Green as its new
envoy to India?

i) France iii) Australia

ii) UK iv) USA

India recently signed an agreement to establish
strategic partnership with which country?

i) Egypt iii) Afghanistan

ii) Myanmar iv) Srilanka

Which state is the host of the ‘Women 20 Summit’ in
India?

i) Kerala iii) Karnataka

ii) Tamil Nadu iv) Odisha

Which city is the host of International Conference on
Green Hydrogen™?

i) Mysore iii) New Delhi

ii) Bangalore iv) Pune

‘Regional Symposium on Child Protection, Safety and
Child Welfare’ was held in which city?

i) Mumbai iii) Varanasi

ii) New Delhi iv) Hyderabad
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Which Indian state hosted the ‘International
Symposium on Sustainable Livestock Transformation’

i) Bihar iii) Karnataka
ii) Tamil Nadu iv) Gujarat
98. Which state government recently launched ‘Mannuyir
Kaathu Mannuyir Kaappom” scheme to improve soil
Health.
i) Andra Pradesh iii) New Delhi
ii) Tamil Nadu iv) Gujarat
99  Who among the following has had their tenure extended
as Principal Secretary to the PM for a second term?
i) AmitKhare iii) P.K.Mishra
ii) TarunKapoor iv) AjitDoval
100 Which of the following country is not a member of
SAARC?
i) Nepal iii) China
ii) Maldives iv) Afghanistan
Sports
101. How many medals were won by India in the ‘Special
Olympics World Games 2023?
iy 101 iii) 303
i) 202 iv) 404
102. Which country is the host of the special Olympics
World Games 20237
i) India iii) Germany
i) Japan iv) USA
103. Which of the following sports events were held for the
first time in Olympics in Tokyo 20207?
i) Rugby iii) Karate
ii) Golf iv) Yoga
104. What is the official slogan of the 2024 Paris Olympics?
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105.

106.

107.

108.

109.

110.

i) Inclusive and iii) Global Partnership
Impressive iv) Brotherly and
ii) Games Wide Open Beautiful
What do the five rings on the Olympic symbol
represent.
i) The five Oceans iii) The five Countries

ii) The five Continents iv) The five rivers
Who emerged victorious in the men’s singles final at
the French Open 20247

i) Carlos Alcaraz iiij Marcelo Arevalo

ii) Alexander Zverev iv) Mate Pavic
Who won the gold medal in javelin throw at the Taiwan
Athletics Open 20247

i)  Arjun Singh iiij Sneha Patel

ii) NithyaRamraj iv) DP Menu
In which event did Nayana James win the gold medal
at the Taiwan Athletics Open 20247

i) Sprint ifiy High Jump

if) Shot put iv) Long Jump
Which country own the title of World Squash
Championship’ in 2023?.

i) India iiij China

ii) Egypt iv) Japan
Bhavani Devi, who was seen in the news, is associated
with which sports?

i) Tennis iii) Shooting

iij Fencing iv) Archery
In context of the Indian awards and honors in sports,
which among the following is given as Life Time
achievement award?

i) Dronacharya iii) Dhyan Chand
Award Award
ii) Rajiv Gandhi iv) Arjuna Award

KhelRatna Award
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112 What is the other name of Salt Lake Stadium.

i) YuvaBhartiStadium  iii) Eden Gardens
ii) Bharat Bhati iv) Kolkata stadium
Stadium

113 Which among the following tournament is also known
as World Team Championships for Women?

i) Thomas Cup iii) Helvetia Cup
ii) Uber Cup iv) Spanish Open
Badminton

114 Who was the first marketing director of the
International Olympic Committee?
i) Juan Antonio iii) Michael Payne
ii) Avery Brundage iv) Richard Pound
115 The “Common wealth Games” are normally held every
how many years?
i) Two ii) Four
ii) Six iv) Three

RBI and Banking Terms

116. Who chairs the Monetary policy committee in India?

i) Deputy iiiy  Auditor General of
Governor,RBI India
i) Governor,RBI iv) Finance Minister
117. In which year was the RBI nationalized?
i) 1971 iii) 1949
if) 1956 iv) 1960
118. In which year was the RBI established?
i) 1935 iii) 1950
ii) 1947 iv) 1966
119. Who is the current Governor of the RBI?
i) RaghuramRajan iiij Manmohan Singh
if) Shakitanta Das iv) Urjit Patel
120. Which city is the headquarters of the RBI?
i) Chennai iii) Mumbai
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121.

122.

123.

124.

125.

126

127

128

ii) Delhi iv) Kolkata
What is the name of the digital currency launched by
the RBI?
i) Digicash iii) Paytm
ii) e-Rupee iv) PhonePe
Which is called the rediscount rate?
i) Cash Reserve Ratio iii) Statutory Liquidity
ii) Bank Rate Ratio
iv) Repo rate
What Cash that bank deposit with the RBI without any
floor rate or ceiling rate?
i)  Cash Reserve Ratio iii) Statutory Liquidity
ii) Bank Rate Ratio
iv) Repo rate
Which rate RBI lends short-term money to the bank
against securities.
i)  Cash Reserve Ratio iii) Statutory Liquidity
ii) Bank Rate Ratio
iv) Repo rate
Who is the only Prime Minister to have served as the
Governor of RBI?

i) P.V.NarsimhaRao iiij LalBahadurShastri
ii) Manmohan Singh iv) Indira Gandhi
Who is the “lender of the last resort “ in India?
i) SBI iii) NABARD
ii) RBI iv) SEBI

What is the minimum transaction value under Real
Time Gross Settlements (RTGS) ?

i) 1 lakh iii) 3 lakh

ii) 2 lakh iv) No Minimum

The chairman of the Securities And Exchange Board of
India(SEB]I) is appointed by

i) Governor of India iii) President of India
ii) RBI iv) Prime Minister
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129

130

What is the minimum transaction value under National
Electronic Funds Transfer (NEFT) ?

i) 1 lakh iii) 3 lakh

ii) 2 lakh iv) No Minimum
When one bank borrow money from another bank (for
one day only) then it is called

i) Easy Money iii) Call Money

ii) Helicopter Money iv) Recall Money

Basics of Computers and Internet

131.

132.

133.

134.

135.

136.

137.

What is the smallest unit of data in a computer?

i) Gigabyte iii) Bit

ii) Byte iv) Terabyte
In digital computers, which of the following pairs of digits
is referred to as binary code?

ij)0and 1 iii) -1 and 2

ii) 1 and 2 iv) -1 and -2
Which of the following is not an input device?

i) Keyboard iii) Printer

ii) Mouse iv) Scanner
Which programming language is used for -creating
websites and web applications?

iy HTML iii)y C#

iy JAVA iv) Python
What is the primary function of the CPU?

i) Processing Data iii) Displaying Graphics
ii) Storing Data iv) Sending data over the
internet.
v)

Which of the following is a type of volatile memory?

ij RAM iiiy HDD

ii) ROM iv) SDD
Which of the following file extensions is associated with a
Word document?
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138.

139.

140.

141

142

143

144

145

i) txt iii) .exe
ii) .doc iv) .pdf

Which of the following is not a Web browser?
i) Google ii) Microsoft word

Chrome iv) Safari
ii) Mozila Firefox
Third Generation computer used
i)  Vacuum tubes iii) Integrated Circuit
iij  Transistor iv) SLSI Techniques

Which of the following is a programming language used
for building Android apps?

i. JAVA iii. HTML
ii. PHP iv. Python
Which of the following is not a search engine?
i) Bing iii) Yahoo
ii) Ask iv) Safari
E-mail stands for
i) Electronic iii) Electromagnetic
Mail Mail
ii) Engine Mail iv) E-commerce Mail
The main webpage of a website is also known as?
i) Home page ii) Contents page
ii) First page iv) Icebreaker page
Who is created the First Web browser?
i) Tim Berners Lee iii) Jacobs
ii) Mozila iv) Alan Turing
Foundation

Which of the following is an intersection of a row and
column in a spreadsheet?

i) Worksheet iii) Rows

ii) Column iv) Cells
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Answers

26 i) 86 i) 106 i) 126 ii)
27 ii) 87 iii) 107 iv) 127 ii)
28 iv) 88 iii) 108 iv) 128 i)
29 i) 89 i) 109 ii) 129 iv)
30 ii) 90 i) 110 ii) 130 ii)
31 i) 91 i) 111 i) 131 iii)
32 iv) 92 iii) 112 ii) 132 i)
33 i) 93 i) 113 iii) 133 ii)
34 i) 94 ii) 114 iii) 134 i)
35 ii) 95 iii) 115 iii) 135 i)
36 iii) 9% ii) 116 ii) 136 i)
37 iv) 97 iv) 117 iii) 137 i)
38 iii) 98 ii) 118 iii) 138 iii)
39 i) 99 iii) 119 ii) 139 i)
40 ii) 100 iv) 120 iii) 140 i)
41 iv) 101 ii) 121 ii) 141 Iv)
42 iv) 102 iii) 122 ii) 142 i)
43 iii) 103 iii) 123 i) 143 i)
44 iv) 104 i) 124 iv) 144 i)
45 ii) 105 i) 125 ii) 145 i)
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